The CONTENTS Procedure

```
# Variable Type Len Format
                                  Label
 1 NSAPSNID Num
                                  Household Identifier
                    3 SEX.
                                  Derived - Sex of selected child
 2 SEX
             Num
 3 ADOPT_
                    3 ADOPT_TYPE. TYPE OF ADOPTION (NSAP updated variable)
             Num
  TYPE
 4 POVLEVELS Num
                    8 POVLEVEL.
                                  Derived - Poverty Level of household (5 categories)
 5 ANYSIBS
            Num
                    8 ANYSIBS.
                                  Derived - Any other children living in household
 6 HISPRACE
                    8 HISPRACE.
                                  Derived - Race and Hispanic ethnicity
            Num
 7 AGEYRNSAP Num
                    3 AGEYRNSAP.
                                  SELECTED CHILD'S AGE IN YEARS FROM NSAP
 8 S1PREB
             Num
                    3 SIPRER.
                                  What is your relationship to [S.C.]?
                    8 S1 NR.
9 S1 NR
                                  From what country was (S.C.) adopted?
             Num
10 S1B
             Num
                    3 S1B.
                                  In what country was [S.C.]'s adoption completed? Was it in the U.S., the child's country of origin, or both?
11 S3_A
             Num
                    3 K2Q19_.
                                  When we spoke to you for the previous survey, you and [S.C.]'s other
                                  adoptive parent lived in the same house. Is this still correct?
12 S3 N
                    3 S3 N.
                                  What is your relationship to [S.C.]'s other adoptive parent who lives in this household?
             Num
13 S4 N
                    3 K2Q19 .
                                  Were you married to [S.C.]'s other adoptive parent at the time of [S.C.]'s adoption?
             Num
                    3 K2Q19_.
14 S4A
             Num
                                  Are you still married to this person?
15 S6
             Num
                    3 K2Q19_.
                                  Before you [and your spouse/partner] adopted [S.C.], were you [or your spouse/partner] already related to [him/her]?
16 S7
             Num
                    3 K2Q19_.
                                  Did you [or your spouse/partner] know [S.C.] before [you considered
                                  adopting [him/her] / being matched with [him/her] for adoption]?
                    3 K2Q19 .
17 S8
             Num
                                  Were you [or your spouse/partner] [S.C.]'s foster parent at the time you began the adoption process?
18 S8A
                    3 K2Q19 .
                                  Are you currently a licensed foster parent?
             Num
                    3 K2Q19_.
19 S8R
             Num
                                  In the past three months have you cared for foster children in your home?
20 S9
                    3 K2Q19_.
                                  At any time before the adoption was finalized, were you [or your spouse/partner] [S.C.]'s foster parent?
             Num
21 S10
                                  Did you [or your spouse/partner] become a foster parent with the intent to adopt a child from the foster care system?
             Num
                    3 K2Q19 .
22 S11
             Num
                    8 S11_MNTH.
                                  Months between placement and adoption became case goal
  MONTHS
                    3 K2Q19_.
23 S12
                                  Did you [or your spouse/partner] feel pressured by the child welfare agency to adopt [S.C.]?
             Num
24 S13
             Num
                    3 K2Q19_.
                                  Were other options such as [continuing as / becoming] [his/her] foster
                                  parent or becoming [his/her] legal guardian discussed with you?
25 S14A
             Num
                    3 K2Q19 .
                                  Was the public child welfare agency, that is, the state or county
                                  department of social services involved in the adoption of [S.C.]?
26 S14B
                    3 K2Q19 .
                                  Was a private agency under contract with public child welfare agency involved in the adoption of [S.C.]?
             Num
27 S15
             Num
                    3 K2Q19_.
                                  Was [S.C.]'s adoption an interstate adoption?
28 C41
                    3 C41_.
                                  Overall, was your [and your spouse's/partner's] experience with your adoption
             Num
                                  agency or attorney very positive, positive, mixed, negative, or very negative?
29 C1AR
                    8 C1AR.
                                  Child age when adoption finalized
             Num
30 C1BR
             Num
                    8 C1BR.
                                  Child age when placed in home
31 C1C
                    3 K2Q19 .
                                  Has [S.C.] ever lived with [his/her] birth family?
             Num
32 C2_NR
             Num
                    8 C2 NR.
                                  Just before being placed with you, where did [S.C.] live?
33 C4_N
                    3 K2Q19_.
                                  To your knowledge, does [S.C.] have birth siblings, that is, brothers or sisters of [S.C.], including half siblings?
             Num
34 C5_N
             Num
                    3 K2Q19_.
                                  Have any of [S.C.]'s birth siblings including half siblings ever been available for adoption?
35 C6_N
                    3 K2Q19_.
                                  Were you [or your spouse/partner] interested in adopting any of [S.C.]'s birth siblings?
             Num
36 C7 N
                                  Have you adopted any of [S.C.]'s birth siblings?
             Num
                    3 C7 N.
                    3 K2Q19_.
37 C8 N
             Num
                                  Do you [or your spouse/partner] have biological children?
                    3 K2Q19_.
38 C8B
                                  [Was this child / Were any of these children] born before [S.C.]'s adoption?
             Num
39 C9 N
             Num
                    3 K2Q19 .
                                  Do you [or your spouse/partner] have adopted children other than [S.C.] [and [S.C.]'s birth siblings]?
40 C9B
                    3 K2Q19_.
                                  [Was this child / Were any of these children] adopted before [S.C.]?
             Num
41 C9D
                                  [Was this child / Were any of these children] adopted at the same time as [S.C.]?
                    3 K2Q19 .
             Num
                    3 K2Q19_.
                                  Did you [or your spouse/partner] adopt the other child or children through the United States foster care system?
42 C10 NX01
            Num
                    3 K2Q19_.
43 C10 NX02 Num
                                  Did you [or your spouse/partner] adopt the other child or children through a private adoption in the United States?
                                  Did you [or your spouse/partner] adopt the other child or children through an international adoption?
44 C10_NX03 Num
                    3 K2Q19 .
                    3 K2Q19_.
45 C11 N
             Num
                                  Were the other children adopted from the same country as [S.C.]?
46 C12AR
                    8 K2Q19_.
                                  [My spouse/partner and I were / I was] unable to have a biological child
             Num
                    8 K2Q19_.
                                  [My spouse/partner and I / I] wanted to expand [our/my] family
47 C12BR
             Num
48 C12CR
             Num
                    8 K2Q19 .
                                  [My spouse/partner and I / I] wanted a sibling for another child
49 C12ER
                    8 K2Q19_.
                                  [We/I] already adopted [S.C.]'s sibling
             Num
50 C12FR
             Num
                    8 K2Q19 .
                                  [My spouse/partner and I / I] wanted to adopt a child in need of a permanent family
51 C12G
             Num
                    3 K2Q19_.
                                  Was there another reason that I did not mention?
52 C12GA 1
                    8 YES.
                                  Other reason: had already formed a bond/loved the child
             Num
53 C12GA 2
                    8 YES.
             Num
                                  Other reason: related to child prior to adoption
54 C12GA_3
             Num
                    8 YES.
                                  Other reason: respondent loves children
55 C12GA_4
             Num
                    8 YES.
                                  Other reason: to help child avoid foster care
56 C13 N
             Num
                    3 K2Q19 .
                                  Do any of your [or your spouse's/partner's] relatives have adopted children?
57 C13A
                    3 K2Q19_.
                                  Did any of your [or your spouse's/partner's] relatives adopt in the same manner as you did?
             Num
58 C14
                    3 K2Q19 .
                                  Do any of your [or your spouse's/partner's] friends or close acquaintances have adopted children?
             Num
59 C14A
             Num
                    3 K2Q19_.
                                  Did any of your [or your spouse's/partner's] friends or acquaintances adopt in the same manner as you did?
60 C15_N
                    3 K2Q19_.
                                  Were you adopted as a child?
             Num
                    8 C15AMNTH.
61 C15A
             Num
                                  Respondent age at adoption in months
  MONTHS
62 C15B
                    3 K2Q19 .
                                  Was your [spouse/partner] adopted as a child?
             Num
```

The CONTENTS Procedure

Variables in Creation Order

Variable Type Len Format Label 63 C15C 8 C15CMNTH. Respondent spouse/partner age at adoption in months MONTHS 64 C16 N Num 3 K2Q19 . Do you [or your spouse/partner] have siblings who were adopted? 65 TRANSRACE Num 8 TRANSRACE. Derived - Child race/ethnicity differs from parent(s) 66 C18A Since the time of the adoption, has your family lived in or moved to a racially or culturally diverse neighborhood? Num 3 K2Q19 . 67 C18B 3 K2Q19_. Since the time of the adoption, has your family lived or moved where Num [S.C.] can attend schools that are racially or culturally diverse? 68 C18C Num 3 K2Q19_. Since the time of the adoption, has your family been involved in religious, social, tribal or recreational groups or activities that reflect [his/her] race or ethnicity or culture? 69 C18D 3 K2Q19 . Since the time of the adoption, has your family chosen multiracial or multicultural entertainment Num such as movies or plays that reflect [his/her] race or ethnicity or culture? 70 C18E Num 3 K2Q19_. Since the time of the adoption, has your family chosen child care providers, teachers or other role models similar to [his/her] race or ethnicity? 71 C18F 3 K2Q19 . Since the time of the adoption, has your family participated in racial/ethnic Num holidays that reflect [his/her] race or ethnicity or culture? 72 C18G Num 3 K2Q19 . Since the time of the adoption, has your family had friends who share [his/her] racial or ethnic or cultural background? Since the time of the adoption, has your family prepared foods associated 73 C18H Num 3 K2Q19_. with [his/her] racial or ethnic or cultural background? 74 C18T 3 K2Q19 . Since the time of the adoption, has your family read books to your child Num about [his/her] racial or ethnic or cultural group or heritage? 3 K2Q19_. 75 C19 N Num Would you [or your spouse/partner] encourage others to adopt transracially or transculturally? 76 C21A 3 K2Q19_. At the time you began thinking about adopting a child which of the following Num types of adoption did you consider - Adoption from U.S. foster care. 77 C21B Num 3 K2Q19_. At the time you began thinking about adopting a child which of the following types of adoption did you consider - International adoption. 3 K2Q19_. 78 C21C Num At the time you began thinking about adopting a child which of the following types of adoption did you consider - Private U.S. adoption. 79 C22AR Num 8 K2Q19 . Domestic Adoption - Thought [I/we] would get a child sooner 80 C22AAR Num 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 81 C22B 3 K2Q19 . Domestic Adoption - Didn't think [I/we] would qualify to adopt a child internationally. Num 82 C22BA Was this a very important reason, somewhat important reason, or not an important reason? Num 3 C22AA. 83 C22C Num 3 K2Q19 . Domestic Adoption - Adoption workers or lawyer discouraged [me/us] from trying to adopt a child from the foster care system. 84 C22CA 3 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 85 C22D 3 K2Q19_. Domestic Adoption - Wanted an infant. Num 86 C22DA Num 3 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 8 K2Q19_. 87 C22ER Num Domestic Adoption - Wanted a healthy child 88 C22EAR Num 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 89 C22F 3 K2Q19_. Domestic Adoption - Wanted a child the same race/ethnicity as our family. Num 90 C22FA 3 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? Num 91 C22G 3 K2Q19 . Domestic Adoption - Wanted a closed adoption, that is, no information exchange or contact with child's birth family. Num 92 C22GA 3 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? Num 93 C22HR Num 8 K2Q19_. Domestic Adoption - Previously adopted another child through a private, domestic adoption 94 C22HAR 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? Num 95 C22I Num 3 K2Q19 . Domestic Adoption - Did you have another reason for choosing a private, domestic adoption that I did not mention? 96 C22IA_1 8 YES. Other reason: to avoid travel/help an American child Num 97 C22IA 2 8 YES. Other reason: less cost/lower risk Num 98 C22IA 3 Num 8 YFS. Other reason: wanted open adoption/had prior relationship with child 99 C22IA 4 Num 8 YES. Other reason: preferred that agency 100 C22IAA Num 3 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 8 K2Q19_. 101 C23A NR Num International Adoption - Interest in a particular culture 102 C23AAR 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? Num 103 C23B Num 3 K2Q19 . International Adoption - Adoption workers or lawyer encouraged [me/us] to adopt internationally. 104 C23BA Num 3 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 105 C23C 3 K2Q19_. International Adoption - Adoption workers or lawyer discouraged [me/us] from trying to adopt a child from the U.S. Num 106 C23CA Num 3 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 107 C23DR 8 K2Q19_. International Adoption - Wanted an infant Num 108 C23DAR 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? Num 109 C23FR 8 K2Q19 . Num International Adoption - Wanted a closed adoption, that is, no information exchange or contact with child's birth family 110 C23EAR 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? Num 111 C23FR Num 8 K2Q19 . International Adoption - Thought it would be too difficult to adopt a child from the U.S. 112 C23FAR 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? Num 113 C23GR 8 K2Q19 . International Adoption - Didn't think [I/we] would qualify to adopt a child from the U.S Num 114 C23GAR Num 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 115 C23HR 8 K2Q19_. International Adoption - Thought [I/we] would get a child sooner. Num 116 C23HAR Num 8 C22AA. Was this a very important reason, somewhat important reason, or not an important reason? 3 K2Q19_. 117 C23I International Adoption - Not interested in the children available for adoption in the U.S. Num 118 C23IA 3 C22AA. Num Was this a very important reason, somewhat important reason, or not an important reason?

Why did you think that children available for adoption in the U.S. would not be the best option for you?

119 C23IAAR

Num

8 C23IAAR.

2007 NSAP-SN Public Use File Variables

The CONTENTS Procedure

# Variable	Type Len Fo	ormat	Label
120 C23K	Num 3 K2	2019	International Adoption - Previously adopted another child internationally.
121 C23KA	Num 3 C2	22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
122 C23L	Num 3 K2	2019	International Adoption - Did you have another reason for choosing an international adoption that I did not mention?
123 C23LA_1	Num 8 YE	ES.	Other reason: wanted a Chinese girl
124 C23LA 2	Num 8 YE	ES.	Other reason: wanted to bring a child to the U.S.
125 C23LA 3	Num 8 YE	ES.	Other reason: saw a great need in that country
126 C23LA_4	Num 8 YE	ES.	Other reason: would not qualify in the U.S. due to being a single parent
127 C23LA_5	Num 8 YE	ES.	Other reason: had friends who adopted that way
128 C23LA_6	Num 8 YE	ES.	Other reason: child is same race/ethnicity or national origin as parent(s)
129 C23LB	Num 3 C2	22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
130 C24A	Num 3 K2	2019 .	Foster Care Adoption - Thought [I/we] would get a child sooner.
131 C24AA		 22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
132 C24B		2019	Foster Care Adoption - Adopting from U.S. foster care was less costly than adopting internationally or privately.
133 C24BA		 22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
134 C24C	Num 3 K2	2019	Foster Care Adoption - Wanted an older child.
135 C24CA		 22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
136 C24D	Num 3 K2	2019 .	Foster Care Adoption - Wanted a child with special needs.
137 C24DA	Num 3 C2	22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
138 C24E	Num 3 K2	2019	Foster Care Adoption - Previously adopted another child through the foster care system.
139 C24EA		22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
140 C24F	Num 3 K2	2019	Foster Care Adoption - Did you have another reason for choosing
		_	to adopt a child from foster care that I did not mention?
141 C24FA_1	Num 8 YE	ES.	Other reason: wanted to help/provide a home for a child in need
142 C24FAA	Num 3 C2	22AA.	Was this a very important reason, somewhat important reason, or not an important reason?
143 C25	Num 3 K2	2019	At the time of the adoption, did the adoption agency or attorney offer any options for an open adoption?
144 C25A		 2Q19	Were you [or your spouse/partner] required to provide post-adoption reports to the child's country of origin?
145 C25AAR		25AAR.	Number of post-adoption reports filed
146 C25AB		2019	Will you [or your spouse/partner] be providing post-adoption reports in the future?
147 C26		 2Q19	Was there any kind of pre-adoption agreement in which you agreed to provide information
		_	about [S.C.] to one or both of [his/her] birth parents or other birth family members?
148 C26A	Num 3 C2	26A.	Was this agreement written or verbal?
149 C27		2019 .	Was information ever provided to them?
150 C28	Num 3 K2		Since the time of [S.C.]'s adoption, have you, [your spouse/partner,]
		_	or [S.C.] ever had contact with [his/her] birth family members?
151 C28A	Num 3 C2	28A.	Since the time of [S.C.]'s adoption how often has [S.C.] had contact with [his/her] birth parents?
152 C28B	Num 3 C2	28B.	How comfortable are you [and your spouse/partner] with [S.C.] having contact with [his/her] birth parents?
153 C29	Num 3 C2	28A.	Since the time of [S.C.]'s adoption, how often has [S.C.] had contact
			with birth brothers or sisters who do not live in your household?
154 C29A	Num 3 C2	28B.	How comfortable are you [and your spouse/partner] with [S.C.] having contact
			with [his/her] birth brothers or sisters who do not live in your household?
155 C30	Num 3 C2	28A.	Since the time of [S.C.]'s adoption, how often has [S.C.] had contact with other
			birth relatives such as birth grandparents, birth aunts and uncles, etc.?
156 C30A	Num 3 C2	28B.	How comfortable are you [and your spouse/partner] with [S.C.] having contact with [his/her] other birth relatives?
157 C31	Num 3 K2	2019	Since [S.C.]'s adoption was finalized, have you [or your spouse/partner] ever had
			planned contact with [S.C.]'s birth parents or other extended birth family?
158 C32	Num 3 K2	2019	Was this contact with birth parents?
159 C33		2019	Was this contact with brothers/sisters living elsewhere?
160 C34	Num 3 K2	2019	Was this contact with other blood relatives (grandparents, aunts/uncles)?
161 C35		2019	Do you [or your spouse/partner] currently stay in contact with [S.C.]'s birth parents or other extended birth family?
162 C36A		2019	Prior to [S.C.]'s adoption, did you [or your spouse/partner] receive or review the child's case record?
163 C36B		2019	Prior to [S.C.]'s adoption, did you [or your spouse/partner] discuss the child's past with an adoption caseworker?
164 C36C		2019	Prior to [S.C.]'s adoption, did you [or your spouse/partner] discuss the child's past with an adoption attorney?
165 C36D		2019	Prior to [S.C.]'s adoption, did you [or your spouse/partner] receive or review a written psychological report?
166 C36DA	Num 3 K2	2019	Did you [or your spouse/partner] consult with a professional of your
			choosing regarding the contents of the psychological report?
167 C36E	Num 3 K2	2019	Prior to [S.C.]'s adoption, did you [or your spouse/partner]
			receive or review information about [S.C.]'s medical history?
168 C36EA		2019	Did you [or your spouse/partner] consult with a professional of your choosing regarding [S.C.]'s medical history?
169 C36F	Num 3 K2	2019	Prior to [S.C.]'s adoption, did you [or your spouse/partner] receive
			or review records of [S.C.]'s school or educational history?
170 C36FA	Num 3 K2	2019	Did you [or your spouse/partner] consult with a professional of
			your choosing regarding [S.C.]'s school or educational records?
171 C38	Num 3 K2	2019	Do you believe that the agency knew important information about [S.C.] that they did
			not share with you [or your spouse/partner] before [S.C.]'s adoption was finalized?
172 C3A	Num 3 C3		Before [S.C.] first came to your home, how likely was it that [he/she] was physically abused?
173 C3B	Num 3 C3		Before [S.C.] first came to your home, how likely was it that [he/she] was sexually abused?
174 C3C	Num 3 C3		Before [S.C.] first came to your home, how likely was it that [he/she] was neglected?
175 C3D	Num 3 C3		Before [S.C.] first came to your home, how likely was it that [he/she] was exposed to drugs or alcohol before birth?
176 C3E	Num 3 C3		Before [S.C.] first came to your home, how likely was it that [he/she] was emotionally abused?
177 C44		2019	Has a doctor or other health care provider ever told you that [S.C.] had Post-Traumatic Stress Disorder (PTSD)?
178 C45	Num 3 K2	2019	Has a doctor or other health care provider ever told you that [S.C.] had Attachment Disorder?

The CONTENTS Procedure

# Variable	Type I	Len Format	Label
179 C46	Num	3 K2Q19	Has a doctor or other health care provider ever told you that [S.C.] had Oppositional Defiant Disorder (ODD)?
180 C47	Num	3 K2Q19	Has a doctor or other health care provider ever told you that [S.C.] had Conduct Disorder?
181 C42	Num	3 K2Q19	Since the time the adoption was finalized, has [S.C.] received
100 010	N	0 1/0040	any treatment or counseling from a mental health professional?
182 C43	Num	3 K2Q19	Since the time the adoption was finalized, has [S.C.] been placed in a psychiatric hospital, group home, or residential treatment center?
183 C49	Num	3 K2Q19 .	Has [S.C.] ever had any alcohol or drug problems?
184 C50	Num	3 K2Q19	Has [S.C.] ever been arrested or in trouble with the police?
185 C51	Num	3 K2Q19	Has [S.C.] ever [been pregnant / gotten someone pregnant]?
186 C53R	Num	8 C53R.	What was the first language [S.C.] learned to speak?
187 C55	Num	3 K2Q19	Does [S.C.] have any developmental problems for which [he/she] has a written intervention plan called
			an [Individualized Family Services Plan or an IFSP / Individualized Education Program or IEP]?
188 C56	Num	3 C56	How would you describe [S.C.]'s school performance in reading and language arts?
189 C56A 190 K7Q05	Num Num	3 C56A. 3 K2Q19	How would you describe [S.C.]'s school performance in math? Since starting kindergarten, has [he/she] repeated any grades?
191 C57	Num	3 C57	[During the past 12 months / Since [S.C.]'s adoption was finalized], how many times has
		o oo	[S.C.] skipped school, cut classes without your permission, or refused to go to school?
192 C58	Num	3 K2Q19	Including both in-school and out-of-school suspensions, [during the past 12 months / since
			[S.C.]'s adoption was finalized], has [S.C.] been suspended or expelled from school?
193 K7Q70	Num	3 K8Q24	Please tell me if this statement was true for [S.C.] during the past month. [He/She] argues too much.
194 K7Q73	Num	3 K8Q24	Please tell me if this statement was true for [S.C.] during the
195 K7Q74	Num	3 K8Q24 .	past month. [He/She] gets along well with other children. Please tell me if this statement was true for [S.C.] during the past month. [He/She] is disobedient.
196 K7Q75	Num	3 K8Q24	Please tell me if this statement was true for [S.C.] during the past month. [He/She] is stubborn, sullen, or irritable.
197 K7Q76	Num	3 K8Q24	Please tell me if this statement was true for [S.C.] during the past
		_	month. [He/She] tries to understand other people's feelings.
198 K7Q77	Num	3 K8Q24	Please tell me if this statement was true for [S.C.] during the past month.
			[He/She] tries to resolve conflicts with classmates, family, or friends.
199 K7Q79	Num	3 K8Q24	Please tell me if this statement was true for [S.C.] during the past month. [He/She] is unhappy, sad, or depressed.
200 W1	Num	3 W1	How would you describe your relationship to [S.C.]?
201 W1A 202 W2	Num Num	3 W1 3 W9	How would you describe your [spouse's/partner's] relationship to [S.C.]? How often is [S.C.] affectionate or tender with you?
203 W3	Num	3 W3	How satisfied are you with how affectionate or tender [S.C.] is with you?
204 W4	Num	3 W9	Do you feel that [S.C.] and you make decisions about [his/her] life together?
205 W5	Num	3 W9	During the past month, how often have you felt that you just did not understand [him/her]?
206 W6	Num	3 W9	During the past month, how often have you felt that you can really trust [him/her]?
207 K8Q34	Num	3 K8Q24	During the past month, how often have you felt angry with [him/her]?
208 K8Q30	Num	3 K8Q30	In general, how well do you feel you are coping with the day to day demands of [parenthood / raising children]?
209 W7 210 W8	Num Num	3 W7 3 W7	Thinking about [S.C.]'s relationship with you, would you say things are—?? Thinking about [S.C.]'s relationship with your [spouse/partner], would you say things are—?
211 W9	Num	3 W9	In general, how often does [S.C.] experience difficulty in getting along with other children in the household?
212 W12	Num	3 W12	Overall, how has having [S.C.] in your life affected your family?
213 W13	Num	3 W7	So far, how has having [S.C.] in your life compared with what you thought it would be like?
214 W14	Num	3 W14	Overall, how do you think [S.C.] feels about being adopted?
215 W15	Num	3 W15	If you [and your spouse/partner] knew everything about [S.C.] before the adoption that you now know,
016 W16	Num	2 W16	how might that have affected your decision to accept [him/her] for adoption? Would you have _{\top} ? Given your [and your spouse's/partner's] experience of adoption
216 W16	Num	3 W16	with this child, would you recommend adoption to others?
217 W17	Num	3 K2Q19	Since the adoption was finalized, has [S.C.] ever lived outside of your home for two weeks or longer?
218 W17AR	Num	8 W17AR.	Number of times child lived outside the home 2+ weeks
219 W17B	Num	3 K2Q19	Was [S.C.]'s time away from home related to problems or conflicts among family members?
220 W17C	Num	3 W17C.	As a result of [S.C.]'s time away from your home did the situation _T ?
221 W18	Num	3 K2Q19	Have you [or your spouse/partner] ever thought about ending this adoption?
222 W19 223 W20AX01	Num Num	3 K2Q19 3 K2Q19	Have you [or your spouse/partner] ever taken any action to end this adoption? What actions have you [or your spouse/partner] taken - Spoke to caseworker about it.
224 W20AX02	Num	3 K2Q19	What actions have you for your spouse/partner] taken - Spoke with attorney about it.
225 W20AX03	Num	3 K2Q19	What actions have you [or your spouse/partner] taken - Other.
226 W21A	Num	3 W21A.	Reason for taking action to end the adoption - Child behavioral or education problems.
227 W21B	Num	3 W21A.	Reason for taking action to end the adoption - Child did not get along with siblings.
228 W21E	Num	3 W21A.	Reason for taking action to end the adoption - Child's medical problems.
229 W21D	Num	3 W21A.	Reason for taking action to end the adoption - Financial reasons.
230 W21C 231 W21F	Num Num	3 W21A. 3 K2Q19	Reason for taking action to end the adoption - Other family problems not associated with child. Were there any other important reasons?
231 W21F 232 W22	Num	3 K2Q19 3 K2Q19	Are you [or your spouse/partner] currently trying to end the adoption?
233 W23A	Num	3 K2Q19	Reason you are no longer trying to end the adoption - You resolved the problem(s) within family.
234 W23B	Num	3 K2Q19	Reason you are no longer trying to end the adoption - You discussed
		_	the situation with other relatives, neighbors, clergy.
235 W23C	Num	3 K2Q19	Reason you are no longer trying to end the adoption - You discussed the situation with an adoption worker.
236 W23D	Num	3 K2Q19	Reason you are no longer trying to end the adoption - You discussed the situation with another adoptive family.
237 W23E	Num	3 K2Q19	Reason you are no longer trying to end the adoption - You received additional supportive services such as respite care, intensive family preservation, or day care.
			on 12000 case. So topico care, intensity ramity process ration, or day care.

Public Use File Variables

The CONTENTS Procedure

```
# Variable Type Len Format
                                   Label
238 W23F
                    3 K2Q19_.
                                   Reason you are no longer trying to end the adoption - You engaged in family or individual therapy.
              Num
                                   Reason you are no longer trying to end the adoption - You placed the child in a residential program.
239 W23G
              Num
                     3 K2Q19 .
240 W23H
              Num
                     3 K2Q19_.
                                   Were there any other reasons?
                     3 K2Q19 .
241 F1
              Num
                                   At the time of [S.C.]'s adoption, was an adoption agreement finalized between your family and the adoption agency?
242 F2
                     3 K2Q19 .
                                   Do you currently receive a monthly subsidy payment to help you meet the needs of [S.C.]?
              Num
                     3 K2Q19_.
243 F2A
              Num
                                   Have you ever received an adoption subsidy for [S.C.]?
244 F3
                     3 K2Q19_.
                                   [Is/Was] this monthly subsidy payment written into your adoption agreement?
              Num
245 F4R
              Num
                     8 F4R.
                                   Adoption subsidy monthly amount ($)
246 F4A
              Num
                    3 F4A.
                                   [Is/Was] this monthly amount higher, lower, or the same as the
                                   amount you received when you were [S.C.]'s foster parent?
247 F5
              Num
                     3 F5 .
                                   Did you request the subsidy or was this subsidy given to you without requesting it?
                     8 K2Q19_.
248 F6AR
              Num
                                   Did you request a subsidy because [S.C.] needed additional services you could not afford?
249 F6B
                     3 K2Q19 .
                                   Did you request a subsidy because the child welfare worker or adoption worker suggested that you request one?
                     3 K2Q19 .
250 F6C
              Num
                                   Did you request a subsidy because your attorney suggested you request one?
                     3 K2Q19_.
251 F6D
                                   Was there any other reason why a subsidy was requested?
              Num
252 F6DA 1
              Num
                     8 YES.
                                   Other reason: because it was available
                     3 K2Q19_.
253 F7
              Num
                                   Do you feel that the subsidy received for [S.C.] helps to adequately meet [S.C.]'s needs?
254 F8
              Num
                     3 C3D.
                                   Without a subsidy would you say the likelihood of you having adopted [S.C.] would have been-?
255 F9
              Num
                     3 F9 .
                                   Why don't you currently receive an adoption subsidy for [S.C.]?
256 F10R
                     8 F10R.
                                   Why don't you receive an adoption subsidy for [S.C.]?
              Num
257 F11
                     3 K2Q19 .
                                   Did you pay anything at the time of the adoption? For example, did you pay for a homestudy or pay an attorney?
              Num
258 F11A
              Num
                     3 F11A
                                   Approximately how much did [S.C.]'s adoption cost?
259 F11B
                    3 F11B.
                                   Approximately how much did [S.C.]'s adoption cost (including [cost of
              Num
                                   travel to the child's country of origin / travel] or legal fees)?
260 F12
              Num
                                   Did the adoption agency reimburse all, some, or none of these expenses?
261 F13
                     3 K2Q19 .
                                   Was Medicaid or state-subsidized health insurance included in [S.C.1's adoption agreement?
              Num
262 F13A
              Num
                     3 K2Q19_.
                                   Is any additional medical coverage included in the adoption agreement?
                     3 K2Q19 .
263 F14A
              Num
                                   Have you ever used Medicaid to obtain mental health services for [S.C.]?
264 F14AA
              Num
                     3 F14AA.
                                   How easy or difficult was it to use Medicaid to pay for these mental health services for [S.C.]?
265 F14B
              Num
                     3 K2Q19 .
                                   Have you ever used Medicaid to obtain dental or orthodontia care for [S.C.]?
266 F14BA
                    3 F14AA.
                                   How easy or difficult was it to use Medicaid to pay for this dental or orthodontia care for [S.C.]?
              Num
267 F14C
                     3 K2Q19 .
                                   Have you ever used Medicaid to obtain medical care for [S.C.]?
              Num
                                   Please include health care related to vision and hearing.
268 F14CA
                     3 F14AA.
                                   How easy or difficult was it to use Medicaid to pay for these medical services for [S.C.]?
              Num
                     3 K2Q19 .
                                   During the past 12 months, has [S.C.] received any treatment or counseling from a mental health professional?
269 F15
              Num
270 F16A
                     3 F16A.
                                   What portion of [S.C.]'s mental health services in the last 12 months was paid for by Medicaid?
              Num
                                   What portion of [S.C.]'s mental health services in the last 12 months was paid for by insurance other than Medicaid?
271 F16B
              Num
                     3 F16A.
272 F16C
                     3 F16A.
                                   What portion of [S.C.]'s mental health services in the last 12 months was paid for by Child Welfare or Adoption Agency?
              Num
273 F16D
              Num
                     3 F16A.
                                   What portion of [S.C.]'s mental health services in the last 12 months was paid for by you?
274 F16E
                     3 K2Q19 .
                                   Is there any other source helping pay for mental health services?
              Num
275 F16EA 1
              Num
                     8 YES.
                                   Other source helping pay for mental health services = insurance other than Medicaid
276 F16EA_2
                     8 YES.
                                   Other source helping pay for mental health services = school
              Num
277 F14A A
                     3 K2Q19 .
              Num
                                   Have you ever used Medicaid to obtain mental health medications for [S.C.]?
278 F14A AA
             Num
                     3 F14AA.
                                   How easy or difficult was it to use Medicaid to pay for these mental health medications for [S.C.]?
                     3 F16A.
279 F16A_A
              Num
                                   What portion of [S.C.]'s mental health medication needs in the last 12 months was paid for by Medicaid?
280 F16A B
              Num
                     3 F16A.
                                   What portion of [S.C.]'s mental health medication needs in the
                                   last 12 months was paid for by insurance other than Medicaid?
                                   What portion of [S.C.]'s mental health medication needs in the last
281 F16A C
                    3 F16A.
             Num
                                   12 months was paid for by Child Welfare or Adoption Agency?
282 F16A D
              Num
                     3 F16A.
                                   What portion of [S.C.]'s mental health medication needs in the last 12 months was paid for by you?
283 F16A_E
                     3 K2Q19_.
              Num
                                   Is there any other source helping pay for mental health medications?
284 F17
              Num
                     3 K2Q19_.
                                   In the last 12 months did [S.C.] receive any dental or orthodontia care?
285 F17A
                     3 F16A.
                                   What portion of [S.C.]'s dental or orthodontia care in the past 12 months was paid for by Medicaid?
              Num
286 F17B
              Num
                    3 F16A.
                                   What portion of [S.C.]'s dental or orthodontia care in the past
                                   12 months was paid for by insurance other than Medicaid?
287 F17C
                     3 F16A.
                                   What portion of [S.C.]'s dental or orthodontia care in the past
              Num
                                   12 months was paid for by Child Welfare or Adoption Agency?
288 F17D
              Num
                     3 F16A.
                                   What portion of [S.C.]'s dental or orthodontia care in the past 12 months was paid for by you?
289 F17E
                     3 K2Q19 .
                                   Is there any other source helping pay for dental care?
              Num
290 F17FA 1
                     8 YES.
                                   Other source helping pay for dental care = insurance other than Medicaid
              Num
291 F17EA_2
              Num
                     8 YES.
                                   Other source helping pay for dental care = Medicaid
292 F18
                                   In the last 12 months has [S.C.] had any medical care including vision and hearing?
              Num
                     3 K2Q19 .
293 F18A
              Num
                     3 F16A.
                                   What portion of [S.C.]'s medical care in the past 12 months was paid for by Medicaid?
294 F18B
                     3 F16A.
                                   What portion of [S.C.]'s medical care in the past 12 months was paid for by insurance other than Medicaid?
              Num
                                   What portion of [S.C.]'s medical care in the past 12 months was paid for by Child Welfare or Adoption Agency?
295 F18C
                     3 F16A.
              Num
296 F18D
              Num
                     3 F16A.
                                   What portion of [S.C.]'s medical care in the past 12 months was paid for by you?
                     3 K2Q19_.
297 F18E
                                   Is there any other source helping pay for medical care?
              Num
298 F18EA_1
                                   Other source helping pay for medical care = insurance other than Medicaid
              Num
                     8 YES.
299 F18EA_2
                     8 YES.
                                   Other source helping pay for medical care = Medicaid
              Num
300 F19
                     3 K2Q19 .
                                   At the time of [S.C.]'s adoption, were you [or your spouse/partner] aware of the federal adoption tax credit?
              Num
301 F19A
              Num
                     3 K2Q19 .
                                   Did you [or your spouse/partner] file for the adoption tax credit on your income tax return?
```

Public Use File Variables

The CONTENTS Procedure

```
# Variable Type Len Format
                                   Label
302 F20
                     3 K2Q19_.
                                   At the time of [S.C.]'s adoption, did your [or your spouse's/partner's]
              Num
                                   employer provide financial assistance for the adoption?
303 N1
                     3 K2Q19_.
                                   Did you [or your spouse/partner] ever meet with someone at an adoption
              Num
                                   agency or post-adoption agency to discuss post-adoption services?
304 N1A
                     3 K2Q19 .
                                   Was this someone you for your spouse/partnerl had contact with prior to [S.C.l's adoption?
              Num
305 N1B
                     3 N1B.
                                   Did you [or your spouse/partner] find this to be very helpful, somewhat
              Num
                                   helpful, or not very helpful to you, your family, or [S.C.]?
306 N1C
              Num
                     3 K2Q19 .
                                   Did you [or your spouse/partner] want to meet with someone at an adoption agency
                                   to discuss post-adoption services and supports after the adoption was finalized?
307 N1DX01R
                     8 K2Q19 .
                                   Why weren't you [or your spouse/partner] able to meet with someone to discuss
              Num
                                   post-adoption services and supports - No such worker at my agency
308 N1DX02R
              Num
                     8 K2Q19_.
                                   Why weren't you [or your spouse/partner] able to meet with someone to discuss
                                   post-adoption services and supports - Agency did not offer services
309 N1DX03
                     3 K2Q19 .
                                   Why weren't you [or your spouse/partner] able to meet with someone to discuss
              Num
                                   post-adoption services and supports - Did not qualify for this service.
310 N1DX04R
             Num
                     8 K2Q19 .
                                   Why weren't you [or your spouse/partner] able to meet with someone to
                                   discuss post-adoption services and supports - Schedules conflicted
311 N1DX05
              Num
                     3 K2Q19_.
                                   Why weren't you [or your spouse/partner] able to meet with someone
                                   to discuss post-adoption services and supports - No time.
312 N1DX06
                     3 K2Q19 .
                                   Why weren't you for your spouse/partner1 able to meet with someone
              Num
                                   to discuss post-adoption services and supports - Other.
313 N1DA 1
              Num
                     8 YES
                                   Other reason: distance/transportation issues
314 N1DA_2
                     8 YES.
                                   Other reason: not needed/a family member refused/did not follow through with it
              Num
                     3 K2Q19 .
315 N2
              Num
                                   Has [S.C.] ever participated in an adoption support group for children or youth?
316 N2A
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful?
                     3 N1B.
317 N2B
              Num
                                   Did [S.C.] find this to be very helpful, somewhat helpful, or not very helpful?
                     3 K2Q19 .
318 N2BAX01
              Num
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Child's school.
                     3 K2Q19_.
319 N2BAX02
              Num
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption worker.
320 N2BAX03
              Num
                     3 K2Q19 .
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption agency / Child welfare agency.
321 N2BAX04
              Num
                     3 K2Q19_.
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption attorney.
322 N2BAX05
                     3 K2Q19 .
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Community or local newspaper.
              Num
323 N2BAX06
                     3 K2Q19 .
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption website or listserv.
              Num
                     3 K2Q19_.
324 N2BAX07
              Num
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Other Parents.
325 N2BAX08
                     3 K2Q19_.
                                   How did you [or your spouse/partner] or [S.C.] hear about this support group - Other.
              Num
                                   Other source: friend/acquaintance/church/word of mouth
326 N2BAA 1
                     8 YES.
327 N2BAA_2
                     8 YES.
                                   Other source: clinic/hospital/other service provider
              Num
328 N2C
              Num
                     3 K2Q19 .
                                   Did you for your spouse/partner ever want [S.C.] to participate in an adoption support group?
                     8 K2Q19_.
329 N2DX01R
                                   Why wasn't [S.C.] able to participate in a support group - Didn't know where to find service
              Num
                     8 K2Q19_.
330 N2DX02B
                                   Why wasn't [S.C.] able to participate in a support group - None close
              Num
331 N2DX03
                     3 K2Q19_.
                                   Why wasn't [S.C.] able to participate in a support group - Cost.
              Num
332 N2DX04
              Num
                     3 K2Q19 .
                                   Why wasn't [S.C.] able to participate in a support group - Child refused or not interested.
333 N2DX05
                     3 K2Q19_.
                                   Why wasn't [S.C.] able to participate in a support group - Other.
              Num
334 N2DA 1
                     8 YES.
                                   Other reason: child unable due to condition/behavior
              Num
335 N2DA 2
              Num
                     8 YFS.
                                   Other reason: not needed/a family member refused/did not follow through with it
336 N3
                     3 K2Q19 .
                                   Have you [or your spouse/partner] ever participated in an adoption support group?
              Num
337 N3A
              Num
                     3 N1B.
                                   Did you [or your spouse/partner] find this to be very helpful, somewhat helpful, or not very helpful?
338 N3BX01
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about this support group(s) - Adoption worker.
              Num
                                   How did you [or your spouse/partner] hear about this support group(s) - Adoption agency
339 N3BX02R
                     8 K2Q19 .
              Num
                                   How did you [or your spouse/partner] hear about this support group(s) - Adoption attorney.
340 N3BX03
              Num
                     3 K2Q19 .
                     3 K2Q19_.
341 N3BX04
              Num
                                   How did you [or your spouse/partner] hear about this support group(s) - Newspaper.
342 N3BX05
              Num
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about this support group(s) - Adoption website or listserv.
                     3 K2Q19_.
343 N3BX06
              Num
                                   How did you [or your spouse/partner] hear about this support group(s) - Other parents.
344 N3BX07
                     3 K2Q19_.
                                   How did you [or your spouse/partner] hear about this support group(s) - Other.
              Num
345 N3BA 1
              Num
                     8 YES.
                                   Other source: friend/acquaintance/church/word of mouth
346 N3BA 2
              Num
                     8 YFS.
                                   Other source: clinic/hospital/other service provider
347 N3C
                     3 K2Q19_.
                                   Did you [or your spouse/partner] ever want to participate in an adoption support group?
              Num
                     3 K2Q19_.
348 N3DX01
              Num
                                   Why weren't you [or your spouse/partner] able to participate in a support group - Did not have room.
349 N3DX02
                     3 K2Q19_.
                                   Why weren't you [or your spouse/partner] able to participate in a support group - Cost.
              Num
350 N3DX03R
                     8 K2Q19 .
                                   Why weren't you [or your spouse/partner] able to participate in a support group - Didn't know where to find service
              Num
351 N3DX04R
                     8 K2Q19 .
              Num
                                   Why weren't you [or your spouse/partner] able to participate in a support group - None close
                     3 K2Q19_.
352 N3DX05
                                   Why weren't you [or your spouse/partner] able to participate in a support group - Other.
              Num
                                   Other reason: time/scheduling difficulties
353 N3DA 1
              Num
                     8 YES.
354 N3DA_2
              Num
                     8 YES.
                                   Other reason: not needed/a family member refused/did not follow through with it
355 N5
                     3 K2Q19 .
                                   Since the time of [his/her] adoption, has [S.C.] ever received mental health care or counseling?
              Num
                     3 K2Q19 .
                                   Was payment for mental health care or counseling for [S.C.] written into your adoption agreement?
356 N5A
              Num
357 N5B
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]?
358 N5C
                     3 N1B.
                                   Did [S.C.] find this to be very helpful, somewhat helpful, or not very helpful?
              Num
                                   How did you hear about this mental health care or counseling - Child's school
359 N5DX01R
              Num
                     8 K2Q19 .
360 N5DX02R
                     8 K2Q19 .
                                   How did you hear about this mental health care or counseling - Medical professional
              Num
361 N5DX03
                     3 K2Q19 .
              Num
                                   How did you hear about this mental health care or counseling - Adoption worker.
362 N5DX04
              Num
                     3 K2Q19 .
                                   How did you hear about this mental health care or counseling - Adoption agency or child welfare agency.
```

The CONTENTS Procedure

Variables in Creation Order

```
# Variable Type Len Format
                                   Label
363 N5DX05
                     3 K2Q19_.
                                   How did you hear about this mental health care or counseling - Adoption attorney.
              Num
364 N5DX06
              Num
                     3 K2Q19 .
                                   How did you hear about this mental health care or counseling - Newspaper.
365 N5DX07
                     3 K2Q19_.
                                   How did you hear about this mental health care or counseling - Adoption website or listserv.
              Num
                                   How did you hear about this mental health care or counseling - Other parents.
366 N5DX08
                     3 K2Q19 .
              Num
367 N5DX09
                     3 K2Q19_.
                                   How did you hear about this mental health care or counseling - Other.
              Num
368 N5DA_1
              Num
                     8 YES.
                                   Other source: friend/acquaintance/church/word of mouth
369 N5DA_2
                     8 YES.
                                   Other source: clinic/hospital/other service provider
              Num
                                   Did you ever want [S.C.] to receive mental health care or counseling?
370 N5E
              Num
                     3 K2Q19 .
371 N5FX01R
              Num
                     8 K2Q19 .
                                   Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - Did not have room
372 N5FX02R
                     8 K2Q19 .
                                   Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - Cos
             Num
373 N5FX03
              Num
                     3 K2Q19_.
                                   Why didn't [S.C.] receive the mental health care or counseling
                                   that [he/she] needed - Didn't know where to find service.
374 N5FX04
                     3 K2Q19_.
                                   Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - None close.
375 N5FX05
                     3 K2Q19 .
                                   Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - Other.
              Num
376 N5FA_1
                                   Other reason: not needed/a family member refused/did not follow through with it
                     8 YES.
              Num
                     3 K2Q19_.
377 N6
              Num
                                   Since [S.C.]'s adoption, did your family ever participate in family counseling?
378 N6A
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful?
379 N6BX01
              Num
                     3 K2Q19_.
                                   How did you hear about family counseling - Child's school.
                                   How did you hear about family counseling - Medical professional.
380 N6BX02
              Num
                     3 K2Q19 .
381 N6BX03B
             Num
                     8 K2Q19 .
                                   How did you hear about family counseling - Adoption worker
                     3 K2Q19_.
382 N6BX04
                                   How did you hear about family counseling - Adoption agency.
              Num
                     3 K2Q19_.
                                   How did you hear about family counseling - Adoption attorney.
383 N6BX05
              Num
384 N6BX06
                     3 K2Q19_.
                                   How did you hear about family counseling - Newspaper.
              Num
385 N6BX07
                                   How did you hear about family counseling - Adoption website or listserv.
              Num
                     3 K2Q19 .
                     3 K2Q19_.
386 N6BX08
              Num
                                   How did you hear about family counseling - Other parents.
387 N6BX09
                     3 K2Q19_.
                                   How did you hear about family counseling - Other.
              Num
                                   Other source: friend/acquaintance/church/word of mouth
388 N6BA_1
              Num
                     8 YES.
389 N6BA_2
              Num
                     8 YES.
                                   Other source: clinic/hospital/other service provider
390 N6C
              Num
                     3 K2Q19 .
                                   Did you ever want your family to participate in family counseling since [S.C.]'s adoption?
391 N6DX01
                     3 K2Q19_.
                                   Why didn't your family participate in the counseling that you wanted - No room.
392 N6DX02R
                     8 K2Q19 .
                                   Why didn't your family participate in the counseling that you wanted - Agency did not offer service
              Num
                     3 K2Q19 .
                                   Why didn't your family participate in the counseling that you wanted - Did not qualify.
393 N6DX03
              Num
                     3 K2Q19_.
                                   Why didn't your family participate in the counseling that you wanted - Cost.
394 N6DX04
              Num
395 N6DX05
                     3 K2Q19_.
                                   Why didn't your family participate in the counseling that you wanted - Didn't know where to find service.
              Num
396 N6DX06
                                   Why didn't your family participate in the counseling that you wanted - No service close to us.
                     3 K2Q19 .
397 N6DX07
                     3 K2Q19_.
                                   Why didn't your family participate in the counseling that you wanted - Other.
              Num
398 N6DA_1
                                   Other reason: not needed/a family member refused/did not follow through with it
              Num
                     8 YES.
399 N7
                     3 K2Q19 .
                                   After [S.C.]'s adoption, did your family ever receive crisis counseling?
              Num
400 N7A
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful?
401 N7BX01
                     3 K2Q19_.
                                   How did you hear about crisis counseling - Adoption worker.
              Num
402 N7BX02
              Num
                     3 K2Q19_.
                                   How did you hear about crisis counseling - Adoption agency.
403 N7BX03
                     3 K2Q19_.
                                   How did you hear about crisis counseling - Adoption attorney.
              Num
404 N7BX04
                     3 K2Q19 .
                                   How did you hear about crisis counseling - Newspaper.
              Num
                     3 K2Q19_.
405 N7BX05
              Num
                                   How did you hear about crisis counseling - Adoption website or listserv.
                     3 K2Q19_.
406 N7BX06
                                   How did you hear about crisis counseling - Other parents.
              Num
407 N7BX07
              Num
                     3 K2Q19 .
                                   How did you hear about crisis counseling - Other.
408 N7BA_1
                     8 YES.
                                   Other source: friend/acquaintance/church/word of mouth
              Num
409 N7BA_2
                     8 YES.
                                   Other source: clinic/hospital/other service provider
              Num
                                   Did you ever want your family to receive crisis counseling since [S.C.]'s adoption?
410 N7C
              Num
                     3 K2Q19 .
411 N7DX01
              Num
                     3 K2Q19 .
                                   Why didn't your family receive the crisis counseling that you needed - Did not have room.
412 N7DX02R
                     8 K2Q19_.
                                   Why didn't your family receive the crisis counseling that you needed - Agency did not offer service
              Num
                     3 K2Q19_.
413 N7DX03
              Num
                                   Why didn't your family receive the crisis counseling that you needed - Did not qualify.
414 N7DX04
                     3 K2Q19_.
                                   Why didn't your family receive the crisis counseling that you needed - Cost.
              Num
                                   Why didn't your family receive the crisis counseling that you needed - Didn't know where to find service.
415 N7DX05
              Num
                     3 K2Q19 .
416 N7DX06
              Num
                     3 K2Q19 .
                                   Why didn't your family receive the crisis counseling that you needed - No such service close.
417 N7DX07
                     3 K2Q19_.
                                   Why didn't your family receive the crisis counseling that you needed - Other.
              Num
                                   Other reason: not needed/a family member refused/did not follow through with it
418 N7DA_1
                     8 YES.
419 N8
              Num
                     3 K2Q19 .
                                   Since the time of [his/her] adoption, has [S.C.] ever received an alcohol or drug evaluation and/or treatment?
420 N8A
                     3 N1B.
                                   Did you find these services to be very helpful, somewhat helpful, or not very helpful?
              Num
421 N8BX01
                     3 K2019 .
                                   How did you hear about the alcohol or drug services for [S.C.] - Medical professional.
              Num
422 N8BX02
              Num
                     3 K2Q19_.
                                   How did you hear about the alcohol or drug services for [S.C.] - Adoption worker.
423 N8BX03
                     3 K2Q19_.
                                   How did you hear about the alcohol or drug services for [S.C.] - Adoption agency.
              Num
424 N8BX04
              Num
                     3 K2Q19 .
                                   How did you hear about the alcohol or drug services for [S.C.] - Adoption attorney.
425 N8BX05
                     3 K2Q19_.
                                   How did you hear about the alcohol or drug services for [S.C.] - Newspaper.
              Num
426 N8BX06
                     3 K2Q19 .
                                   How did you hear about the alcohol or drug services for [S.C.] - Adoption website or listserv.
              Num
                     3 K2Q19_.
427 N8BX07
              Num
                                   How did you hear about the alcohol or drug services for [S.C. ] - Other parents.
428 N8BX08
                     3 K2Q19_.
                                   How did you hear about the alcohol or drug services for [S.C.] - Other.
              Num
429 N8BA_1
                                   Other source: school/police/courts
              Num
                     8 YES.
430 N8C
                     3 K2Q19 .
                                   Did you ever want or need these services for [S.C.]?
              Num
431 N8DX01
                     3 K2Q19 .
                                   Why didn't [S.C.] receive this service - Did not have room.
              Num
```

Why didn't [S.C.] receive this service - Agency did not offer service.

432 N8DX02

Num

3 K2Q19 .

The CONTENTS Procedure

```
# Variable Type Len Format
                                   Label
433 N8DX03
                     3 K2Q19_.
                                   Why didn't [S.C.] receive this service - Did not qualify.
              Num
434 N8DX04
              Num
                     3 K2Q19 .
                                   Why didn't [S.C.] receive this service - Cost.
435 N8DX05
                     3 K2Q19_.
                                   Why didn't [S.C.] receive this service - Didn't know where to find service.
              Num
436 N8DX06
                     3 K2Q19 .
                                   Why didn't [S.C.] receive this service - No such service close.
              Num
437 N8DX07
                     3 K2Q19 .
                                   Why didn't [S.C.] receive this service - Other.
              Num
438 N9
                     3 K2Q19_.
                                   Following [his/her] adoption, did [S.C.] ever have a mentor? By mentor, I mean
              Num
                                   an adult paired with your child through a school or community organization.
439 N9A
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]?
                     3 N1B.
440 N9AA
                                   Did [S.C.] think this was very helpful, somewhat helpful, or not very helpful?
              Num
441 N9BX01
                                   How did you hear about the mentor - Child's school.
                     3 K2Q19 .
              Num
442 N9BX02
              Num
                     3 K2Q19_.
                                   How did you hear about the mentor - Adoption worker.
                     3 K2Q19_.
443 N9BX03
              Num
                                   How did you hear about the mentor - Adoption agency.
444 N9BX04
                     3 K2Q19 .
                                   How did you hear about the mentor - Adoption attorney.
445 N9BX05
                     3 K2Q19 .
                                   How did you hear about the mentor - Newspaper.
              Num
                                   How did you hear about the mentor - Adoption website or listserv.
446 N9BX06
                     3 K2Q19 .
              Num
                     3 K2Q19_.
447 N9BX07
              Num
                                   How did you hear about the mentor - Other parents.
                     3 K2Q19_.
448 N9BX08
              Num
                                   How did you hear about the mentor - Other.
449 N9BA_1
              Num
                     8 YES.
                                   Other source: friend/acquaintance/church/word of mouth
450 N9BA_2
              Num
                     8 YES.
                                   Other source: clinic/hospital/other service provider
451 N9C
                     3 K2Q19 .
                                   Did you [or your spouse/partner] ever want [S.C.] to have a mentor?
              Num
452 N9DX01R
                     8 K2Q19 .
                                   Why didn't [S.C.] receive a mentor - Did not have room
              Num
453 N9DX02R
              Num
                     8 K2Q19 .
                                   Why didn't [S.C.] receive a mentor - Agency did not offer service
                     8 K2Q19_.
454 N9DX03R
                                   Why didn't [S.C.] receive a mentor - Did not qualify
              Num
                                   Why didn't [S.C.] receive a mentor - Didn't know where to find service.
455 N9DX04
              Num
                     3 K2Q19 .
                     3 K2Q19_.
456 N9DX05
              Num
                                   Why didn't [S.C.] receive a mentor - No such service close.
457 N9DX06
                     3 K2Q19_.
              Num
                                   Why didn't [S.C.] receive a mentor - Other.
458 N9DA_1
              Num
                     8 YES.
                                   Other reason: not needed/a family member refused/did not follow through with it
                     3 K2Q19 .
459 N10
              Num
                                   At any time since [he/she] was adopted, has [S.C.] had an academic tutor?
460 N10A
              Num
                     3 K2Q19 .
                                   Is the payment for tutoring for [S.C.] written into your adoption agreement?
461 N10AA
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]?
                     3 N1B.
                                   Did [S.C.] think that tutoring was very helpful, somewhat helpful, or not very helpful?
462 N10B
              Num
                     8 K2Q19 .
463 N10BBX01R Num
                                   How did you hear about this tutoring - Child's school
                     8 K2Q19_.
464 N10BBX02R Num
                                   How did you hear about this tutoring - Adoption worker
465 N10BBX03 Num
                     3 K2Q19_.
                                   How did you hear about this tutoring - Adoption agency.
                                   How did you hear about this tutoring - Adoption attorney.
466 N10BBX04 Num
                     3 K2Q19 .
467 N10BBX05 Num
                     3 K2Q19_.
                                   How did you hear about this tutoring - Newspaper.
                                   How did you hear about this tutoring - Adoption website or listserv.
468 N10BBX06 Num
                     3 K2Q19 .
469 N10BBX07 Num
                     3 K2Q19 .
                                   How did you hear about this tutoring - Other parents.
                     3 K2Q19_.
470 N10BBX08
             Num
                                   How did you hear about this tutoring - Other.
471 N10BA_1
                     8 YES.
                                   Other source: friend/acquaintance/church/word of mouth
              Num
472 N10BA_2
             Num
                     8 YES.
                                   Other source: clinic/hospital/other service provider
473 N10C
                     3 K2Q19 .
                                   Did you [or your spouse/partner] ever want tutoring for [S.C.]?
              Num
474 N10DX01R Num
                     8 K2Q19_.
                                   Why didn't [S.C.] receive the tutoring that [he/she] needed - Did not have room
                     8 K2Q19_.
475 N10DX02R Num
                                   Why didn't [S.C.] receive the tutoring that [he/she] needed - Agency did not offer services
                     3 K2Q19_.
476 N10DX03
                                   Why didn't [S.C.] receive the tutoring that [he/she] needed - Cost.
             Num
477 N10DX04R
             Num
                     8 K2Q19 .
                                   Why didn't [S.C.] receive the tutoring that [he/she] needed - Did not qualify
478 N10DX05R Num
                     8 K2Q19_.
                                   Why didn't [S.C.] receive the tutoring that [he/she] needed - Didn't know where to find service
                                   Why didn't [S.C.] receive the tutoring that [he/she] needed - No such service close
479 N10DX06R
             Num
                     8 K2Q19 .
                                   Why didn't [S.C.] receive the tutoring that [he/she] needed - Other.
480 N10DX07
             Num
                     3 K2Q19 .
481 N10DA_1
              Num
                     8 YES.
                                   Other reason: not needed/a family member refused/did not follow through with it
482 N11
              Num
                     3 K2Q19 .
                                   Following [S.C.]'s adoption, did you [or your spouse/partner] receive assistance paying for child care for [S.C.]?
483 N11A
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful?
484 N11BX01R
                     8 K2Q19_.
                                   How did you hear about this child care assistance - Adoption worker
             Num
                                   How did you hear about this child care assistance - Adoption agency.
485 N11BX02
             Num
                     3 K2Q19 .
486 N11BX03
              Num
                     3 K2Q19 .
                                   How did you hear about this child care assistance - Adoption attorney.
487 N11BX04
                     3 K2Q19_.
                                   How did you hear about this child care assistance - Newspaper.
              Num
488 N11BX05
              Num
                     3 K2Q19 .
                                   How did you hear about this child care assistance - Adoption website or listserv.
489 N11BX06
              Num
                     3 K2Q19 .
                                   How did you hear about this child care assistance - Other parents.
490 N11BX07
                     3 K2Q19 .
                                   How did you hear about this child care assistance - Other.
              Num
                     8 YES.
                                   Other source: clinic/hospital/other service provider
491 N11BA 2
             Num
                     3 K2Q19_.
492 N11C
                                   Did you ever want or need help paying for child care for [S.C.]?
              Num
                                   Why didn't you receive the child care assistance that you needed - Did not have room.
493 N11DX01
                     3 K2Q19 .
494 N11DX02R
             Num
                     8 K2Q19 .
                                   Why didn't you receive the child care assistance that you needed - Agency did not offer service
                     3 K2Q19_.
                                   Why didn't you receive the child care assistance that you needed - Cost.
495 N11DX03
             Num
                     8 K2Q19 .
                                   Why didn't you receive the child care assistance that you needed - Did not qualify
496 N11DX04R Num
                     8 K2Q19_.
497 N11DX05R
             Num
                                   Why didn't you receive the child care assistance that you needed - Didn't know where to find service
498 N11DX06
                     3 K2Q19_.
                                   Why didn't you receive the child care assistance that you needed - No such services close.
              Num
499 N11DX07
                                   Why didn't you receive the child care assistance that you needed - Other.
              Num
                     3 K2Q19 .
500 N11DA_1
                     8 YES.
                                   Other reason: not needed/a family member refused/did not follow through with it
              Num
                                   Did you [or your spouse/partner] receive any respite care following your adoption of [S.C.]?
501 N12
                     3 K2Q19 .
              Num
502 N12A
              Num
                     3 N1B.
                                   Did you [or your spouse/partner] find respite care to be very helpful, somewhat helpful, or not very helpful?
```

The CONTENTS Procedure

```
# Variable Type Len Format
                                   Label
503 N12BX01R Num
                     8 K2Q19_.
                                   How did you [or your spouse/partner] hear about respite care - Adoption worker
504 N12BX02
             Num
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about respite care - Adoption agency.
505 N12BX03
                     3 K2Q19_.
                                   How did you [or your spouse/partner] hear about respite care - Adoption attorney.
              Num
506 N12BX04
             Num
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about respite care - Newspaper.
507 N12BX05
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about respite care - Adoption website or listserv.
             Num
                     3 K2Q19_.
508 N12BX06
              Num
                                   How did you [or your spouse/partner] hear about respite care - Other parents.
509 N12BX07
                     3 K2Q19_.
                                   How did you [or your spouse/partner] hear about respite care - Other.
              Num
510 N12BA_1
              Num
                     8 YES.
                                   Other source: friend/acquaintance/church/word of mouth
511 N12BA 2
                     8 YES.
                                   Other source: clinic/hospital/other service provider
              Num
512 N12C
                     3 K2Q19 .
                                   Did you [or your spouse/partner] ever need this service since adopting [S.C.]?
              Num
513 N12DX01R Num
                     8 K2Q19_.
                                   Why didn't you receive this service that you needed - Did not have room
                     8 K2Q19_.
514 N12DX02R
             Num
                                   Why didn't you receive this service that you needed - Agency did not offer services
                                   Why didn't you receive this service that you needed - Cost.
515 N12DX03
             Num
                     3 K2Q19 .
                     8 K2Q19 .
516 N12DX04R
             Num
                                   Why didn't you receive this service that you needed - Did not qualify
517 N12DX05R
                     8 K2Q19 .
                                   Why didn't you receive this service that you needed - Didn't know where to find service
             Num
                     3 K2Q19_.
518 N12DX06
              Num
                                   Why didn't you receive this service that you needed - No such services close.
                     3 K2Q19_.
519 N12DX07
              Num
                                   Why didn't you receive this service that you needed - Other.
520 N12DA_1
              Num
                     8 YES.
                                   Other reason: not needed/a family member refused/did not follow through with it
521 N14A
              Num
                     3 K2Q19 .
                                   Was the payment for residential treatment or psychiatric facility for [S.C.] written into your adoption agreement?
522 N14AA1
                     3 F16A.
                                   What portion of [S.C.]'s placement(s) in a group home or residential
              Num
                                   treatment facility or psychiatric facility was paid for by Medicaid?
523 N14AA2
              Niim
                     3 F16A.
                                   What portion of [S.C.]'s placement(s) in a group home or residential treatment
                                   facility or psychiatric facility was paid for by insurance other than Medicaid?
524 N14AA3
             Num
                     3 F16A.
                                   What portion of [S.C.]'s placement(s) in a group home or residential treatment facility
                                   or psychiatric facility was paid for by child welfare or adoption agency?
525 N14AA4
                     3 F16A.
                                   What portion of [S.C.]'s placement(s) in a group home or residential
             Num
                                   treatment facility or psychiatric facility was paid for by you?
526 N14AA5
              Num
                     3 K2Q19 .
                                   Is there any other source helping pay for the placement?
527 N14B
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]?
528 N14BBX01
             Num
                     3 K2Q19 .
                                   How did you hear about this facility - Medical professional.
                                   How did you hear about this facility - Adoption worker.
529 N14BBX02
                     3 K2Q19 .
             Num
                     3 K2Q19_.
                                   How did you hear about this facility - Adoption agency.
530 N14BBX03 Num
                     3 K2Q19_.
                                   How did you hear about this facility - Adoption attorney.
531 N14BBX04 Num
532 N14BBX05
                     3 K2Q19_.
                                   How did you hear about this facility - Newspaper.
             Num
                                   How did you hear about this facility - Adoption website or listserv.
533 N14BBX06
                     3 K2Q19 .
534 N14BBX07
                     3 K2Q19_.
                                   How did you hear about this facility - Other parents.
             Num
                                   How did you hear about this facility - Other.
535 N14BBX08
             Num
                     3 K2Q19_.
536 N14BBA 1
                     8 YES.
             Num
                                   Other source: friend/acquaintance/church/word of mouth
537 N14BBA_2
             Num
                     8 YES.
                                   Other source: clinic/hospital/other service provider
538 N14C
                     3 K2Q19_.
                                   Did you ever want [S.C.] to spend time in a residential treatment or psychiatric facility?
539 N14DX01
                     3 K2Q19_.
                                   Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Did not have room.
              Num
540 N14DX02
                     3 K2Q19 .
                                   Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Agency did not offer service.
             Num
                     3 K2Q19 .
                                   Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Cost.
541 N14DX03
             Num
                     8 K2Q19_.
542 N14DX04R
             Num
                                   Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Did not qualify
                     3 K2Q19_.
543 N14DX05
                                   Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Didn't know where to find service.
              Num
544 N14DX06
              Num
                     3 K2Q19 .
                                   Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - No such services close.
545 N14DX07
                     3 K2Q19_.
                                   Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Other.
              Num
546 N14DA_1
                     8 YES.
                                   Other reason: not needed/a family member refused/did not follow through with it
              Num
547 N18
              Num
                     3 K2Q19 .
                                   Following your adoption of [S.C.], did you [or your spouse/partner] attend
                                   any classes, conferences, lectures, or seminars about adoption?
548 N18A
              Num
                     3 N1B.
                                   Did you find this to be very helpful, somewhat helpful, or not very helpful?
549 N18BX01
              Num
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Adoption worker.
                     3 K2Q19_.
                                   How did you [or your spouse/partner] hear about these classes, conferences, lectures or seminars - Adoption agency.
550 N18BX02
              Num
551 N18BX03
              Num
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Adoption attorney.
552 N18BX04
              Num
                     3 K2Q19 .
                                   How did you [or your spouse/partner] hear about these classes, conferences,
                                   lectures, or seminars - Community or local newspaper.
553 N18BX05
                     3 K2Q19_.
                                   How did you [or your spouse/partner] hear about these classes, conferences,
                                   lectures, or seminars - Adoption website or listserv.
554 N18BX06
                     3 K2Q19_.
                                   How did you [or your spouse/partner] hear about these classes, conferences, lectures or seminars - Other parents.
              Num
555 N18BX07
                     3 K2Q19 .
              Num
                                   How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Other.
556 N18BA_1
              Num
                     8 YES.
                                   Other source: friend/acquaintance/church/word of mouth
557 N18BA_2
                                   Other source: clinic/hospital/other service provider
              Num
                     8 YES.
558 N18C
              Num
                     3 K2Q19 .
                                   Did you [or your spouse/partner] ever wish you could attend classes, conferences,
                                   lectures, or seminars about adoption since adopting [S.C.]?
559 N18DX01
                     3 K2Q19 .
             Num
                                   Why were you [or your spouse/partner] not able to attend classes, lectures,
                                   or seminars on adoption - Program/Service did not have room.
                     3 K2Q19_.
560 N18DX02
                                   Why were you [or your spouse/partner] not able to attend classes, lectures or seminars on adoption - Cost.
              Num
561 N18DX03R
             Num
                     8 K2Q19 .
                                   Why were you [or your spouse/partner] not able to attend classes,
                                   lectures or seminars on adoption - Didn't know where to find one
562 N18DX04
                     3 K2Q19 .
                                   Why were you [or your spouse/partner] not able to attend classes, lectures, or seminars on adoption - None close to us.
              Num
563 N18DX05
              Num
                     3 K2Q19 .
                                   Why were you [or your spouse/partner] not able to attend classes, lectures or seminars on adoption - Other.
```

2007 NSAP-SN Public Use File Variables

The CONTENTS Procedure

# Variable	Type Ler	n Format	Label
564 N18DA_1	Num 8	8 YES.	Other reason: time/scheduling difficulties
565 N18DA_2	Num 8	8 YES.	Other reason: not needed/a family member refused/did not follow through with it
566 N20	Num 3	3 K2Q19	Following the adoption of [S.C.], have you [or your spouse/partner] utilized any web- or internet-based resources like websites, listservs, or chat rooms for information on adoption-related issues?
567 N20A	Num 3	3 N1B.	Did you find web or internet-based services to be very helpful, somewhat helpful, or not very helpful?
568 N21	Num 3	3 K2Q19	Have you [or your spouse/partner] ever been asked by anyone to assist in helping other adoptive families?
569 N21AR	Num 8	8 N21A.	Who asked you to assist in helping other adoptive families?
570 N21AA_1	Num 8	8 YES.	Other source: other social services/public agency/NGO
571 N21B	Num 3	3 K2Q19	Following the request, did you [or your spouse/partner] assist in helping other adoptive families?
572 N22	Num 3	3 K2Q19	Has anyone ever asked you [or your spouse/partner] to recruit other adoptive families?
573 N22AR	Num 8	8 N21A.	Who asked you to assist in recruiting other adoptive families?
574 N22AA_1	Num 8	8 YES.	Other source: other social services/public agency/NGO
575 N22B	Num 3	3 K2Q19	Following the request did you [or your spouse/partner] assist in recruiting other adoptive families?
576 N23R	Num 8	8 N23R.	Respondent year of birth
577 N23AAR	Num 8	8 N23R.	Respondent spouse/partner year of birth
578 N26R	Num 8	8 N26	Last week were you working full time, working part time, temporarily not working, unemployed, retired, going to school, keeping house, or something else?
579 N27R	Num 8	8 N26	Last week was your [spouse/partner] working full time, working part time, temporarily
			not working, unemployed, retired, going to school, keeping house, or something else?
580 NSAPSNWT	Num 8	8	NSAP-SN Final Weight
581 PSUID	Num 8	8	PSU Identifier
582 YR_ADOPT	Num 8	8 YR_ADOPT.	Derived - Year of adoption

The FREQ Procedure

Derived - Sex of selected child

	SEX	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - MALE		560	55.83	560	55.83
2 - FEMALE		443	44.17	1003	100.00

TYPE OF ADOPTION (NSAP updated variable)

ADOPT_TYPE	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - INTERNATIONAL ADOPTION	225	22.43	225	22.43
2 - FOSTER ADOPTION	457	45.56	682	68.00
3 - PRIVATE ADOPTION	321	32.00	1003	100.00

Derived - Poverty Level of household (5 categories)

POVLEVEL5	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	68	6.78	68	6.78
1 - 0-100% FPL	54	5.38	122	12.16
2 - >100-200% FPL	147	14.66	269	26.82
3 - >200-300% FPL	158	15.75	427	42.57
4 - >300-400% FPL	166	16.55	593	59.12
5 - >400% FPL	410	40.88	1003	100.00

Derived - Any other children living in household

ANYSIBS	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO OTHER CHILDREN IN THE HOUSEHOLD	435	43.37	435	43.37
1 - ANY OTHER CHILDREN IN THE HOUSEHOLD	568	56.63	1003	100.00

Derived - Race and Hispanic ethnicity

HISPRACE	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - HISPANIC	114	11.37	114	11.37
2 - NON-HISPANIC WHITE	552	55.03	666	66.40
3 - NON-HISPANIC BLACK	127	12.66	793	79.06
4 - NON-HISPANIC ASIAN	114	11.37	907	90.43
5 - NON-HISPANIC OTHER	96	9.57	1003	100.00

SELECTED CHILD'S AGE IN YEARS FROM NSAP

AGEYRNSAP	Frequency	Percent	Cumulative Frequency	Cumulative Percent
3 - 2-3 YEARS	17	1.69	17	1.69
4 - 4 YEARS	17	1.69	34	3.39
5 - 5 YEARS	35	3.49	69	6.88
6 - 6 YEARS	37	3.69	106	10.57
7 - 7 YEARS	66	6.58	172	17.15
8 - 8 YEARS	63	6.28	235	23.43
9 - 9 YEARS	84	8.37	319	31.80
10 - 10 YEARS	82	8.18	401	39.98
11 - 11 YEARS	92	9.17	493	49.15
12 - 12 YEARS	86	8.57	579	57.73
13 - 13 YEARS	91	9.07	670	66.80
14 - 14 YEARS	86	8.57	756	75.37
15 - 15 YEARS	103	10.27	859	85.64
16 - 16 YEARS	82	8.18	941	93.82
17 - 17 YEARS	62	6.18	1003	100.00

The FREQ Procedure

What is your relationship to [S.C.]?

S1PREB	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - ADOPTIVE MOTHER	783	78.07	783	78.07
2 - ADOPTIVE FATHER	220	21.93	1003	100.00

From what country was (S.C.) adopted?

	S1_NR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP		778	77.57	778	77.57
1 - CHINA (MAINLAND)		43	4.29	821	81.85
2 - RUSSIAN		53	5.28	874	87.14
3 - GUATEMALA		15	1.50	889	88.63
4 - SOUTH KOREA		25	2.49	914	91.13
6 - OTHER: ASIA		40	3.99	954	95.11
7 - OTHER: EUROPE		33	3.29	987	98.40
10 - OTHER		16	1.60	1003	100.00

In what country was [S.C.]'s adoption completed? Was it in the U.S., the child's country of origin, or both?

\$1B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	778	77.57	778	77.57
1 - IN THE UNITED STATES	50	4.99	828	82.55
2 - THE CHILD'S COUNTRY OF ORIGIN	63	6.28	891	88.83
3 - BOTH THE U.S. AND THE COUNTRY OF ORIGIN	109	10.87	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

When we spoke to you for the previous survey, you and [S.C.]'s other adoptive parent lived in the same house. Is this still correct?

\$3_A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	380	37.89	380	37.89
O - NO	21	2.09	401	39.98
1 - YES	602	60.02	1003	100.00

What is your relationship to [S.C.]'s other adoptive parent who lives in this household?

\$3_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	379	37.79	379	37.79
1 - SPOUSE/HUSBAND/WIFE	583	58.13	962	95.91
2 - PARTNER/BOYFRIEND/GIRLFRIEND	15	1.50	977	97.41
3 - OTHER	2	0.20	979	97.61
4 - THERE IS NO OTHER ADOPTIVE PARENT IN THIS HOUSEHOLD	24	2.39	1003	100.00

Were you married to [S.C.]'s other adoptive parent at the time of [S.C.]' adoption?

	\$4_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE :	SKIP	379	37.79	379	37.79
M - MISSING IN	ERROR	1	0.10	380	37.89
0 - NO		39	3.89	419	41.77
1 - YES		584	58.23	1003	100.00

The FREQ Procedure

Are you still married to this person?

S4A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
O - NO	11	1.10	991	98.80
1 - YES	12	1.20	1003	100.00

Before you [and your spouse/partner] adopted [S.C.], were you [or your spouse/partner] already related to [him/her]?

	S6	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		849	84.65	849	84.65
1 - YES		154	15.35	1003	100.00

 $\label{lem:considered} \text{Did you [or your spouse/partner] know [S.C.] before [you considered adopting [him/her] / being matched with [him/her] for adoption]? }$

	S7	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		710	70.79	710	70.79
1 - YES		293	29.21	1003	100.00

Were you [or your spouse/partner] [S.C.]'s foster parent at the time you began the adoption process?

\$8	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	546	54.44	546	54.44
M - MISSING IN ERROR	20	1.99	566	56.43
0 - NO	143	14.26	709	70.69
1 - YES	294	29.31	1003	100.00

Are you currently a licensed foster parent?

S8A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	709	70.69	709	70.69
0 - NO	213	21.24	922	91.92
1 - YES	77	7.68	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

In the past three months have you cared for foster children in your home?

S8B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	926	92.32	926	92.32
O - NO	47	4.69	973	97.01
1 - YES	30	2.99	1003	100.00

At any time before the adoption was finalized, were you [or your spouse/partner] [S.C.]'s foster parent?

\$9	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	860	85.74	860	85.74
O - NO	105	10.47	965	96.21
1 - YES	38	3.79	1003	100.00

The FREQ Procedure

Did you [or your spouse/partner] become a foster parent with the intent to adopt a child from the foster care system?

\$1	0 Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	671	66.90	671	66.90
0 - NO	153	15.25	824	82.15
1 - YES	177	17.65	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Months between placement and adoption became case goal

S11 MONTHS	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	677	67.50	677	67.50
0	52	5.18	729	72.68
1	10	1.00	739	73.68
2	7	0.70	746	74.38
3	4	0.40	750	74.78
4	5	0.50	755	75.27
5	1	0.10	756	75.37
6	21	2.09	777	77.47
7	7	0.70	784	78.17
. 8	3	0.30	787	78.46
9	3	0.30	790	78.76
11	3	0.30	793	79.06
12	35	3.49	828	82.55
13	1	0.10	829	82.65
14	5	0.50	834	83.15
15	2	0.20	836	83.35
16	2	0.20	838	83.55
18	23	2.29	861	85.84
19	1	0.10	862	85.94
22	1	0.10	863	86.04
23	1	0.10	864	86.14
24	52	5.18	916	91.33
27	2	0.20	918	91.53
28	1	0.10	919	91.63
29	1	0.10	920	91.72
30	12	1.20	932	92.92
32	1	0.10	933	93.02
36	29	2.89	962	95.91
42	4	0.40	966	96.31
48	16	1.60	982	97.91
54	1	0.10	983	98.01
59	1	0.10	984	98.11
60 - 60+	19	1.89	1003	100.00

Did you [or your spouse/partner] feel pressured by the child welfare agency to adopt [S.C.]?

\$12	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	671	66.90	671	66.90
O - NO	318	31.70	989	98.60
1 - YES	14	1.40	1003	100.00

Were other options such as [continuing as / becoming] [his/her] foster parent or becoming [his/her] legal guardian discussed with you?

S13	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	671	66.90	671	66.90
O - NO	176	17.55	847	84.45
1 - YES	147	14.66	994	99.10
6 - DON'T KNOW	9	0.90	1003	100.00

The FREQ Procedure

Was the public child welfare agency, that is, the state or county department of social services involved in the adoption of [S.C.]?

	S14A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	546	54.44	546	54.44
M - MISSING IN	ERROR	20	1.99	566	56.43
0 - NO		97	9.67	663	66.10
1 - YES		335	33.40	998	99.50
6 - DON'T KNOW		5	0.50	1003	100.00

Was a private agency under contract with public child welfare agency involved in the adoption of [S.C.]?

	S14B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	546	54.44	546	54.44
M - MISSING IN	ERROR	20	1.99	566	56.43
0 - NO		291	29.01	857	85.44
1 - YES		140	13.96	997	99.40
6 - DON'T KNOW		6	0.60	1003	100.00

Was [S.C.]'s adoption an interstate adoption?

S	15 Frequency	y Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	546	54.44	546	54.44
M - MISSING IN ERRO	R 20	1.99	566	56.43
0 - NO	326	32.50	892	88.93
1 - YES	109	10.87	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Overall, was your [and your spouse's/partner's] experience with your adoption agency or attorney very positive, positive, mixed, negative, or very negative?

C41	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - VERY POSITIVE	516	51.45	516	51.45
2 - POSITIVE	339	33.80	855	85.24
3 - MIXED	109	10.87	964	96.11
4 - NEGATIVE	20	1.99	984	98.11
5 - VERY NEGATIVE	8	0.80	992	98.90
6 - THERE WAS NO ATTORNEY OR AGENCY	10	1.00	1002	99.90
97 - REFUSED	1	0.10	1003	100.00

Child age when adoption finalized

C1AR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	7	0.70	7	0.70
1 - 0 YEARS	320	31.90	327	32.60
2 - 1 YEAR	172	17.15	499	49.75
3 - 2 YEARS	113	11.27	612	61.02
4 - 3 YEARS	94	9.37	706	70.39
5 - 4-5 YEARS	135	13.46	841	83.85
6 - 6-7 YEARS	60	5.98	901	89.83
7 - 8-10 YEARS	72	7.18	973	97.01
8 - 11+ YEARS	30	2.99	1003	100.00

The FREQ Procedure

Child age when placed in home

C1BR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	1	0.10	1	0.10
1 - 0 YEARS	588	58.62	589	58.72
2 - 1 YEAR	121	12.06	710	70.79
3 - 2-3 YEARS	135	13.46	845	84.25
4 - 4-5 YEARS	72	7.18	917	91.43
5 - 6-8 YEARS	59	5.88	976	97.31
6 - 9+ YEARS	27	2.69	1003	100.00

Has [S.C.] ever lived with [his/her] birth family?

	C1C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO		545	54.34	545	54.34
1 - YES		435	43.37	980	97.71
6 - DON'T KNOW		23	2.29	1003	100.00

Just before being placed with you, where did [S.C.] live?

C2_NR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - FOSTER FAMILY	268	26.72	268	26.72
3 - BIRTH PARENTS	162	16.15	430	42.87
4 - OTHER BIRTH FAMILY	42	4.19	472	47.06
5 - GROUP FOSTER HOME	49	4.89	521	51.94
7 - INSTITUTION/ORPHANAGE	158	15.75	679	67.70
8 - HOSPITAL/CLINIC	203	20.24	882	87.94
9 - OTHER	37	3.69	919	91.63
10 - ADOPTED AT BIRTH	69	6.88	988	98.50
96 - DON'T KNOW	14	1.40	1002	99.90
97 - REFUSED	1	0.10	1003	100.00

To your knowledge, does [S.C.] have birth siblings, that is, brothers or sisters of [S.C.], including half siblings?

	C4_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO		115	11.47	115	11.47
1 - YES		747	74.48	862	85.94
6 - DON'T KNOW		139	13.86	1001	99.80
7 - REFUSED		2	0.20	1003	100.00

Have any of [S.C.]'s birth siblings including half siblings ever been available for adoption?

	C5_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	SKIP	256	25.52	256	25.52
0 - NO		300	29.91	556	55.43
1 - YES		364	36.29	920	91.72
6 - DON'T KNOW		83	8.28	1003	100.00

Were you [or your spouse/partner] interested in adopting any of [S.C.]'s birth siblings?

	C6_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	SKIP	639	63.71	639	63.71
0 - NO		110	10.97	749	74.68
1 - YES		253	25.22	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

The FREQ Procedure

Have you adopted any of [S.C.]'s birth siblings?

C7_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	750	74.78	750	74.78
1 - YES	185	18.44	935	93.22
2 - NO	67	6.68	1002	99.90
3 - NOT YET, BUT PLANNING TO OR IN THE PROCESS OF ADOPTING	1	0.10	1003	100.00

Do you [or your spouse/partner] have biological children?

	C8_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO		486	48.45	486	48.45
1 - YES		517	51.55	1003	100.00

[Was this child / Were any of these children] born before [S.C.]'s adoption?

C8I	3 Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	486	48.45	486	48.45
0 - NO	63	6.28	549	54.74
1 - YES	454	45.26	1003	100.00

Do you [or your spouse/partner] have adopted children other than [S.C.] [and [S.C.]'s birth siblings]?

	C9_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		597	59.52	597	59.52
1 - YES		405	40.38	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

[Was this child / Were any of these children] adopted before [S.C.]?

C9B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	598	59.62	598	59.62
O - NO	175	17.45	773	77.07
1 - YES	230	22.93	1003	100.00

[Was this child / Were any of these children] adopted at the same time as [S.C.]?

C9D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	784	78.17	784	78.17
0 - NO	179	17.85	963	96.01
1 - YES	40	3.99	1003	100.00

Did you [or your spouse/partner] adopt the other child or children through the United States foster care system?

C10_NX	01 Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	598	59.62	598	59.62
0 - NO	267	26.62	865	86.24
1 - YES	130	12.96	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

The FREQ Procedure

Did you [or your spouse/partner] adopt the other child or children through a private adoption in the United States?

C10	0_NX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE :	SKIP	598	59.62	598	59.62
0 - NO		219	21.83	817	81.46
1 - YES		178	17.75	995	99.20
6 - DON'T KNOW		8	0.80	1003	100.00

Did you [or your spouse/partner] adopt the other child or children through an international adoption?

C10_	NX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SH	(IP	598	59.62	598	59.62
0 - NO		285	28.41	883	88.04
1 - YES		112	11.17	995	99.20
6 - DON'T KNOW		8	0.80	1003	100.00

Were the other children adopted from the same country as [S.C.]?

	C11_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	908	90.53	908	90.53
0 - NO		20	1.99	928	92.52
1 - YES		75	7.48	1003	100.00

[My spouse/partner and I were / I was] unable to have a biological child

	C12AR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		473	47.16	473	47.16
1 - YES		521	51.94	994	99.10
6 - DON'T KNOW		5	0.50	999	99.60
7 - REFUSED		4	0.40	1003	100.00

[My spouse/partner and I / I] wanted to expand [our/my] family

	C12BR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO		257	25.62	257	25.62
1 - YES		740	73.78	997	99.40
6 - DON'T KNOW		2	0.20	999	99.60
7 - REFUSED		4	0.40	1003	100.00

[My spouse/partner and I / I] wanted a sibling for another child

C12CR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	336	33.50	336	33.50
O - NO	441	43.97	777	77.47
1 - YES	225	22.43	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

[We/I] already adopted [S.C.]'s sibling

	C12ER	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	817	81.46	817	81.46
0 - NO		132	13.16	949	94.62
1 - YES		53	5.28	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

The FREQ Procedure

[My spouse/partner and I / I] wanted to adopt a child in need of a permanent family

	C12FR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		174	17.35	174	17.35
1 - YES		825	82.25	999	99.60
6 - DON'T KNOW		1	0.10	1000	99.70
7 - REFUSED		3	0.30	1003	100.00

Was there another reason that I did not mention?

	C12G	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		602	60.02	602	60.02
1 - YES		397	39.58	999	99.60
6 - DON'T KNOW		1	0.10	1000	99.70
7 - REFUSED		3	0.30	1003	100.00

Other reason: had already formed a bond/loved the child

C12GA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	939	93.62	939	93.62
1 - YES	64	6.38	1003	100.00

Other reason: related to child prior to adoption $% \left(1\right) =\left(1\right) \left(1$

C12GA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	953	95.01	953	95.01
1 - YES	50	4.99	1003	100.00

Other reason: respondent loves children

C12GA_3	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	982	97.91	982	97.91
1 - YES	21	2.09	1003	100.00

Other reason: to help child avoid foster care

(C12GA_4	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	987	98.40	987	98.40
1 - YES		16	1.60	1003	100.00

Do any of your [or your spouse's/partner's] relatives have adopted children?

	C13_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		602	60.02	602	60.02
1 - YES		397	39.58	999	99.60
6 - DON'T KNOW		4	0.40	1003	100.00

The FREQ Procedure

Did any of your [or your spouse's/partner's] relatives adopt in the same manner as you did?

C13/	A Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	606	60.42	606	60.42
O - NO	175	17.45	781	77.87
1 - YES	194	19.34	975	97.21
6 - DON'T KNOW	28	2.79	1003	100.00

Do any of your [or your spouse's/partner's] friends or close acquaintances have adopted children?

	C14	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		297	29.61	297	29.61
1 - YES		702	69.99	999	99.60
6 - DON'T KNOW		4	0.40	1003	100.00

Did any of your [or your spouse's/partner's] friends or acquaintances adopt in the same manner as you did?

C	14A Freq	uency Pe		Lative Cumula quency Pero	
L - LEGITIMATE SKI	Р	301 3	0.01	301 30.	.01
0 - NO		149 1	4.86	450 44	.87
1 - YES		529 5	2.74	979 97	.61
6 - DON'T KNOW		24	2.39	1003 100	.00

Were you adopted as a child?

	C15_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		969	96.61	969	96.61
1 - YES		34	3.39	1003	100.00

Respondent age at adoption in months $% \left(1\right) =\left(1\right) \left(1\right) \left($

C15A_MONTHS	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	969	96.61	969	96.61
0	8	0.80	977	97.41
3	1	0.10	978	97.51
6	3	0.30	981	97.81
12	1	0.10	982	97.91
36	3	0.30	985	98.21
48	1	0.10	986	98.31
72	3	0.30	989	98.60
84	2	0.20	991	98.80
90	1	0.10	992	98.90
96	1	0.10	993	99.00
120 - 120+	10	1.00	1003	100.00

Was your [spouse/partner] adopted as a child?

	C15B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SK	ΙP	405	40.38	405	40.38
M - MISSING IN ER	ROR	1	0.10	406	40.48
0 - NO		580	57.83	986	98.31
1 - YES		17	1.69	1003	100.00

The FREQ Procedure

Respondent spouse/partner age at adoption in months

C15C_MONTHS	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	987	98.40	987	98.40
0	3	0.30	990	98.70
1	1	0.10	991	98.80
2	1	0.10	992	98.90
3	2	0.20	994	99.10
4	1	0.10	995	99.20
6	2	0.20	997	99.40
30	1	0.10	998	99.50
48 - 48+	5	0.50	1003	100.00

Do you [or your spouse/partner] have siblings who were adopted?

	C16_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		913	91.03	913	91.03
1 - YES		90	8.97	1003	100.00

Derived - Child race/ethnicity differs from parent(s)

TRANSRACE	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	6	0.60	6	0.60
O - CHILD RACE/ETHNICITY DOES NOT DIFFER FROM PARENT(S)	615	61.32	621	61.91
1 - CHILD RACE DIFFERS FROM BOTH PARENTS/SINGLE PARENT	382	38.09	1003	100.00

Since the time of the adoption, has your family lived in or moved to a racially or culturally diverse neighborhood?

C18A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	589	58.72	589	58.72
O - NO	234	23.33	823	82.05
1 - YES	179	17.85	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Since the time of the adoption, has your family lived or moved where [S.C.] can attend schools that are racially or culturally diverse?

C18B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	589	58.72	589	58.72
O - NO	182	18.15	771	76.87
1 - YES	232	23.13	1003	100.00

Since the time of the adoption, has your family been involved in religious, social, tribal or recreational groups or activities that reflect [his/her] race or ethnicity or culture?

C18	C Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	589	58.72	589	58.72
O - NO	178	17.75	767	76.47
1 - YES	235	23.43	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Since the time of the adoption, has your family chosen multiracial or multicultural entertainment such as movies or plays that reflect [his/her] race or ethnicity or culture?

			C18D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L	-	LEGITIMATE	SKIP	589	58.72	589	58.72
0	-	NO		89	8.87	678	67.60
1	-	YES		324	32.30	1002	99.90
6	-	DON'T KNOW		1	0.10	1003	100.00

Since the time of the adoption, has your family chosen child care providers, teachers or other role models similar to [his/her] race or ethnicity?

C18E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	589	58.72	589	58.72
O - NO	211	21.04	800	79.76
1 - YES	202	20.14	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Since the time of the adoption, has your family participated in racial/ethnic holidays that reflect [his/her] race or ethnicity or culture?

C18F	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	589	58.72	589	58.72
O - NO	165	16.45	754	75.17
1 - YES	247	24.63	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Since the time of the adoption, has your family had friends who share [his/her] racial or ethnic or cultural background?

0400	F	D	Cumulative	Cumulative
C18G	Frequency	Percent	Frequency	Percent
L - LEGITIMATE SKIP	589	58.72	589	58.72
0 - NO	105	10.47	694	69.19
1 - YES	308	30.71	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Since the time of the adoption, has your family prepared foods associated with [his/her] racial or ethnic or cultural background?

C1:	8H Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	589	58.72	589	58.72
0 - NO	108	10.77	697	69.49
1 - YES	306	30.51	1003	100.00

Since the time of the adoption, has your family read books to your child about [his/her] racial or ethnic or cultural group or heritage?

C18	BI Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	589	58.72	589	58.72
0 - NO	44	4.39	633	63.11
1 - YES	368	36.69	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

Would you [or your spouse/partner] encourage others to adopt transracially or transculturally?

C19_N	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	589	58.72	589	58.72
O - NO	11	1.10	600	59.82
1 - YES	397	39.58	997	99.40
6 - DON'T KNOW	6	0.60	1003	100.00

At the time you began thinking about adopting a child which of the following types of adoption did you consider - Adoption from U.S. foster care.

		C21A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 -	- NO		418	41.67	418	41.67
1 -	- YES		580	57.83	998	99.50
6 -	- DON'T KNOW		5	0.50	1003	100.00

At the time you began thinking about adopting a child which of the following types of adoption did you consider - International adoption.

	C21B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		551	54.94	551	54.94
1 - YES		450	44.87	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

At the time you began thinking about adopting a child which of the following types of adoption did you consider - Private U.S. adoption.

	C21C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		482	48.06	482	48.06
1 - YES		519	51.74	1001	99.80
6 - DON'T KNOW		1	0.10	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Domestic Adoption - Thought [I/we] would get a child sooner

C	22AR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SK	ΊΡ	792	78.96	792	78.96
0 - NO		100	9.97	892	88.93
1 - YES		109	10.87	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C22AAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	894	89.13	894	89.13
1 - VERY IMPORTANT REASON	59	5.88	953	95.01
2 - SOMEWHAT IMPORTANT REASON	45	4.49	998	99.50
3 - NOT IMPORTANT REASON	5	0.50	1003	100.00

Domestic Adoption - Didn't think [I/we] would qualify to adopt a child internationally.

C22B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	792	78.96	792	78.96
M - MISSING IN ERROR	1	0.10	793	79.06
O - NO	199	19.84	992	98.90
1 - YES	11	1.10	1003	100.00

The FREQ Procedure

Was this a very important reason, somewhat important reason, or not an important reason?

C22BA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	992	98.90	992	98.90
1 - VERY IMPORTANT REASON	5	0.50	997	99.40
2 - SOMEWHAT IMPORTANT REASON	3	0.30	1000	99.70
3 - NOT IMPORTANT REASON	3	0.30	1003	100.00

Domestic Adoption - Adoption workers or lawyer discouraged [me/us] from trying to adopt a child from the foster care system.

	C22C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	792	78.96	792	78.96
M - MISSING IN	ERROR	1	0.10	793	79.06
0 - NO		205	20.44	998	99.50
1 - YES		5	0.50	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C22CA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	998	99.50	998	99.50
1 - VERY IMPORTANT REASON	5	0.50	1003	100.00

Domestic Adoption - Wanted an infant.

	C22D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	E SKIP	792	78.96	792	78.96
0 - NO		43	4.29	835	83.25
1 - YES		167	16.65	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C22DA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	836	83.35	836	83.35
1 - VERY IMPORTANT REASON	116	11.57	952	94.92
2 - SOMEWHAT IMPORTANT REASON	43	4.29	995	99.20
3 - NOT IMPORTANT REASON	7	0.70	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Domestic Adoption - Wanted a healthy child

	C22ER	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	792	78.96	792	78.96
M - MISSING IN	ERROR	1	0.10	793	79.06
0 - NO		80	7.98	873	87.04
1 - YES		129	12.86	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

The FREQ Procedure

Was this a very important reason, somewhat important reason, or not an important reason?

C22EAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	874	87.14	874	87.14
1 - VERY IMPORTANT REASON	72	7.18	946	94.32
2 - SOMEWHAT IMPORTANT REASON	52	5.18	998	99.50
3 - NOT IMPORTANT REASON	5	0.50	1003	100.00

Domestic Adoption - Wanted a child the same race/ethnicity as our family.

	C22F	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	792	78.96	792	78.96
M - MISSING IN	ERROR	1	0.10	793	79.06
0 - NO		133	13.26	926	92.32
1 - YES		76	7.58	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C22FA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	927	92.42	927	92.42
1 - VERY IMPORTANT REASON	24	2.39	951	94.82
2 - SOMEWHAT IMPORTANT REASON	46	4.59	997	99.40
3 - NOT IMPORTANT REASON	6	0.60	1003	100.00

Domestic Adoption - Wanted a closed adoption, that is, no information exchange or contact with child's birth family.

C22G	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	792	78.96	792	78.96
O - NO	178	17.75	970	96.71
1 - YES	31	3.09	1001	99.80
6 - DON'T KNOW	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C22GA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	972	96.91	972	96.91
1 - VERY IMPORTANT REASON	18	1.79	990	98.70
2 - SOMEWHAT IMPORTANT REASON	13	1.30	1003	100.00

Domestic Adoption - Previously adopted another child through a private, domestic adoption

C2	2HR Frequenc	y Percent	Cumulative Frequency	
L - LEGITIMATE SKI	P 792	78.96	792	78.96
M - MISSING IN ERR	OR 1	0.10	793	79.06
0 - NO	155	15.45	948	94.52
1 - YES	54	5.38	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Was this a very important reason, somewhat important reason, or not an important reason?

C22HAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	949	94.62	949	94.62
1 - VERY IMPORTANT REASON	22	2.19	971	96.81
2 - SOMEWHAT IMPORTANT REASON	24	2.39	995	99.20
3 - NOT IMPORTANT REASON	8	0.80	1003	100.00

Domestic Adoption - Did you have another reason for choosing a private, domestic adoption that I did not mention?

	C22I	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SK	ΙP	792	78.96	792	78.96
M - MISSING IN ER	ROR	1	0.10	793	79.06
0 - NO		98	9.77	891	88.83
1 - YES		112	11.17	1003	100.00

Other reason: to avoid travel/help an American child

C22	!IA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SK	ΊΡ	998	99.50	998	99.50
1 - YES		5	0.50	1003	100.00

Other reason: less cost/lower risk

C22IA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	994	99.10	994	99.10
1 - YES	9	0.90	1003	100.00

Other reason: wanted open adoption/had prior relationship with child

C22IA_3	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	967	96.41	967	96.41
1 - YES	36	3.59	1003	100.00

Other reason: preferred that agency

C22IA_4	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	988	98.50	988	98.50
1 - YES	15	1.50	1003	100.00

C22IAA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	891	88.83	891	88.83
1 - VERY IMPORTANT REASON	90	8.97	981	97.81
2 - SOMEWHAT IMPORTANT REASON	18	1.79	999	99.60
3 - NOT IMPORTANT REASON	3	0.30	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

International Adoption - Interest in a particular culture

C23A_NR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
O - NO	140	13.96	927	92.42
1 - YES	74	7.38	1001	99.80
6 - DON'T KNOW	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23AAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	929	92.62	929	92.62
1 - VERY IMPORTANT REASON	20	1.99	949	94.62
2 - SOMEWHAT IMPORTANT REASON	48	4.79	997	99.40
3 - NOT IMPORTANT REASON	6	0.60	1003	100.00

International Adoption - Adoption workers or lawyer encouraged [me/us] to adopt internationally.

	C23B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	787	78.46	787	78.46
0 - NO		186	18.54	973	97.01
1 - YES		29	2.89	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23BA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
1 - VERY IMPORTANT REASON	11	1.10	985	98.21
2 - SOMEWHAT IMPORTANT REASON	11	1.10	996	99.30
3 - NOT IMPORTANT REASON	7	0.70	1003	100.00

International Adoption - Adoption workers or lawyer discouraged [me/us] from trying to adopt a child from the U.S.

	C23C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	SKIP	787	78.46	787	78.46
0 - NO		196	19.54	983	98.01
1 - YES		19	1.89	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

C23CA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	984	98.11	984	98.11
1 - VERY IMPORTANT REASON	10	1.00	994	99.10
2 - SOMEWHAT IMPORTANT REASON	7	0.70	1001	99.80
3 - NOT IMPORTANT REASON	2	0.20	1003	100.00

The FREQ Procedure

International Adoption - Wanted an infant

C23DR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
O - NO	99	9.87	886	88.33
1 - YES	116	11.57	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23DAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	887	88.43	887	88.43
1 - VERY IMPORTANT REASON	75	7.48	962	95.91
2 - SOMEWHAT IMPORTANT REASON	39	3.89	1001	99.80
3 - NOT IMPORTANT REASON	2	0.20	1003	100.00

International Adoption - Wanted a closed adoption, that is, no information exchange or contact with child's birth family

C23ER	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
O - NO	94	9.37	881	87.84
1 - YES	120	11.96	1001	99.80
6 - DON'T KNOW	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23EAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	883	88.04	883	88.04
1 - VERY IMPORTANT REASON	69	6.88	952	94.92
2 - SOMEWHAT IMPORTANT REASON	40	3.99	992	98.90
3 - NOT IMPORTANT REASON	11	1.10	1003	100.00

International Adoption - Thought it would be too difficult to adopt a child from the U.S.

C23FR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
0 - NO	78	7.78	865	86.24
1 - YES	136	13.56	1001	99.80
6 - DON'T KNOW	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

C23FAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	867	86.44	867	86.44
1 - VERY IMPORTANT REASON	87	8.67	954	95.11
2 - SOMEWHAT IMPORTANT REASON	48	4.79	1002	99.90
3 - NOT IMPORTANT REASON	1	0.10	1003	100.00

The FREQ Procedure

International Adoption - Didn't think [I/we] would qualify to adopt a child from the U.S

C23G	R Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
O - NO	171	17.05	958	95.51
1 - YES	41	4.09	999	99.60
6 - DON'T KNOW	3	0.30	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23GAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	962	95.91	962	95.91
1 - VERY IMPORTANT REASON	25	2.49	987	98.40
2 - SOMEWHAT IMPORTANT REASON	14	1.40	1001	99.80
3 - NOT IMPORTANT REASON	2	0.20	1003	100.00

International Adoption - Thought [I/we] would get a child sooner.

	C23HR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	787	78.46	787	78.46
0 - NO		85	8.47	872	86.94
1 - YES		126	12.56	998	99.50
6 - DON'T KNOW		4	0.40	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23HAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	877	87.44	877	87.44
1 - VERY IMPORTANT REASON	78	7.78	955	95.21
2 - SOMEWHAT IMPORTANT REASON	46	4.59	1001	99.80
3 - NOT IMPORTANT REASON	2	0.20	1003	100.00

International Adoption - Not interested in the children available for adoption in the U.S.

C23	BI Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
0 - NO	182	18.15	969	96.61
1 - YES	30	2.99	999	99.60
6 - DON'T KNOW	3	0.30	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

C23IA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	973	97.01	973	97.01
1 - VERY IMPORTANT REASON	11	1.10	984	98.11
2 - SOMEWHAT IMPORTANT REASON	11	1.10	995	99.20
3 - NOT IMPORTANT REASON	8	0.80	1003	100.00

The FREQ Procedure

Why did you think that children available for adoption in the U.S. would not be the best option for you?

C23IAAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	986	98.31	986	98.31
1 - LEGAL ISSUES/FEAR OF BIRTH PARENTS CHANGING THEIR MINDS	6	0.60	992	98.90
2 - CHILD RACE/ETHNICITY OR AGE CONSIDERATIONS	7	0.70	999	99.60
3 - BIRTH PARENT DRUG ABUSE/CHILD SPECIAL NEEDS	4	0.40	1003	100.00

International Adoption - Previously adopted another child internationally.

С23К	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
O - NO	170	16.95	957	95.41
1 - YES	44	4.39	1001	99.80
6 - DON'T KNOW	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23KA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	959	95.61	959	95.61
1 - VERY IMPORTANT REASON	37	3.69	996	99.30
2 - SOMEWHAT IMPORTANT REASON	4	0.40	1000	99.70
3 - NOT IMPORTANT REASON	3	0.30	1003	100.00

International Adoption - Did you have another reason for choosing an international adoption that I did not mention?

C23L	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
O - NO	73	7.28	860	85.74
1 - YES	142	14.16	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Other reason: wanted a Chinese girl

C23LA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
1 - YES	2	0.20	1003	100.00

Other reason: wanted to bring a child to the U.S.

	C23LA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	1002	99.90	1002	99.90
1 - YES		1	0.10	1003	100.00

Other reason: saw a great need in that country

C23LA_3	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	994	99.10	994	99.10
1 - YES	9	0.90	1003	100.00

The FREQ Procedure

Other reason: would not qualify in the U.S. due to being a single parent

C23LA_4	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	999	99.60	999	99.60
1 - YES	4	0.40	1003	100.00

Other reason: had friends who adopted that way

C23LA_5	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	998	99.50	998	99.50
1 - YES	5	0.50	1003	100.00

Other reason: child is same race/ethnicity or national origin as parent(s)

C23LA_6	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	990	98.70	990	98.70
1 - YES	13	1.30	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C23LB	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	861	85.84	861	85.84
1 - VERY IMPORTANT REASON	122	12.16	983	98.01
2 - SOMEWHAT IMPORTANT REASON	17	1.69	1000	99.70
3 - NOT IMPORTANT REASON	2	0.20	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Foster Care Adoption - Thought [I/we] would get a child sooner.

	C24A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	750	74.78	750	74.78
0 - NO		160	15.95	910	90.73
1 - YES		91	9.07	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C24AA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	912	90.93	912	90.93
1 - VERY IMPORTANT REASON	27	2.69	939	93.62
2 - SOMEWHAT IMPORTANT REASON	56	5.58	995	99.20
3 - NOT IMPORTANT REASON	8	0.80	1003	100.00

Foster Care Adoption - Adopting from U.S. foster care was less costly than adopting internationally or privately.

C	C24B Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKI	.P 750	74.78	750	74.78
M - MISSING IN ERF	ROR 18	1.79	768	76.57
0 - NO	106	10.57	874	87.14
1 - YES	118	11.76	992	98.90
6 - DON'T KNOW	11	1.10	1003	100.00

The FREQ Procedure

Was this a very important reason, somewhat important reason, or not an important reason?

C24BA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	885	88.24	885	88.24
1 - VERY IMPORTANT REASON	34	3.39	919	91.63
2 - SOMEWHAT IMPORTANT REASON	66	6.58	985	98.21
3 - NOT IMPORTANT REASON	18	1.79	1003	100.00

Foster Care Adoption - Wanted an older child.

	C24C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	750	74.78	750	74.78
M - MISSING IN	ERROR	18	1.79	768	76.57
0 - NO		202	20.14	970	96.71
1 - YES		30	2.99	1000	99.70
6 - DON'T KNOW		3	0.30	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C24CA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	973	97.01	973	97.01
1 - VERY IMPORTANT REASON	13	1.30	986	98.31
2 - SOMEWHAT IMPORTANT REASON	15	1.50	1001	99.80
3 - NOT IMPORTANT REASON	2	0.20	1003	100.00

Foster Care Adoption - Wanted a child with special needs.

C24D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	750	74.78	750	74.78
M - MISSING IN ERROR	18	1.79	768	76.57
O - NO	192	19.14	960	95.71
1 - YES	38	3.79	998	99.50
6 - DON'T KNOW	5	0.50	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C24DA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	965	96.21	965	96.21
1 - VERY IMPORTANT REASON	11	1.10	976	97.31
2 - SOMEWHAT IMPORTANT REASON	19	1.89	995	99.20
3 - NOT IMPORTANT REASON	8	0.80	1003	100.00

Foster Care Adoption - Previously adopted another child through the foster care system.

	C24E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	750	74.78	750	74.78
M - MISSING IN	ERROR	18	1.79	768	76.57
0 - NO		200	19.94	968	96.51
1 - YES		32	3.19	1000	99.70
6 - DON'T KNOW		3	0.30	1003	100.00

The FREQ Procedure

Was this a very important reason, somewhat important reason, or not an important reason?

C24EA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	971	96.81	971	96.81
1 - VERY IMPORTANT REASON	17	1.69	988	98.50
2 - SOMEWHAT IMPORTANT REASON	9	0.90	997	99.40
3 - NOT IMPORTANT REASON	6	0.60	1003	100.00

Foster Care Adoption - Did you have another reason for choosing to adopt a child from foster care that I did not mention?

	C24F	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SK	ΙP	750	74.78	750	74.78
0 - NO		110	10.97	860	85.74
1 - YES		141	14.06	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

Other reason: wanted to help/provide a home for a child in need

C24FA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	954	95.11	954	95.11
1 - YES	49	4.89	1003	100.00

Was this a very important reason, somewhat important reason, or not an important reason?

C24FAA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	862	85.94	862	85.94
1 - VERY IMPORTANT REASON	114	11.37	976	97.31
2 - SOMEWHAT IMPORTANT REASON	21	2.09	997	99.40
3 - NOT IMPORTANT REASON	4	0.40	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

At the time of the adoption, did the adoption agency or attorney offer any options for an open adoption?

C25	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	323	32.20	323	32.20
0 - NO	351	35.00	674	67.20
1 - YES	319	31.80	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

Were you [or your spouse/partner] required to provide post-adoption reports to the child's country of origin?

C25A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	787	78.46	787	78.46
0 - NO	43	4.29	830	82.75
1 - YES	170	16.95	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

The FREQ Procedure

Number of post-adoption reports filed

C25AAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	833	83.05	833	83.05
0	3	0.30	836	83.35
1	12	1.20	848	84.55
2	28	2.79	876	87.34
3	51	5.08	927	92.42
4	24	2.39	951	94.82
5	11	1.10	962	95.91
6	8	0.80	970	96.71
7	5	0.50	975	97.21
8	5	0.50	980	97.71
9	2	0.20	982	97.91
10	5	0.50	987	98.40
12	2	0.20	989	98.60
13	1	0.10	990	98.70
16	1	0.10	991	98.80
17	1	0.10	992	98.90
20 - 20+	7	0.70	999	99.60
96 - DON'T KNOW	4	0.40	1003	100.00

 $\hbox{Will you [or your spouse/partner] be providing post-adoption reports in the future?}\\$

	C25AB	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SH	(IP	833	83.05	833	83.05
0 - NO		133	13.26	966	96.31
1 - YES		35	3.49	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

Was there any kind of pre-adoption agreement in which you agreed to provide information about [S.C.] to one or both of [his/her] birth parents or other birth family members?

	C26	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LE	GITIMATE SKIP	323	32.20	323	32.20
0 - NC)	437	43.57	760	75.77
1 - YE	S	235	23.43	995	99.20
6 - DC	ON'T KNOW	6	0.60	1001	99.80
7 - RE	FUSED	2	0.20	1003	100.00

Was this agreement written or verbal?

	C26A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SH	(IP	768	76.57	768	76.57
1 - WRITTEN		93	9.27	861	85.84
2 - VERBAL		103	10.27	964	96.11
3 - BOTH		35	3.49	999	99.60
6 - DON'T KNOW		4	0.40	1003	100.00

Was information ever provided to them?

C27	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	768	76.57	768	76.57
O - NO	9	0.90	777	77.47
1 - YES	223	22.23	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

The FREQ Procedure

Since the time of [S.C.]'s adoption, have you, [your spouse/partner,] or [S.C.] ever had contact with [his/her] birth family members?

C28	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	323	32.20	323	32.20
O - NO	389	38.78	712	70.99
1 - YES	289	28.81	1001	99.80
6 - DON'T KNOW	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Since the time of [S.C.]'s adoption how often has [S.C.] had contact with [his/her] birth parents?

C28A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	714	71.19	714	71.19
1 - NEVER	127	12.66	841	83.85
2 - ONCE A YEAR OR EVERY FEW YEARS	91	9.07	932	92.92
3 - A FEW TIMES A YEAR	49	4.89	981	97.81
4 - ABOUT EVERY MONTH OR MORE	18	1.79	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

How comfortable are you [and your spouse/partner] with [S.C.] having contact with [his/her] birth parents?

C28B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	845	84.25	845	84.25
1 - VERY COMFORTABLE	79	7.88	924	92.12
2 - SOMEWHAT COMFORTABLE	40	3.99	964	96.11
3 - SOMEWHAT UNCOMFORTABLE	26	2.59	990	98.70
4 - VERY UNCOMFORTABLE	13	1.30	1003	100.00

Since the time of [S.C.]'s adoption, how often has [S.C.] had contact with birth brothers or sisters who do not live in your household?

C29	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	762	75.97	762	75.97
1 - NEVER	121	12.06	883	88.04
2 - ONCE A YEAR OR EVERY FEW YEARS	61	6.08	944	94.12
3 - A FEW TIMES A YEAR	34	3.39	978	97.51
4 - ABOUT EVERY MONTH OR MORE	23	2.29	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How comfortable are you [and your spouse/partner] with [S.C.] having contact with [his/her] birth brothers or sisters who do not live in your household?

	C29A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L -	LEGITIMATE SKIP	885	88.24	885	88.24
1 -	VERY COMFORTABLE	78	7.78	963	96.01
2 -	SOMEWHAT COMFORTABLE	30	2.99	993	99.00
3 -	SOMEWHAT UNCOMFORTABLE	7	0.70	1000	99.70
4 -	VERY UNCOMFORTABLE	3	0.30	1003	100.00

Since the time of [S.C.]'s adoption, how often has [S.C.] had contact with other birth relatives such as birth grandparents, birth aunts and uncles, etc.?

C30	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	714	71.19	714	71.19
1 - NEVER	180	17.95	894	89.13
2 - ONCE A YEAR OR EVERY FEW YEARS	49	4.89	943	94.02
3 - A FEW TIMES A YEAR	40	3.99	983	98.01
4 - ABOUT EVERY MONTH OR MORE	19	1.89	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

How comfortable are you [and your spouse/partner] with [S.C.] having contact with [his/her] other birth relatives?

C30A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	895	89.23	895	89.23
1 - VERY COMFORTABLE	64	6.38	959	95.61
2 - SOMEWHAT COMFORTABLE	22	2.19	981	97.81
3 - SOMEWHAT UNCOMFORTABLE	16	1.60	997	99.40
4 - VERY UNCOMFORTABLE	6	0.60	1003	100.00

Since [S.C.]'s adoption was finalized, have you [or your spouse/partner] ever had planned contact with [S.C.]'s birth parents or other extended birth family?

C31	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	714	71.19	714	71.19
O - NO	83	8.28	797	79.46
1 - YES	206	20.54	1003	100.00

Was this contact with birth parents?

C32	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	797	79.46	797	79.46
O - NO	29	2.89	826	82.35
1 - YES	176	17.55	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Was this contact with brothers/sisters living elsewhere?

C33	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	835	83.25	835	83.25
O - NO	86	8.57	921	91.82
1 - YES	81	8.08	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Was this contact with other blood relatives (grandparents, aunts/uncles)?

CS	4 Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	797	79.46	797	79.46
O - NO	106	10.57	903	90.03
1 - YES	100	9.97	1003	100.00

Do you [or your spouse/partner] currently stay in contact with [S.C.]'s birth parents or other extended birth family?

C35	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	797	79.46	797	79.46
O - NO	64	6.38	861	85.84
1 - YES	142	14.16	1003	100.00

The FREQ Procedure

Prior to [S.C.]'s adoption, did you [or your spouse/partner] receive or review the child's case record?

	C36A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SK	ΊΡ	546	54.44	546	54.44
M - MISSING IN ER	ROR	24	2.39	570	56.83
0 - NO		114	11.37	684	68.20
1 - YES		316	31.51	1000	99.70
6 - DON'T KNOW		3	0.30	1003	100.00

Prior to [S.C.]'s adoption, did you [or your spouse/partner] discuss the child's past with an adoption caseworker?

	C36B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO		343	34.20	343	34.20
1 - YES		655	65.30	998	99.50
6 - DON'T KNOW		5	0.50	1003	100.00

Prior to [S.C.]'s adoption, did you [or your spouse/partner] discuss the child's past with an adoption attorney?

	C36C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		669	66.70	669	66.70
1 - YES		330	32.90	999	99.60
6 - DON'T KNOW		4	0.40	1003	100.00

Prior to [S.C.]'s adoption, did you [or your spouse/partner] receive or review a written psychological report?

C36D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	605	60.32	605	60.32
O - NO	176	17.55	781	77.87
1 - YES	211	21.04	992	98.90
6 - DON'T KNOW	11	1.10	1003	100.00

Did you [or your spouse/partner] consult with a professional of your choosing regarding the contents of the psychological report?

C36DA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	792	78.96	792	78.96
O - NO	83	8.28	875	87.24
1 - YES	126	12.56	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Prior to [S.C.]'s adoption, did you [or your spouse/partner] receive or review information about [S.C.]' medical history?

	C36E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		226	22.53	226	22.53
1 - YES		776	77.37	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

Did you [or your spouse/partner] consult with a professional of your choosing regarding [S.C.]'s medical history?

	C36EA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	KIP	227	22.63	227	22.63
0 - NO		302	30.11	529	52.74
1 - YES		470	46.86	999	99.60
6 - DON'T KNOW		4	0.40	1003	100.00

The FREQ Procedure

Prior to [S.C.]'s adoption, did you [or your spouse/partner] receive or review records of [S.C.]' school or educational history?

СЗ	6F Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	777	77.47	777	77.47
0 - NO	109	10.87	886	88.33
1 - YES	115	11.47	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Did you [or your spouse/partner] consult with a professional of your choosing regarding [S.C.]'s school or educational records?

C36FA	A Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	888	88.53	888	88.53
0 - NO	47	4.69	935	93.22
1 - YES	68	6.78	1003	100.00

Do you believe that the agency knew important information about [S.C.] that they did not share with you [or your spouse/partner] before [S.C.]'s adoption was finalized?

	C38	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		870	86.74	870	86.74
1 - YES		109	10.87	979	97.61
6 - DON'T KNOW		24	2.39	1003	100.00

Before [S.C.] first came to your home, how likely was it that [he/she] was physically abused?

СЗА	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - CHILD ADOPTED AT BIRTH	114	11.37	114	11.37
1 - VERY LIKELY	193	19.24	307	30.61
2 - LIKELY	94	9.37	401	39.98
3 - UNLIKELY	163	16.25	564	56.23
4 - VERY UNLIKELY	415	41.38	979	97.61
6 - DON'T KNOW	22	2.19	1001	99.80
7 - REFUSED	2	0.20	1003	100.00

Before [S.C.] first came to your home, how likely was it that [he/she] was sexually abused?

СЗВ	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - CHILD ADOPTED AT BIRTH	108	10.77	108	10.77
1 - VERY LIKELY	78	7.78	186	18.54
2 - LIKELY	67	6.68	253	25.22
3 - UNLIKELY	189	18.84	442	44.07
4 - VERY UNLIKELY	529	52.74	971	96.81
6 - DON'T KNOW	31	3.09	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Before [S.C.] first came to your home, how likely was it that [he/she] was neglected?

сзс	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - CHILD ADOPTED AT BIRTH	106	10.57	106	10.57
1 - VERY LIKELY	356	35.49	462	46.06
2 - LIKELY	110	10.97	572	57.03
3 - UNLIKELY	92	9.17	664	66.20
4 - VERY UNLIKELY	326	32.50	990	98.70
6 - DON'T KNOW	12	1.20	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

The FREQ Procedure

Before [S.C.] first came to your home, how likely was it that [he/she] was exposed to drugs or alcohol before birth?

	C3D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - VERY LIKELY		395	39.38	395	39.38
2 - LIKELY		169	16.85	564	56.23
3 - UNLIKELY		157	15.65	721	71.88
4 - VERY UNLIKELY	1	204	20.34	925	92.22
6 - DON'T KNOW		77	7.68	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Before [S.C.] first came to your home, how likely was it that [he/she] was emotionally abused?

СЗЕ	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - CHILD ADOPTED AT BIRTH	98	9.77	98	9.77
1 - VERY LIKELY	258	25.72	356	35.49
2 - LIKELY	120	11.96	476	47.46
3 - UNLIKELY	139	13.86	615	61.32
4 - VERY UNLIKELY	367	36.59	982	97.91
6 - DON'T KNOW	20	1.99	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Has a doctor or other health care provider ever told you that [S.C.] had Post-Traumatic Stress Disorder (PTSD)?

	C44	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		852	84.95	852	84.95
1 - YES		139	13.86	991	98.80
6 - DON'T KNOW		12	1.20	1003	100.00

Has a doctor or other health care provider ever told you that [S.C.] had Attachment Disorder?

	C45	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		748	74.58	748	74.58
1 - YES		250	24.93	998	99.50
6 - DON'T KNOW		5	0.50	1003	100.00

Has a doctor or other health care provider ever told you that [S.C.] had Oppositional Defiant Disorder (ODD)?

C46	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	1	0.10	1	0.10
0 - NO	806	80.36	807	80.46
1 - YES	188	18.74	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

Has a doctor or other health care provider ever told you that [S.C.] had Conduct Disorder?

C47	Frequency	Percent	Cumulative Frequency	Cumulative Percent
M - MISSING IN ERROR	1	0.10	1	0.10
O - NO	868	86.54	869	86.64
1 - YES	132	13.16	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

Since the time the adoption was finalized, has [S.C.] received any treatment or counseling from a mental health professional?

	C42	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	3	0.30	3	0.30
M - MISSING IN	ERROR	1	0.10	4	0.40
0 - NO		361	35.99	365	36.39
1 - YES		637	63.51	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Since the time the adoption was finalized, has [S.C.] been placed in a psychiatric hospital, group home, or residential treatment center?

C43	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	428	42.67	428	42.67
0 - NO	495	49.35	923	92.02
1 - YES	79	7.88	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Has [S.C.] ever had any alcohol or drug problems?

C49	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	579	57.73	579	57.73
O - NO	404	40.28	983	98.01
1 - YES	20	1.99	1003	100.00

Has [S.C.] ever been arrested or in trouble with the police?

C50	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	579	57.73	579	57.73
O - NO	373	37.19	952	94.92
1 - YES	50	4.99	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Has [S.C.] ever [been pregnant / gotten someone pregnant]?

C51	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	579	57.73	579	57.73
O - NO	419	41.77	998	99.50
1 - YES	5	0.50	1003	100.00

What was the first language [S.C.] learned to speak?

	C53R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - ENGLISH		892	88.93	892	88.93
2 - CHINESE		11	1.10	903	90.03
3 - RUSSIAN		32	3.19	935	93.22
4 - SPANISH		12	1.20	947	94.42
5 - OTHER		53	5.28	1000	99.70
96 - DON'T KNOW		3	0.30	1003	100.00

The FREQ Procedure

Does [S.C.] have any developmental problems for which [he/she] has a written intervention plan called an [Individualized Family Services Plan or an IFSP / Individualized Education Program or IEP]?

	C55	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		482	48.06	482	48.06
1 - YES		519	51.74	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

How would you describe [S.C.]'s school performance in reading and language arts?

C56	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	34	3.39	34	3.39
M - MISSING IN ERROR	1	0.10	35	3.49
1 - EXCELLENT	239	23.83	274	27.32
2 - VERY GOOD	186	18.54	460	45.86
3 - GOOD	205	20.44	665	66.30
4 - FAIR	196	19.54	861	85.84
5 - POOR	140	13.96	1001	99.80
6 - NOT IN SCHOOL	2	0.20	1003	100.00

How would you describe [S.C.]'s school performance in math?

C56A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	36	3.59	36	3.59
M - MISSING IN ERROR	1	0.10	37	3.69
1 - EXCELLENT	179	17.85	216	21.54
2 - VERY GOOD	189	18.84	405	40.38
3 - GOOD	228	22.73	633	63.11
4 - FAIR	198	19.74	831	82.85
5 - POOR	172	17.15	1003	100.00

Since starting kindergarten, has [he/she] repeated any grades?

	K7Q05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	34	3.39	34	3.39
M - MISSING IN	ERROR	1	0.10	35	3.49
0 - NO		779	77.67	814	81.16
1 - YES		183	18.25	997	99.40
6 - DON'T KNOW		6	0.60	1003	100.00

[During the past 12 months / Since [S.C.]'s adoption was finalized], how many times has [S.C.] skipped school, cut classes without your permission, or refused to go to school?

C57	' Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	319	31.80	319	31.80
M - MISSING IN ERROR	1	0.10	320	31.90
1 - NEVER	572	57.03	892	88.93
2 - ONCE	31	3.09	923	92.02
3 - TWO OR MORE TIMES	75	7.48	998	99.50
6 - DON'T KNOW	5	0.50	1003	100.00

The FREQ Procedure

Including both in-school and out-of-school suspensions, [during the past 12 months / since [S.C.]'s adoption was finalized], has [S.C.] been suspended or expelled from school?

C58	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	319	31.80	319	31.80
M - MISSING IN ERROR	1	0.10	320	31.90
0 - NO	562	56.03	882	87.94
1 - YES	120	11.96	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Please tell me if this statement was true for [S.C.] during the past month. [He/She] argues too much.

	K7Q70	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		93	9.27	93	9.27
2 - RARELY		182	18.15	275	27.42
3 - SOMETIMES		419	41.77	694	69.19
4 - USUALLY		154	15.35	848	84.55
5 - ALWAYS		152	15.15	1000	99.70
6 - DON'T KNOW		1	0.10	1001	99.80
7 - REFUSED		2	0.20	1003	100.00

Please tell me if this statement was true for [S.C.] during the past month. [He/She] gets along well with other children.

	K7Q73	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		5	0.50	5	0.50
2 - RARELY		36	3.59	41	4.09
3 - SOMETIMES		178	17.75	219	21.83
4 - USUALLY		421	41.97	640	63.81
5 - ALWAYS		361	35.99	1001	99.80
6 - DON'T KNOW		1	0.10	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Please tell me if this statement was true for [S.C.] during the past month. [He/She] is disobedient.

	K7Q74	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		114	11.37	114	11.37
2 - RARELY		273	27.22	387	38.58
3 - SOMETIMES		509	50.75	896	89.33
4 - USUALLY		73	7.28	969	96.61
5 - ALWAYS		31	3.09	1000	99.70
6 - DON'T KNOW		1	0.10	1001	99.80
7 - REFUSED		2	0.20	1003	100.00

Please tell me if this statement was true for [S.C.] during the past month. [He/She] is stubborn, sullen, or irritable.

	K7Q75	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		56	5.58	56	5.58
2 - RARELY		177	17.65	233	23.23
3 - SOMETIMES		544	54.24	777	77.47
4 - USUALLY		131	13.06	908	90.53
5 - ALWAYS		93	9.27	1001	99.80
7 - REFUSED		2	0.20	1003	100.00

The FREQ Procedure

Please tell me if this statement was true for [S.C.] during the past month. [He/She] tries to understand other people's feelings.

	K7Q76	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		46	4.59	46	4.59
2 - RARELY		94	9.37	140	13.96
3 - SOMETIMES		278	27.72	418	41.67
4 - USUALLY		334	33.30	752	74.98
5 - ALWAYS		248	24.73	1000	99.70
6 - DON'T KNOW		2	0.20	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Please tell me if this statement was true for [S.C.] during the past month. [He/She] tries to resolve conflicts with classmates, family, or friends.

	K7Q77	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		56	5.58	56	5.58
2 - RARELY		103	10.27	159	15.85
3 - SOMETIMES		312	31.11	471	46.96
4 - USUALLY		354	35.29	825	82.25
5 - ALWAYS		174	17.35	999	99.60
6 - DON'T KNOW		3	0.30	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Please tell me if this statement was true for [S.C.] during the past month. [He/She] is unhappy, sad, or depressed.

	K7Q79	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		224	22.33	224	22.33
2 - RARELY		397	39.58	621	61.91
3 - SOMETIMES		329	32.80	950	94.72
4 - USUALLY		32	3.19	982	97.91
5 - ALWAYS		16	1.60	998	99.50
6 - DON'T KNOW		3	0.30	1001	99.80
7 - REFUSED		2	0.20	1003	100.00

How would you describe your relationship to [S.C.]?

W1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - VERY WARM AND CLOSE	715	71.29	715	71.29
2 - SOMEWHAT WARM AND CLOSE	238	23.73	953	95.01
3 - SOMEWHAT DISTANT	39	3.89	992	98.90
4 - VERY DISTANT	11	1.10	1003	100.00

How would you describe your [spouse's/partner's] relationship to [S.C.]?

W1A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	405	40.38	405	40.38
M - MISSING IN ERROR	1	0.10	406	40.48
1 - VERY WARM AND CLOSE	387	38.58	793	79.06
2 - SOMEWHAT WARM AND CLOSE	168	16.75	961	95.81
3 - SOMEWHAT DISTANT	36	3.59	997	99.40
4 - VERY DISTANT	6	0.60	1003	100.00

The FREQ Procedure

How often is [S.C.] affectionate or tender with you?

	W2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		14	1.40	14	1.40
2 - RARELY		49	4.89	63	6.28
3 - SOMETIMES		190	18.94	253	25.22
4 - USUALLY		331	33.00	584	58.23
5 - ALWAYS		418	41.67	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

How satisfied are you with how affectionate or tender [S.C.] is with you?

ws	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - VERY SATISFIED	665	66.30	665	66.30
2 - SOMEWHAT SATISFIED	244	24.33	909	90.63
3 - SOMEWHAT DISSATISFIED	62	6.18	971	96.81
4 - VERY DISSATISFIED	29	2.89	1000	99.70
6 - DON'T KNOW	1	0.10	1001	99.80
7 - REFUSED	2	0.20	1003	100.00

Do you feel that [S.C.] and you make decisions about [his/her] life together?

W4	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	579	57.73	579	57.73
1 - NEVER	12	1.20	591	58.92
2 - RARELY	12	1.20	603	60.12
3 - SOMETIMES	109	10.87	712	70.99
4 - USUALLY	179	17.85	891	88.83
5 - ALWAYS	112	11.17	1003	100.00

During the past month, how often have you felt that you just did not understand [him/her]?

W5	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	34	3.39	34	3.39
M - MISSING IN ERROR	1	0.10	35	3.49
1 - NEVER	165	16.45	200	19.94
2 - RARELY	320	31.90	520	51.84
3 - SOMETIMES	368	36.69	888	88.53
4 - USUALLY	92	9.17	980	97.71
5 - ALWAYS	21	2.09	1001	99.80
6 - DON'T KNOW	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

During the past month, how often have you felt that you can really trust [him/her]?

	W6	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	SKIP	34	3.39	34	3.39
M - MISSING IN E	RROR	1	0.10	35	3.49
1 - NEVER		37	3.69	72	7.18
2 - RARELY		83	8.28	155	15.45
3 - SOMETIMES		221	22.03	376	37.49
4 - USUALLY		354	35.29	730	72.78
5 - ALWAYS		270	26.92	1000	99.70
6 - DON'T KNOW		2	0.20	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

The FREQ Procedure

During the past month, how often have you felt angry with [him/her]?

	K8Q34	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - NEVER		81	8.08	81	8.08
2 - RARELY		335	33.40	416	41.48
3 - SOMETIMES		526	52.44	942	93.92
4 - USUALLY		54	5.38	996	99.30
5 - ALWAYS		6	0.60	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

In general, how well do you feel you are coping with the day to day demands of [parenthood / raising children]?

K8Q30	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - VERY WELL	504	50.25	504	50.25
2 - SOMEWHAT WELL	474	47.26	978	97.51
3 - NOT VERY WELL	21	2.09	999	99.60
4 - NOT VERY WELL AT ALL	. 4	0.40	1003	100.00

Thinking about [S.C.]'s relationship with you, would you say things are $_{\rm T}$?

W7	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - BETTER THAN YOU EVER EXPECTED	273	27.22	273	27.22
2 - ABOUT WHAT YOU EXPECTED	424	42.27	697	69.49
3 - MORE DIFFICULT THAN YOU EVER EXPECTED	302	30.11	999	99.60
6 - DON'T KNOW	1	0.10	1000	99.70
7 - REFUSED	3	0.30	1003	100.00

Thinking about [S.C.]'s relationship with your [spouse/partner], would you say things $\operatorname{are}_{\overline{1}}$?

			Cumulative	Cumulative	
W8	Frequency	Percent	Frequency	Percent	
L - LEGITIMATE SKIP	405	40.38	405	40.38	
M - MISSING IN ERROR	1	0.10	406	40.48	
1 - BETTER THAN YOU EVER EXPECTED	155	15.45	561	55.93	
2 - ABOUT WHAT YOU EXPECTED	273	27.22	834	83.15	
3 - MORE DIFFICULT THAN YOU EVER EXPECTED	164	16.35	998	99.50	
6 - DON'T KNOW	2	0.20	1000	99.70	
7 - REFUSED	3	0.30	1003	100.00	

In general, how often does [S.C.] experience difficulty in getting along with other children in the household?

W9	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	238	23.73	238	23.73
1 - NEVER	76	7.58	314	31.31
2 - RARELY	171	17.05	485	48.35
3 - SOMETIMES	334	33.30	819	81.66
4 - USUALLY	112	11.17	931	92.82
5 - ALWAYS	33	3.29	964	96.11
6 - DON'T KNOW	36	3.59	1000	99.70
7 - REFUSED	3	0.30	1003	100.00

The FREQ Procedure

Overall, how has having [S.C.] in your life affected your family?

W12	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - VERY POSITIVELY	612	61.02	612	61.02
2 - SOMEWHAT POSITIVELY	149	14.86	761	75.87
3 - MIXED	172	17.15	933	93.02
4 - SOMEWHAT NEGATIVELY	43	4.29	976	97.31
5 - VERY NEGATIVELY	22	2.19	998	99.50
6 - DON'T KNOW	4	0.40	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

So far, how has having [S.C.] in your life compared with what you thought it would be like?

W13	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - BETTER THAN YOU EVER EXPECTED	418	41.67	418	41.67
2 - ABOUT WHAT YOU EXPECTED	314	31.31	732	72.98
3 - MORE DIFFICULT THAN YOU EVER EXPECTED	265	26.42	997	99.40
6 - DON'T KNOW	4	0.40	1001	99.80
7 - REFUSED	2	0.20	1003	100.00

Overall, how do you think [S.C.] feels about being adopted?

W14	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	34	3.39	34	3.39
M - MISSING IN ERROR	1	0.10	35	3.49
1 - FEELS POSITIVE ABOUT IT	451	44.97	486	48.45
2 - FEELS MOSTLY POSITIVE ABOUT IT	405	40.38	891	88.83
3 - FEELS NEITHER POSITIVE NOR NEGATIVE ABOUT IT	51	5.08	942	93.92
4 - FEELS MOSTLY NEGATIVE ABOUT IT	25	2.49	967	96.41
5 - FEELS NEGATIVE ABOUT IT	5	0.50	972	96.91
6 - CHILD DOES NOT KNOW [HE/SHE] IS ADOPTED	23	2.29	995	99.20
96 - DON'T KNOW	8	0.80	1003	100.00

If you [and your spouse/partner] knew everything about [S.C.] before the adoption that you now know, how might that have affected your decision to accept [him/her] for adoption? Would you have $_{\top}$?

W15	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - WOULD HAVE DEFINITELY ACCEPTED THE CHILD	771	76.87	771	76.87
2 - WOULD HAVE PROBABLY ACCEPTED THE CHILD	161	16.05	932	92.92
3 - WOULD HAVE PROBABLY NOT ACCEPTED THE CHILD	46	4.59	978	97.51
4 - WOULD HAVE DEFINITELY NOT ACCEPTED THE CHILD	13	1.30	991	98.80
6 - DON'T KNOW	9	0.90	1000	99.70
7 - REFUSED	3	0.30	1003	100.00

Given your [and your spouse's/partner's] experience of adoption with this child, would you recommend adoption to others?

	W16	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1 - YES		933	93.02	933	93.02
2 - NO		27	2.69	960	95.71
3 - DEPENDS		37	3.69	997	99.40
6 - DON'T KNOW		4	0.40	1001	99.80
7 - REFUSED		2	0.20	1003	100.00

The FREQ Procedure

Since the adoption was finalized, has [S.C.] ever lived outside of your home for two weeks or longer?

	W17	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		917	91.43	917	91.43
1 - YES		86	8.57	1003	100.00

Number of times child lived outside the home 2+ weeks

W17AR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	917	91.43	917	91.43
1	39	3.89	956	95.31
2	23	2.29	979	97.61
3	7	0.70	986	98.31
4	5	0.50	991	98.80
5	1	0.10	992	98.90
6	1	0.10	993	99.00
7	1	0.10	994	99.10
8	1	0.10	995	99.20
10 - 10+	5	0.50	1000	99.70
96 - DON'T KNOW	3	0.30	1003	100.00

Was [S.C.]'s time away from home related to problems or conflicts among family members?

	W17B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SM	(IP	917	91.43	917	91.43
0 - NO		49	4.89	966	96.31
1 - YES		36	3.59	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

As a result of [S.C.]'s time away from your home did the situation $_{\rm T}$?

	W17C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP		967	96.41	967	96.41
1 - IMPROVE		23	2.29	990	98.70
2 - STAY ABOUT THE SAME		10	1.00	1000	99.70
3 - GET WORSE		3	0.30	1003	100.00

Have you [or your spouse/partner] ever thought about ending this adoption?

W18	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	906	90.33	906	90.33
O - NO	67	6.68	973	97.01
1 - YES	30	2.99	1003	100.00

Have you [or your spouse/partner] ever taken any action to end this adoption?

W19	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	973	97.01	973	97.01
O - NO	23	2.29	996	99.30
1 - YES	7	0.70	1003	100.00

The FREQ Procedure

What actions have you [or your spouse/partner] taken - Spoke to caseworker about it.

W20	AX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SK	IP	996	99.30	996	99.30
0 - NO		5	0.50	1001	99.80
1 - YES		2	0.20	1003	100.00

What actions have you [or your spouse/partner] taken - Spoke with attorney about it.

W20AX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
0 - NO	3	0.30	999	99.60
1 - YES	4	0.40	1003	100.00

What actions have you [or your spouse/partner] taken - Other.

W20AX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
O - NO	6	0.60	1002	99.90
1 - YES	1	0.10	1003	100.00

Reason for taking action to end the adoption - Child behavioral or education problems.

W21A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
1 - VERY IMPORTANT	7	0.70	1003	100.00

Reason for taking action to end the adoption - Child did not get along with siblings.

W21B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
1 - VERY IMPORTANT	3	0.30	999	99.60
2 - SOMEWHAT IMPORTANT	2	0.20	1001	99.80
3 - NOT IMPORTANT	2	0.20	1003	100.00

Reason for taking action to end the adoption - Child's medical problems.

W21E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
3 - NOT IMPORTANT	7	0.70	1003	100.00

Reason for taking action to end the adoption - Financial reasons.

W21D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
3 - NOT IMPORTANT	7	0.70	1003	100.00

The FREQ Procedure

Reason for taking action to end the adoption - Other family problems not associated with child.

W21C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
2 - SOMEWHAT IMPORTANT	1	0.10	997	99.40
3 - NOT IMPORTANT	6	0.60	1003	100.00

Were there any other important reasons?

W	21F Freque	ncy Percer	Cumulative rt Frequency	
L - LEGITIMATE SKI	P 9	96 99.30	996	99.30
0 - NO		3 0.30	999	99.60
1 - YES		4 0.40	1003	100.00

Are you [or your spouse/partner] currently trying to end the adoption?

W22	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
0 - NO	6	0.60	1002	99.90
1 - YES	1	0.10	1003	100.00

Reason you are no longer trying to end the adoption - You resolved the problem(s) within family.

W2	:3A Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	974	97.11	974	97.11
0 - NO	24	2.39	998	99.50
1 - YES	5	0.50	1003	100.00

Reason you are no longer trying to end the adoption - You discussed the situation with other relatives, neighbors, clergy.

W23I	3 Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
0 - NO	23	2.29	997	99.40
1 - YES	6	0.60	1003	100.00

Reason you are no longer trying to end the adoption - You discussed the situation with an adoption worker.

	W23C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	974	97.11	974	97.11
0 - NO		19	1.89	993	99.00
1 - YES		10	1.00	1003	100.00

Reason you are no longer trying to end the adoption - You discussed the situation with another adoptive family.

W23D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
O - NO	21	2.09	995	99.20
1 - YES	8	0.80	1003	100.00

The FREQ Procedure

Reason you are no longer trying to end the adoption - You received additional supportive services such as respite care, intensive family preservation, or day care.

W23E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
O - NO	18	1.79	992	98.90
1 - YES	11	1.10	1003	100.00

Reason you are no longer trying to end the adoption - You engaged in family or individual therapy.

W23F	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
O - NO	13	1.30	987	98.40
1 - YES	16	1.60	1003	100.00

Reason you are no longer trying to end the adoption - You placed the child in a residential program.

W23G	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
O - NO	17	1.69	991	98.80
1 - YES	11	1.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Were there any other reasons?

W23H	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
0 - NO	15	1.50	989	98.60
1 - YES	13	1.30	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

At the time of [S.C.]'s adoption, was an adoption agreement finalized between your family and the adoption agency?

F1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	546	54.44	546	54.44
M - MISSING IN ERROR	23	2.29	569	56.73
O - NO	33	3.29	602	60.02
1 - YES	399	39.78	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Do you currently receive a monthly subsidy payment to help you meet the needs of [S.C.]?

F2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	546	54.44	546	54.44
M - MISSING IN ERROR	23	2.29	569	56.73
O - NO	114	11.37	683	68.10
1 - YES	318	31.70	1001	99.80
7 - REFUSED	2	0.20	1003	100.00

The FREQ Procedure

Have you ever received an adoption subsidy for [S.C.]?

	F2A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	KIP	864	86.14	864	86.14
M - MISSING IN E	RROR	23	2.29	887	88.43
0 - NO		108	10.77	995	99.20
1 - YES		7	0.70	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

[Is/Was] this monthly subsidy payment written into your adoption agreement?

F3	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	686	68.39	686	68.39
O - NO	28	2.79	714	71.19
1 - YES	264	26.32	978	97.51
6 - DON'T KNOW	25	2.49	1003	100.00

Adoption subsidy monthly amount (\$)

			Cumulative	Cumulative
F4R	Frequency	Percent	Frequency	Percent
L - LEGITIMATE SKIP	678	67.60	678	67.60
1 - \$0-300	41	4.09	719	71.68
2 - \$301-400	60	5.98	779	77.67
3 - \$401-500	47	4.69	826	82.35
4 - \$501-600	47	4.69	873	87.04
5 - \$601-750	37	3.69	910	90.73
6 - \$751-1000	36	3.59	946	94.32
7 - \$1001-5000	20	1.99	966	96.31
9996 - DON'T KNOW	13	1.30	979	97.61
9997 - REFUSED	24	2.39	1003	100.00

[Is/Was] this monthly amount higher, lower, or the same as the amount you received when you were [S.C.]'s foster parent?

	F4A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L -	- LEGITIMATE SKIP	712	70.99	712	70.99
1 -	- HIGHER	71	7.08	783	78.07
2 -	- LOWER	77	7.68	860	85.74
3 -	- SAME AS	121	12.06	981	97.81
6	- DON'T KNOW	22	2.19	1003	100.00

Did you request the subsidy or was this subsidy given to you without requesting it?

F5	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	678	67.60	678	67.60
1 - [I/WE] REQUESTED THIS SUBSIDY	71	7.08	749	74.68
2 - SUBSIDY GIVEN TO [ME/US] WITHOUT REQUESTING IT	248	24.73	997	99.40
6 - DON'T KNOW	6	0.60	1003	100.00

Did you request a subsidy because [S.C.] needed additional services you could not afford?

F6	AR Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	926	92.32	926	92.32
0 - NO	12	1.20	938	93.52
1 - YES	63	6.28	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

Did you request a subsidy because the child welfare worker or adoption worker suggested that you request one?

F6B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP O - NO	926 26	92.32 2.59	926 952	92.32 94.92
1 - YES	51	5.08	1003	100.00

Did you request a subsidy because your attorney suggested you request one?

F6C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	926	92.32	926	92.32
O - NO	58	5.78	984	98.11
1 - YES	19	1.89	1003	100.00

Was there any other reason why a subsidy was requested?

F6D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	926	92.32	926	92.32
0 - NO	32	3.19	958	95.51
1 - YES	45	4.49	1003	100.00

Other reason: because it was available

	F6DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	991	98.80	991	98.80
1 - YES		12	1.20	1003	100.00

Do you feel that the subsidy received for [S.C.] helps to adequately meet [S.C.]'s needs?

F7	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	685	68.30	685	68.30
O - NO	84	8.37	769	76.67
1 - YES	231	23.03	1000	99.70
6 - DON'T KNOW	2	0.20	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Without a subsidy would you say the likelihood of you having adopted [S.C.] would have been $_{\!\!\!\!\top}$?

F8	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	678	67.60	678	67.60
1 - VERY LIKELY	205	20.44	883	88.04
2 - LIKELY	70	6.98	953	95.01
3 - UNLIKELY	28	2.79	981	97.81
4 - VERY UNLIKELY	19	1.89	1000	99.70
6 - DON'T KNOW	2	0.20	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

The FREQ Procedure

Why don't you currently receive an adoption subsidy for [S.C.]?

F9	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	998	99.50	998	99.50
1 - NO LONGER NEED SUBSIDY	1	0.10	999	99.60
2 - NO LONGER QUALIFY FOR SUBSIDY	2	0.20	1001	99.80
3 - SOME OTHER REASON	1	0.10	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Why don't you receive an adoption subsidy for [S.C.]?

F10R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	894	89.13	894	89.13
1 - DID NOT REQUEST A SUBSIDY	89	8.87	983	98.01
2 - WERE TURNED DOWN	2	0.20	985	98.21
3 - DECLINED THE OFFERED SUBSIDY	6	0.60	991	98.80
4 - SUBSIDY NOT AVAILABLE	9	0.90	1000	99.70
6 - DON'T KNOW	1	0.10	1001	99.80
7 - REFUSED	2	0.20	1003	100.00

Did you pay anything at the time of the adoption? For example, did you pay for a homestudy or pay an attorney?

	F11	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		263	26.22	263	26.22
1 - YES		736	73.38	999	99.60
6 - DON'T KNOW		3	0.30	1002	99.90
7 - REFUSED		1	0.10	1003	100.00

Approximately how much did [S.C.]'s adoption cost?

F11A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	759	75.67	759	75.67
1 - LESS THAN \$5,000	148	14.76	907	90.43
2 - AT LEAST \$5,000 BUT LESS THAN \$10,000	40	3.99	947	94.42
3 - \$10,000 OR MORE	51	5.08	998	99.50
6 - DON'T KNOW	4	0.40	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Approximately how much did [S.C.]'s adoption cost (including [cost of travel to the child' country of origin / travel] or legal fees)?

F11B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	511	50.95	511	50.95
1 - LESS THAN \$5,000	108	10.77	619	61.71
2 - AT LEAST \$5,000 BUT LESS THAN \$10,000	81	8.08	700	69.79
3 - AT LEAST \$10,000 BUT LESS THAN \$15,000	83	8.28	783	78.07
4 - AT LEAST \$15,000 BUT LESS THAN \$20,000	72	7.18	855	85.24
5 - AT LEAST \$20,000 BUT LESS THAN \$25,000	62	6.18	917	91.43
6 - AT LEAST \$25,000 BUT LESS THAN \$30,000	37	3.69	954	95.11
7 - AT LEAST \$30,000 BUT LESS THAN \$35,000	19	1.89	973	97.01
8 - AT LEAST \$35,000 BUT LESS THAN \$40,000	13	1.30	986	98.31
9 - \$40,000 OR MORE	8	0.80	994	99.10
96 - DON'T KNOW	7	0.70	1001	99.80
97 - REFUSED	2	0.20	1003	100.00

The FREQ Procedure

Did the adoption agency reimburse all, some, or none of these expenses?

F12	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	759	75.67	759	75.67
M - MISSING IN ERROR	21	2.09	780	77.77
1 - ALL	26	2.59	806	80.36
2 - SOME	40	3.99	846	84.35
3 - NONE	152	15.15	998	99.50
6 - DON'T KNOW	5	0.50	1003	100.00

Was Medicaid or state-subsidized health insurance included in [S.C.]'s adoption agreement?

F13	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	604	60.22	604	60.22
O - NO	80	7.98	684	68.20
1 - YES	315	31.41	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

Is any additional medical coverage included in the adoption agreement?

F:	13A Frequency	y Percent	Cumulative Frequency	
L - LEGITIMATE SKI	P 684	68.20	684	68.20
0 - NO	273	27.22	957	95.41
1 - YES	37	3.69	994	99.10
6 - DON'T KNOW	9	0.90	1003	100.00

Have you ever used Medicaid to obtain mental health services for [S.C.]?

	F14A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		729	72.68	729	72.68
1 - YES		273	27.22	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

How easy or difficult was it to use Medicaid to pay for these mental health services for [S.C.]?

F14AA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	730	72.78	730	72.78
1 - VERY EASY	160	15.95	890	88.73
2 - SOMEWHAT EASY	64	6.38	954	95.11
3 - SOMEWHAT DIFFICULT	34	3.39	988	98.50
4 - VERY DIFFICULT	14	1.40	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Have you ever used Medicaid to obtain dental or orthodontia care for [S.C.]?

	F14B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO		672	67.00	672	67.00
1 - YES		330	32.90	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

The FREQ Procedure

How easy or difficult was it to use Medicaid to pay for this dental or orthodontia care for [S.C.]?

F14BA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	673	67.10	673	67.10
1 - VERY EASY	199	19.84	872	86.94
2 - SOMEWHAT EASY	57	5.68	929	92.62
3 - SOMEWHAT DIFFICULT	44	4.39	973	97.01
4 - VERY DIFFICULT	30	2.99	1003	100.00

Have you ever used Medicaid to obtain medical care for [S.C.]? Please include health care related to vision and hearing.

	F14C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
O - NO		581	57.93	581	57.93
1 - YES		420	41.87	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

How easy or difficult was it to use Medicaid to pay for these medical services for [S.C.]?

F14CA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	583	58.13	583	58.13
1 - VERY EASY	296	29.51	879	87.64
2 - SOMEWHAT EASY	79	7.88	958	95.51
3 - SOMEWHAT DIFFICULT	36	3.59	994	99.10
4 - VERY DIFFICULT	8	0.80	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

During the past 12 months, has [S.C.] received any treatment or counseling from a mental health professional?

	F15	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		513	51.15	513	51.15
1 - YES		487	48.55	1000	99.70
6 - DON'T KNOW		3	0.30	1003	100.00

What portion of [S.C.]'s mental health services in the last 12 months was paid for by Medicaid?

	F16A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	SKIP	794	79.16	794	79.16
1 - NONE		19	1.89	813	81.06
2 - SOME		42	4.19	855	85.24
3 - ALMOST ALL		14	1.40	869	86.64
4 - ALL		132	13.16	1001	99.80
6 - DON'T KNOW		2	0.20	1003	100.00

What portion of [S.C.]'s mental health services in the last 12 months was paid for by insurance other than Medicaid?

F16B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	648	64.61	648	64.61
1 - NONE	62	6.18	710	70.79
2 - SOME	114	11.37	824	82.15
3 - ALMOST ALL	110	10.97	934	93.12
4 - ALL	66	6.58	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

The FREQ Procedure

What portion of [S.C.]'s mental health services in the last 12 months was paid for by Child Welfare or Adoption Agency?

F16C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	889	88.63	889	88.63
M - MISSING IN ERROR	8	0.80	897	89.43
1 - NONE	92	9.17	989	98.60
2 - SOME	8	0.80	997	99.40
3 - ALMOST ALL	1	0.10	998	99.50
4 - ALL	2	0.20	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

What portion of [S.C.]'s mental health services in the last 12 months was paid for by you?

F16D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	716	71.39	716	71.39
1 - NONE	39	3.89	755	75.27
2 - SOME	180	17.95	935	93.22
3 - ALMOST ALL	31	3.09	966	96.31
4 - ALL	35	3.49	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Is there any other source helping pay for mental health services?

F16E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	751	74.88	751	74.88
O - NO	215	21.44	966	96.31
1 - YES	35	3.49	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Other source helping pay for mental health services = insurance other than Medicaid

F16EA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	995	99.20	995	99.20
1 - YES	8	0.80	1003	100.00

Other source helping pay for mental health services = school

F16EA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	993	99.00	993	99.00
1 - YES	10		1003	100.00

Have you ever used Medicaid to obtain mental health medications for [S.C.]?

	F14A_A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	516	51.45	516	51.45
0 - NO		297	29.61	813	81.06
1 - YES		186	18.54	999	99.60
6 - DON'T KNOW	1	4	0.40	1003	100.00

The FREQ Procedure

How easy or difficult was it to use Medicaid to pay for these mental health medications for [S.C.]?

F14A_AA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	817	81.46	817	81.46
1 - VERY EASY	130	12.96	947	94.42
2 - SOMEWHAT EASY	39	3.89	986	98.31
3 - SOMEWHAT DIFFICULT	14	1.40	1000	99.70
4 - VERY DIFFICULT	3	0.30	1003	100.00

What portion of [S.C.]'s mental health medication needs in the last 12 months was paid for by Medicaid?

F16A_A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	816	81.36	816	81.36
1 - NONE	7	0.70	823	82.05
2 - SOME	35	3.49	858	85.54
3 - ALMOST ALL	12	1.20	870	86.74
4 - ALL	132	13.16	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

What portion of [S.C.]'s mental health medication needs in the last 12 months was paid for by insurance other than Medicaid?

F16A_I	B Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	659	65.70	659	65.70
1 - NONE	94	9.37	753	75.07
2 - SOME	83	8.28	836	83.35
3 - ALMOST ALL	107	10.67	943	94.02
4 - ALL	39	3.89	982	97.91
6 - DON'T KNOW	21	2.09	1003	100.00

What portion of [S.C.]'s mental health medication needs in the last 12 months was paid for by Child Welfare or Adoption Agency?

	F16A_C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	882	87.94	882	87.94
M - MISSING IN	ERROR	7	0.70	889	88.63
1 - NONE		103	10.27	992	98.90
2 - SOME		2	0.20	994	99.10
4 - ALL		1	0.10	995	99.20
6 - DON'T KNOW		8	0.80	1003	100.00

What portion of [S.C.]'s mental health medication needs in the last 12 months was paid for by you?

F	16A_D Freque	ency Percen	Cumulative t Frequency	
L - LEGITIMATE S	KIP 6	69.69	699	69.69
1 - NONE		94 9.37	793	79.06
2 - SOME	1	55 15.45	948	94.52
3 - ALMOST ALL		21 2.09	969	96.61
4 - ALL		14 1.40	983	98.01
6 - DON'T KNOW		20 1.99	1003	100.00

Is there any other source helping pay for mental health medications?

			F16A_E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L	-	LEGITIMATE	SKIP	713	71.09	713	71.09
M	-	MISSING IN	ERROR	1	0.10	714	71.19
0	-	NO		261	26.02	975	97.21
1	-	YES		12	1.20	987	98.40
6	-	DON'T KNOW		16	1.60	1003	100.00

The FREQ Procedure

In the last 12 months did [S.C.] receive any dental or orthodontia care?

	F17	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		82	8.18	82	8.18
1 - YES		920	91.72	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

What portion of [S.C.]'s dental or orthodontia care in the past 12 months was paid for by Medicaid?

F17A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	710	70.79	710	70.79
1 - NONE	46	4.59	756	75.37
2 - SOME	38	3.79	794	79.16
3 - ALMOST ALL	14	1.40	808	80.56
4 - ALL	193	19.24	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

What portion of [S.C.]'s dental or orthodontia care in the past 12 months was paid for by insurance other than Medicaid?

F17B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	276	27.52	276	27.52
1 - NONE	135	13.46	411	40.98
2 - SOME	219	21.83	630	62.81
3 - ALMOST ALL	206	20.54	836	83.35
4 - ALL	163	16.25	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

What portion of [S.C.]'s dental or orthodontia care in the past 12 months was paid for by Child Welfare or Adoption Agency?

F17C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	808	80.56	808	80.56
M - MISSING IN ERROR	15	1.50	823	82.05
1 - NONE	170	16.95	993	99.00
2 - SOME	7	0.70	1000	99.70
4 - ALL	3	0.30	1003	100.00

What portion of [S.C.]'s dental or orthodontia care in the past 12 months was paid for by you?

F17D	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	442	44.07	442	44.07
1 - NONE	42	4.19	484	48.26
2 - SOME	320	31.90	804	80.16
3 - ALMOST ALL	83	8.28	887	88.43
4 - ALL	115	11.47	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Is there any other source helping pay for dental care?

F1	7E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIF)	557	55.53	557	55.53
0 - NO		418	41.67	975	97.21
1 - YES		27	2.69	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

The FREQ Procedure

Other source helping pay for dental care = insurance other than Medicaid

F17EA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	988	98.50	988	98.50
1 - YES	15	1.50	1003	100.00

Other source helping pay for dental care = Medicaid

			Cumulative	Cumulative
F17EA_2	Frequency	Percent	Frequency	Percent
L - LEGITIMATE SKIP	1002	99.90	1002	99.90
1 - YES	1	0.10	1003	100.00

In the last 12 months has [S.C.] had any medical care including vision and hearing?

	F18	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		133	13.26	133	13.26
1 - YES		869	86.64	1002	99.90
6 - DON'T KNOW		1	0.10	1003	100.00

What portion of [S.C.]'s medical care in the past 12 months was paid for by Medicaid?

F18A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
1 - NONE	65	6.48	719	71.68
2 - SOME	67	6.68	786	78.36
3 - ALMOST ALL	16	1.60	802	79.96
4 - ALL	200	19.94	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

What portion of [S.C.]'s medical care in the past 12 months was paid for by insurance other than Medicaid?

F18B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	334	33.30	334	33.30
1 - NONE	45	4.49	379	37.79
2 - SOME	189	18.84	568	56.63
3 - ALMOST ALL	307	30.61	875	87.24
4 - ALL	127	12.66	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

What portion of [S.C.]'s medical care in the past 12 months was paid for by Child Welfare or Adoption Agency?

F	-18C Frequen	cy Percen	Cumulative t Frequency	
L - LEGITIMATE SKI	[P 82	5 82.25	825	82.25
M - MISSING IN ERF	ROR 1	2 1.20	837	83.45
1 - NONE	16	2 16.15	999	99.60
2 - SOME	;	3 0.30	1002	99.90
4 - ALL		1 0.10	1003	100.00

The FREQ Procedure

What portion of [S.C.]'s medical care in the past 12 months was paid for by you?

F18l) Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	462	46.06	462	46.06
1 - NONE	40	3.99	502	50.05
2 - SOME	423	42.17	925	92.22
3 - ALMOST ALL	43	4.29	968	96.51
4 - ALL	34	3.39	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Is there any other source helping pay for medical care?

F18E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	496	49.45	496	49.45
O - NO	489	48.75	985	98.21
1 - YES	18	1.79	1003	100.00

Other source helping pay for medical care = insurance other than Medicaid

F18EA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	993	99.00	993	99.00
1 - YES	10	1.00	1003	100.00

Other source helping pay for medical care = Medicaid

F18EA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1002	99.90	1002	99.90
1 - YES	1	0.10	1003	100.00

At the time of [S.C.]'s adoption, were you [or your spouse/partner] aware of the federal adoption tax credit?

F19	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	284	28.32	284	28.32
0 - NO	287	28.61	571	56.93
1 - YES	410	40.88	981	97.81
6 - DON'T KNOW	21	2.09	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Did you [or your spouse/partner] file for the adoption tax credit on your income tax return?

F19A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	571	56.93	571	56.93
O - NO	79	7.88	650	64.81
1 - YES	327	32.60	977	97.41
6 - DON'T KNOW	26	2.59	1003	100.00

At the time of [S.C.]'s adoption, did your [or your spouse's/partner's] employer provide financial assistance for the adoption?

	F20	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		899	89.63	899	89.63
1 - YES		101	10.07	1000	99.70
6 - DON'T KNOW		3	0.30	1003	100.00

The FREQ Procedure

Did you [or your spouse/partner] ever meet with someone at an adoption agency or post-adoption agency to discuss post-adoption services?

	N1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
0 - NO		618	61.62	618	61.62
1 - YES		377	37.59	995	99.20
6 - DON'T KNOW		8	0.80	1003	100.00

Was this someone you [or your spouse/partner] had contact with prior to [S.C.]'s adoption?

N1A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	625	62.31	625	62.31
P - PARTIAL INTERVIEW	1	0.10	626	62.41
0 - NO	59	5.88	685	68.30
1 - YES	315	31.41	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

Did you [or your spouse/partner] find this to be very helpful, somewhat helpful, or not very helpful to you, your family, or [S.C.]?

N1B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	625	62.31	625	62.31
P - PARTIAL INTERVIEW	1	0.10	626	62.41
1 - VERY HELPFUL	173	17.25	799	79.66
2 - SOMEWHAT HELPFUL	134	13.36	933	93.02
3 - NOT VERY HELPFUL	68	6.78	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Did you [or your spouse/partner] want to meet with someone at an adoption agency to discuss post-adoption services and supports after the adoption was finalized?

N1C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	377	37.59	377	37.59
P - PARTIAL INTERVIEW	1	0.10	378	37.69
O - NO	542	54.04	920	91.72
1 - YES	74	7.38	994	99.10
6 - DON'T KNOW	9	0.90	1003	100.00

Why weren't you [or your spouse/partner] able to meet with someone to discuss post-adoption services and supports - No such worker at my agency

N1DX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	928	92.52	928	92.52
P - PARTIAL INTERVIEW	1	0.10	929	92.62
O - NO	65	6.48	994	99.10
1 - YES	8	0.80	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why weren't you [or your spouse/partner] able to meet with someone to discuss post-adoption services and supports - Agency did not offer services

N1DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	928	92.52	928	92.52
P - PARTIAL INTERVIEW	1	0.10	929	92.62
0 - NO	23	2.29	952	94.92
1 - YES	50	4.99	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Why weren't you [or your spouse/partner] able to meet with someone to discuss post-adoption services and supports - Did not qualify for this service.

		N1DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L	-	LEGITIMATE SKIP	928	92.52	928	92.52
Р	-	PARTIAL INTERVIEW	1	0.10	929	92.62
0	-	NO	65	6.48	994	99.10
1	-	YES	8	0.80	1002	99.90
6	-	DON'T KNOW	1	0.10	1003	100.00

Why weren't you [or your spouse/partner] able to meet with someone to discuss post-adoption services and supports - Schedules conflicted

N1DXO4R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	928	92.52	928	92.52
P - PARTIAL INTERVIEW	1	0.10	929	92.62
O - NO	69	6.88	998	99.50
1 - YES	4	0.40	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why weren't you [or your spouse/partner] able to meet with someone to discuss post-adoption services and supports - No time.

N1DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	928	92.52	928	92.52
P - PARTIAL INTERVIEW	1	0.10	929	92.62
O - NO	73	7.28	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why weren't you [or your spouse/partner] able to meet with someone to discuss post-adoption services and supports - Other.

	N1DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMAT	E SKIP	928	92.52	928	92.52
P - PARTIAL I	NTERVIEW	1	0.10	929	92.62
0 - NO		39	3.89	968	96.51
1 - YES		34	3.39	1002	99.90
6 - DON'T KNO	W	1	0.10	1003	100.00

Other reason: distance/transportation issues

N1DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	997	99.40	997	99.40
P - PARTIAL INTERVIEW	1	0.10	998	99.50
1 - YES	5	0.50	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N1DA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	999	99.60	999	99.60
P - PARTIAL INTERVIEW	1	0.10	1000	99.70
1 - YES	3	0.30	1003	100.00

The FREQ Procedure

Has [S.C.] ever participated in an adoption support group for children or youth?

N2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	34	3.39	34	3.39
M - MISSING IN ERROR	1	0.10	35	3.49
P - PARTIAL INTERVIEW	1	0.10	36	3.59
O - NO	833	83.05	869	86.64
1 - YES	131	13.06	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful?

N2A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
1 - VERY HELPFUL	55	5.48	927	92.42
2 - SOMEWHAT HELPFUL	50	4.99	977	97.41
3 - NOT VERY HELPFUL	26	2.59	1003	100.00

Did [S.C.] find this to be very helpful, somewhat helpful, or not very helpful?

N2B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
1 - VERY HELPFUL	42	4.19	914	91.13
2 - SOMEWHAT HELPFUL	44	4.39	958	95.51
3 - NOT VERY HELPFUL	43	4.29	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you [or your spouse/partner] or [S.C.] hear about this support group - Child's school.

N2BAX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
O - NO	124	12.36	996	99.30
1 - YES	5	0.50	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption worker.

N2BAX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
0 - NO	123	12.26	995	99.20
1 - YES	6	0.60	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption agency / Child welfare agency.

N2BAX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
O - NO	73	7.28	945	94.22
1 - YES	56	5.58	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption attorney.

N2BAX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
O - NO	126	12.56	998	99.50
1 - YES	3	0.30	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you [or your spouse/partner] or [S.C.] hear about this support group - Community or local newspaper.

N2BAX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
O - NO	114	11.37	986	98.31
1 - YES	15	1.50	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you [or your spouse/partner] or [S.C.] hear about this support group - Adoption website or listserv.

N2BAX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
O - NO	123	12.26	995	99.20
1 - YES	6	0.60	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you [or your spouse/partner] or [S.C.] hear about this support group - Other Parents.

N2BAX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
O - NO	116	11.57	988	98.50
1 - YES	13	1.30	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you [or your spouse/partner] or [S.C.] hear about this support group - Other.

N2BAX08	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	871	86.84	871	86.84
P - PARTIAL INTERVIEW	1	0.10	872	86.94
O - NO	93	9.27	965	96.21
1 - YES	36	3.59	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Other source: friend/acquaintance/church/word of mouth

	N2BAA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMA	TE SKIP	990	98.70	990	98.70
P - PARTIAL	INTERVIEW	1	0.10	991	98.80
1 - YES		12	1.20	1003	100.00

The FREQ Procedure

Other source: clinic/hospital/other service provider

N2BAA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP P - PARTIAL INTERVIEW	993	99.00	993	99.00
1 - YES	9	0.10 0.90	994 1003	100.00

Did you [or your spouse/partner] ever want [S.C.] to participate in an adoption support group?

N2C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	166	16.55	166	16.55
P - PARTIAL INTERVIEW	1	0.10	167	16.65
0 - NO	635	63.31	802	79.96
1 - YES	183	18.25	985	98.21
6 - DON'T KNOW	18	1.79	1003	100.00

Why wasn't [S.C.] able to participate in a support group - Didn' know where to find service

N2DX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	819	81.66	819	81.66
P - PARTIAL INTERVIEW	1	0.10	820	81.75
0 - NO	96	9.57	916	91.33
1 - YES	86	8.57	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why wasn't [S.C.] able to participate in a support group - None close

N2DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	819	81.66	819	81.66
P - PARTIAL INTERVIEW	1	0.10	820	81.75
O - NO	142	14.16	962	95.91
1 - YES	40	3.99	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why wasn't [S.C.] able to participate in a support group - Cost.

N2DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	819	81.66	819	81.66
P - PARTIAL INTERVIEW	1	0.10	820	81.75
O - NO	182	18.15	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why wasn't [S.C.] able to participate in a support group - Child refused or not interested.

N2DX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	819	81.66	819	81.66
P - PARTIAL INTERVIEW	1	0.10	820	81.75
O - NO	153	15.25	973	97.01
1 - YES	29	2.89	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Why wasn't [S.C.] able to participate in a support group - Other.

N2DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	819	81.66	819	81.66
P - PARTIAL INTERVIEW	1	0.10	820	81.75
O - NO	116	11.57	936	93.32
1 - YES	66	6.58	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Other reason: child unable due to condition/behavior

N2DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	996	99.30	996	99.30
P - PARTIAL INTERVIEW	1	0.10	997	99.40
1 - YES	6	0.60	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N2DA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
1 - YES	22	2.19	1003	100.00

Have you [or your spouse/partner] ever participated in an adoption support group?

N3	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
0 - NO	674	67.20	675	67.30
1 - YES	328	32.70	1003	100.00

Did you [or your spouse/partner] find this to be very helpful, somewhat helpful, or not very helpful?

N3A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1	0.10	675	67.30
1 - VERY HELPFUL	144	14.36	819	81.66
2 - SOMEWHAT HELPFUL	128	12.76	947	94.42
3 - NOT VERY HELPFUL	56	5.58	1003	100.00

How did you [or your spouse/partner] hear about this support group(s) - Adoption worker.

N3BX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1 1	0.10	675	67.30
O - NO	307	30.61	982	97.91
1 - YES	13	1.30	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

The FREQ Procedure

How did you [or your spouse/partner] hear about this support group(s) - Adoption agency

N3BX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1	0.10	675	67.30
0 - NO	177	17.65	852	84.95
1 - YES	143	14.26	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

How did you [or your spouse/partner] hear about this support group(s) - Adoption attorney.

N3BX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1	0.10	675	67.30
O - NO	310	30.91	985	98.21
1 - YES	10	1.00	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

How did you [or your spouse/partner] hear about this support group(s) - Newspaper.

N3BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1	0.10	675	67.30
O - NO	311	31.01	986	98.31
1 - YES	9	0.90	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

How did you [or your spouse/partner] hear about this support group(s) - Adoption website or listserv.

N3BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1	0.10	675	67.30
O - NO	300	29.91	975	97.21
1 - YES	20	1.99	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

How did you [or your spouse/partner] hear about this support group(s) - Other parents.

N3BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1	0.10	675	67.30
0 - NO	280	27.92	955	95.21
1 - YES	40	3.99	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

How did you [or your spouse/partner] hear about this support group(s) - Other.

N3BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	674	67.20	674	67.20
P - PARTIAL INTERVIEW	1	0.10	675	67.30
0 - NO	218	21.73	893	89.03
1 - YES	102	10.17	995	99.20
6 - DON'T KNOW	8	0.80	1003	100.00

The FREQ Procedure

Other source: friend/acquaintance/church/word of mouth

N3BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	952	94.92	952	94.92
P - PARTIAL INTERVIEW	1	0.10	953	95.01
1 - YES	50	4.99	1003	100.00

Other source: clinic/hospital/other service provider

N3BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	987	98.40	987	98.40
P - PARTIAL INTERVIEW	1	0.10	988	98.50
1 - YES	15	1.50	1003	100.00

 ${\tt Did\ you\ [or\ your\ spouse/partner]\ ever\ want\ to\ participate\ in\ an\ adoption\ support\ group?}$

N3C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	328	32.70	328	32.70
P - PARTIAL INTERVIEW	1	0.10	329	32.80
O - NO	546	54.44	875	87.24
1 - YES	119	11.86	994	99.10
6 - DON'T KNOW	9	0.90	1003	100.00

Why weren't you [or your spouse/partner] able to participate in a support group - Did not have room.

N3DX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	883	88.04	883	88.04
P - PARTIAL INTERVIEW	1	0.10	884	88.14
O - NO	119	11.86	1003	100.00

Why weren't you [or your spouse/partner] able to participate in a support group - Cost.

N3DX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	883	88.04	883	88.04
P - PARTIAL INTERVIEW	1	0.10	884	88.14
O - NO	119	11.86	1003	100.00

Why weren't you [or your spouse/partner] able to participate in a support group - Didn' know where to find service

N3DX03R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	883	88.04	883	88.04
P - PARTIAL INTERVIEW	1	0.10	884	88.14
O - NO	46	4.59	930	92.72
1 - YES	73	7.28	1003	100.00

Why weren't you [or your spouse/partner] able to participate in a support group - None close

N3DX04R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	883	88.04	883	88.04
P - PARTIAL INTERVIEW	1	0.10	884	88.14
O - NO	86	8.57	970	96.71
1 - YES	33	3.29	1003	100.00

The FREQ Procedure

Why weren't you [or your spouse/partner] able to participate in a support group - Other.

N3DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	883	88.04	883	88.04
P - PARTIAL INTERVIEW	1	0.10	884	88.14
O - NO	74	7.38	958	95.51
1 - YES	45	4.49	1003	100.00

Other reason: time/scheduling difficulties

N3DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	988	98.50	988	98.50
P - PARTIAL INTERVIEW	1	0.10	989	98.60
1 - YES	14	1.40	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N3DA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	995	99.20	995	99.20
P - PARTIAL INTERVIEW	1	0.10	996	99.30
1 - YES	7	0.70	1003	100.00

Since the time of [his/her] adoption, has [S.C.] ever received mental health care or counseling?

			Cumulative Cumulati		
N5	Frequency	Percent	Frequency	Percent	
L - LEGITIMATE SKIP	34	3.39	34	3.39	
M - MISSING IN ERROR	1	0.10	35	3.49	
P - PARTIAL INTERVIEW	1	0.10	36	3.59	
O - NO	347	34.60	383	38.19	
1 - YES	618	61.62	1001	99.80	
6 - DON'T KNOW	1	0.10	1002	99.90	
7 - REFUSED	1	0.10	1003	100.00	

Was payment for mental health care or counseling for [S.C.] written into your adoption agreement?

N5A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	730	72.78	730	72.78
P - PARTIAL INTERVIEW	1	0.10	731	72.88
O - NO	160	15.95	891	88.83
1 - YES	98	9.77	989	98.60
6 - DON'T KNOW	14	1.40	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]?

N5B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
1 - VERY HELPFUL	321	32.00	706	70.39
2 - SOMEWHAT HELPFUL	221	22.03	927	92.42
3 - NOT VERY HELPFUL	74	7.38	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

Did [S.C.] find this to be very helpful, somewhat helpful, or not very helpful?

N5C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
1 - VERY HELPFUL	201	20.04	586	58.42
2 - SOMEWHAT HELPFUL	244	24.33	830	82.75
3 - NOT VERY HELPFUL	140	13.96	970	96.71
6 - DON'T KNOW	33	3.29	1003	100.00

How did you hear about this mental health care or counseling - Child's school

N5DX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
O - NO	530	52.84	915	91.23
1 - YES	78	7.78	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

How did you hear about this mental health care or counseling - $Medical\ professional$

N5DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
O - NO	390	38.88	775	77.27
1 - YES	218	21.73	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

How did you hear about this mental health care or counseling - Adoption worker.

N5DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
O - NO	589	58.72	974	97.11
1 - YES	19	1.89	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

How did you hear about this mental health care or counseling - Adoption agency or child welfare agency.

N5DX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
0 - NO	530	52.84	915	91.23
1 - YES	78	7.78	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

How did you hear about this mental health care or counseling - Adoption attorney.

N5DX08	5 Frequency	Percent	Cumulative Frequency	
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	V 1	0.10	385	38.38
O - NO	606	60.42	991	98.80
1 - YES	2	0.20	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

The FREQ Procedure

How did you hear about this mental health care or counseling - Newspaper.

N5DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
O - NO	594	59.22	979	97.61
1 - YES	14	1.40	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

How did you hear about this mental health care or counseling - Adoption website or listserv.

N5DX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
0 - NO	602	60.02	987	98.40
1 - YES	6	0.60	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

How did you hear about this mental health care or counseling - Other parents.

N5DX08	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
0 - NO	560	55.83	945	94.22
1 - YES	48	4.79	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

How did you hear about this mental health care or counseling - Other.

N5DX09	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	384	38.29	384	38.29
P - PARTIAL INTERVIEW	1	0.10	385	38.38
O - NO	412	41.08	797	79.46
1 - YES	196	19.54	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

Other source: ${\tt friend/acquaintance/church/word} \ \, {\tt of} \ \, {\tt mouth}$

N5DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	935	93.22	935	93.22
P - PARTIAL INTERVIEW	1	0.10	936	93.32
1 - YES	67	6.68	1003	100.00

Other source: clinic/hospital/other service provider

N5DA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	985	98.21	985	98.21
P - PARTIAL INTERVIEW	1	0.10	986	98.31
1 - YES	17	1.69	1003	100.00

The FREQ Procedure

Did you ever want [S.C.] to receive mental health care or counseling?

N5E	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	653	65.10	653	65.10
P - PARTIAL INTERVIEW	1	0.10	654	65.20
O - NO	312	31.11	966	96.31
1 - YES	33	3.29	999	99.60
6 - DON'T KNOW	3	0.30	1002	99.90
7 - REFUSED	1	0.10	1003	100.00

Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - Did not have room

N5FX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	969	96.61	969	96.61
P - PARTIAL INTERVIEW	1	0.10	970	96.71
O - NO	31	3.09	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - Cos

N5FX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	969	96.61	969	96.61
P - PARTIAL INTERVIEW	1	0.10	970	96.71
O - NO	30	2.99	1000	99.70
1 - YES	2	0.20	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - Didn' know where to find service.

N5FX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	969	96.61	969	96.61
P - PARTIAL INTERVIEW	1	0.10	970	96.71
0 - NO	30	2.99	1000	99.70
1 - YES	2	0.20	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - None close.

N5FX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	969	96.61	969	96.61
P - PARTIAL INTERVIEW	1	0.10	970	96.71
0 - NO	28	2.79	998	99.50
1 - YES	4	0.40	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the mental health care or counseling that [he/she] needed - Other.

N5FX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	969	96.61	969	96.61
P - PARTIAL INTERVIEW	1	0.10	970	96.71
O - NO	6	0.60	976	97.31
1 - YES	26	2.59	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Other reason: not needed/a family member refused/did not follow through with it

N5FA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	979	97.61	979	97.61
P - PARTIAL INTERVIEW	1	0.10	980	97.71
1 - YES	23	2.29	1003	100.00

Since [S.C.]'s adoption, did your family ever participate in family counseling?

N6	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
O - NO	643	64.11	644	64.21
1 - YES	359	35.79	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful?

N6A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
1 - VERY HELPFUL	167	16.65	811	80.86
2 - SOMEWHAT HELPFUL	146	14.56	957	95.41
3 - NOT VERY HELPFUL	45	4.49	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about family counseling - Child's school.

N6BX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
O - NO	327	32.60	971	96.81
1 - YES	30	2.99	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you hear about family counseling - Medical professional.

N6BX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
0 - NO	238	23.73	882	87.94
1 - YES	119	11.86	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you hear about family counseling - Adoption worker

N6BX03R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
O - NO	349	34.80	993	99.00
1 - YES	8	0.80	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

How did you hear about family counseling - Adoption agency.

N6BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
O - NO	321	32.00	965	96.21
1 - YES	36	3.59	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you hear about family counseling - Adoption attorney.

N6BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
0 - NO	356	35.49	1000	99.70
1 - YES	1	0.10	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you hear about family counseling - Newspaper.

N6BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
O - NO	345	34.40	989	98.60
1 - YES	12	1.20	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you hear about family counseling - Adoption website or listserv.

N6BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
O - NO	351	35.00	995	99.20
1 - YES	6	0.60	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you hear about family counseling - Other parents.

N6BX08	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
O - NO	325	32.40	969	96.61
1 - YES	32	3.19	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

How did you hear about family counseling - Other.

N6BX09	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	643	64.11	643	64.11
P - PARTIAL INTERVIEW	1	0.10	644	64.21
O - NO	217	21.64	861	85.84
1 - YES	140	13.96	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

Other source: friend/acquaintance/church/word of mouth

N6BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	962	95.91	962	95.91
P - PARTIAL INTERVIEW	1	0.10	963	96.01
1 - YES	40	3.99	1003	100.00

Other source: clinic/hospital/other service provider

N6BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	959	95.61	959	95.61
P - PARTIAL INTERVIEW	1	0.10	960	95.71
1 - YES	43	4.29	1003	100.00

 $\hbox{\tt Did you ever want your family to participate in family counseling since [S.C.]'s adoption? } \\$

N6C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	359	35.79	359	35.79
P - PARTIAL INTERVIEW	1	0.10	360	35.89
O - NO	585	58.33	945	94.22
1 - YES	52	5.18	997	99.40
6 - DON'T KNOW	6	0.60	1003	100.00

Why didn't your family participate in the counseling that you wanted - No room.

N6DX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	950	94.72	950	94.72
P - PARTIAL INTERVIEW	1	0.10	951	94.82
O - NO	50	4.99	1001	99.80
1 - YES	2	0.20	1003	100.00

Why didn't your family participate in the counseling that you wanted - Agency did not offer service

N6DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	950	94.72	950	94.72
P - PARTIAL INTERVIEW	1	0.10	951	94.82
0 - NO	48	4.79	999	99.60
1 - YES	4	0.40	1003	100.00

Why didn't your family participate in the counseling that you wanted - Did not qualify.

N6DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	950	94.72	950	94.72
P - PARTIAL INTERVIEW	1	0.10	951	94.82
0 - NO	52	5.18	1003	100.00

Why didn't your family participate in the counseling that you wanted - Cost.

N6DX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	950	94.72	950	94.72
P - PARTIAL INTERVIEW	1	0.10	951	94.82
0 - NO	49	4.89	1000	99.70
1 - YES	3	0.30	1003	100.00

The FREQ Procedure

Why didn't your family participate in the counseling that you wanted - Didn' know where to find service.

N6DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	950	94.72	950	94.72
P - PARTIAL INTERVIEW	1	0.10	951	94.82
0 - NO	47	4.69	998	99.50
1 - YES	5	0.50	1003	100.00

Why didn't your family participate in the counseling that you wanted - No service close to us.

N6DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	950	94.72	950	94.72
P - PARTIAL INTERVIEW	1	0.10	951	94.82
O - NO	49	4.89	1000	99.70
1 - YES	3	0.30	1003	100.00

Why didn't your family participate in the counseling that you wanted - Other.

N6DX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	950	94.72	950	94.72
P - PARTIAL INTERVIEW	1	0.10	951	94.82
O - NO	14	1.40	965	96.21
1 - YES	38	3.79	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N6DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	965	96.21	965	96.21
P - PARTIAL INTERVIEW	1	0.10	966	96.31
1 - YES	37	3.69	1003	100.00

After [S.C.]'s adoption, did your family ever receive crisis counseling?

N7	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
O - NO	920	91.72	921	91.82
1 - YES	81	8.08	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful?

N7A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
1 - VERY HELPFUL	36	3.59	958	95.51
2 - SOMEWHAT HELPFUL	25	2.49	983	98.01
3 - NOT VERY HELPFUL	20	1.99	1003	100.00

The FREQ Procedure

How did you hear about crisis counseling - Adoption worker.

N7BX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	79	7.88	1001	99.80
1 - YES	2	0.20	1003	100.00

How did you hear about crisis counseling - Adoption agency.

N7BX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	69	6.88	991	98.80
1 - YES	12	1.20	1003	100.00

How did you hear about crisis counseling - Adoption attorney.

N7BX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	79	7.88	1001	99.80
1 - YES	2	0.20	1003	100.00

How did you hear about crisis counseling - Newspaper.

N7BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	79	7.88	1001	99.80
1 - YES	2	0.20	1003	100.00

How did you hear about crisis counseling - Adoption website or listserv.

N7BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP P - PARTIAL INTERVIEW	921	91.82	921 922	91.82 91.92
0 - NO 1 - YES	78 3	7.78 0.30	1000 1003	99.70 100.00

How did you hear about crisis counseling - Other parents.

N7BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	78	7.78	1000	99.70
1 - YES	3	0.30	1003	100.00

The FREQ Procedure

How did you hear about crisis counseling - Other.

N7BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	22	2.19	944	94.12
1 - YES	59	5.88	1003	100.00

Other source: friend/acquaintance/church/word of mouth

N7BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	997	99.40	997	99.40
P - PARTIAL INTERVIEW	1	0.10	998	99.50
1 - YES	5	0.50	1003	100.00

Other source: clinic/hospital/other service provider

N7BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	959	95.61	959	95.61
P - PARTIAL INTERVIEW	1	0.10	960	95.71
1 - YES	43	4.29	1003	100.00

Did you ever want your family to receive crisis counseling since [S.C.]'s adoption?

N7C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	81	8.08	81	8.08
P - PARTIAL INTERVIEW	1	0.10	82	8.18
0 - NO	894	89.13	976	97.31
1 - YES	22	2.19	998	99.50
6 - DON'T KNOW	5	0.50	1003	100.00

Why didn't your family receive the crisis counseling that you needed - Did not have room.

N7DX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
O - NO	21	2.09	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't your family receive the crisis counseling that you needed - Agency did not offer service

N7DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
O - NO	15	1.50	996	99.30
1 - YES	6	0.60	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Why didn't your family receive the crisis counseling that you needed - Did not qualify.

N7DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
O - NO	20	1.99	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't your family receive the crisis counseling that you needed - Cost.

N7DX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
O - NO	20	1.99	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't your family receive the crisis counseling that you needed - Didn' know where to find service.

N7DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
O - NO	16	1.60	997	99.40
1 - YES	5	0.50	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't your family receive the crisis counseling that you needed - No such service close.

N7DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
O - NO	21	2.09	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't your family receive the crisis counseling that you needed - Other.

N7DX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	980	97.71	980	97.71
P - PARTIAL INTERVIEW	1	0.10	981	97.81
O - NO	7	0.70	988	98.50
1 - YES	14	1.40	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N7DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	992	98.90	992	98.90
P - PARTIAL INTERVIEW	1	0.10	993	99.00
1 - YES	10	1.00	1003	100.00

The FREQ Procedure

Since the time of [his/her] adoption, has [S.C.] ever received an alcohol or drug evaluation and/or treatment?

N8	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	578	57.63	578	57.63
P - PARTIAL INTERVIEW	1	0.10	579	57.73
O - NO	397	39.58	976	97.31
1 - YES	26	2.59	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Did you find these services to be very helpful, somewhat helpful, or not very helpful?

N8A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
1 - VERY HELPFUL	10	1.00	987	98.40
2 - SOMEWHAT HELPFUL	9	0.90	996	99.30
3 - NOT VERY HELPFUL	7	0.70	1003	100.00

How did you hear about the alcohol or drug services for [S.C.] - Medical professional.

	N8BX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATI	SKIP	976	97.31	976	97.31
P - PARTIAL I	NTERVIEW	1	0.10	977	97.41
0 - NO		17	1.69	994	99.10
1 - YES		9	0.90	1003	100.00

How did you hear about the alcohol or drug services for $[{\tt S.C.}]$ - Adoption worker.

	N8BX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMAT	E SKIP	976	97.31	976	97.31
P - PARTIAL I	NTERVIEW	1	0.10	977	97.41
0 - NO		25	2.49	1002	99.90
1 - YES		1	0.10	1003	100.00

How did you hear about the alcohol or drug services for [S.C.] - Adoption agency.

N8BX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
0 - NO	25	2.49	1002	99.90
1 - YES	1	0.10	1003	100.00

How did you hear about the alcohol or drug services for [S.C.] - Adoption attorney.

N8BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
0 - NO	26	2.59	1003	100.00

The FREQ Procedure

How did you hear about the alcohol or drug services for [S.C.] - Newspaper.

N8BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	25	2.49	1002	99.90
1 - YES	1	0.10	1003	100.00

How did you hear about the alcohol or drug services for [S.C.] - Adoption website or listserv.

N8BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
0 - NO	26	2.59	1003	100.00

How did you hear about the alcohol or drug services for $[S.C.\]$ - Other parents.

N8BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	25	2.49	1002	99.90
1 - YES	1	0.10	1003	100.00

How did you hear about the alcohol or drug services for [S.C.] - Other.

N8BX08	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	13	1.30	990	98.70
1 - YES	13	1.30	1003	100.00

Other source: school/police/courts

N8BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	995	99.20	995	99.20
P - PARTIAL INTERVIEW	1	0.10	996	99.30
1 - YES	7	0.70	1003	100.00

Did you ever want or need these services for [S.C.]?

N8C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	604	60.22	604	60.22
P - PARTIAL INTERVIEW	1	0.10	605	60.32
0 - NO	397	39.58	1002	99.90
1 - YES	1	0.10	1003	100.00

Why didn't [S.C.] receive this service - Did not have room.

N8DX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVIEW	1	0.10	1002	99.90
0 - NO	1	0.10	1003	100.00

The FREQ Procedure

Why didn't [S.C.] receive this service - Agency did not offer service.

N8DX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVIEW	1	0.10	1002	99.90
0 - NO	1	0.10	1003	100.00

Why didn't [S.C.] receive this service - Did not qualify.

N8DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVIEW	1	0.10	1002	99.90
O - NO	1	0.10	1003	100.00

Why didn't [S.C.] receive this service - Cost.

N8DX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVIEW	1	0.10	1002	99.90
O - NO	1	0.10	1003	100.00

Why didn't [S.C.] receive this service - Didn't know where to find service.

N8DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVIEW	1	0.10	1002	99.90
1 - YES	1	0.10	1003	100.00

Why didn't [S.C.] receive this service - No such service close.

N8DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVIEW	1	0.10	1002	99.90
O - NO	1	0.10	1003	100.00

Why didn't [S.C.] receive this service - Other.

N8DXC	07 Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVI	EW 1	0.10	1002	99.90
O - NO	1	0.10	1003	100.00

Following [his/her] adoption, did [S.C.] ever have a mentor? By mentor, I mean an adult paired with your child through a school or community organization.

34 3.39
35 3.49
36 3.59
825 82.25
999 99.60
1003 100.00

The FREQ Procedure

 $\label{thm:polynomial} \mbox{Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]? }$

N9A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
1 - VERY HELPFUL	109	10.87	938	93.52
2 - SOMEWHAT HELPFUL	53	5.28	991	98.80
3 - NOT VERY HELPFUL	12	1.20	1003	100.00

Did [S.C.] think this was very helpful, somewhat helpful, or not very helpful?

N9AA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
1 - VERY HELPFUL	103	10.27	932	92.92
2 - SOMEWHAT HELPFUL	48	4.79	980	97.71
3 - NOT VERY HELPFUL	19	1.89	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

How did you hear about the mentor - Child's school.

N9BX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
0 - NO	103	10.27	932	92.92
1 - YES	70	6.98	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about the mentor - Adoption worker.

N9BX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
O - NO	170	16.95	999	99.60
1 - YES	3	0.30	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about the mentor - $\operatorname{Adoption}$ agency.

N9BX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
O - NO	156	15.55	985	98.21
1 - YES	17	1.69	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about the mentor - Adoption attorney.

N9BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
O - NO	173	17.25	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

How did you hear about the mentor - Newspaper.

N9BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
O - NO	167	16.65	996	99.30
1 - YES	6	0.60	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about the mentor - Adoption website or listserv.

N9BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
O - NO	172	17.15	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about the mentor - Other parents.

	N9BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L	- LEGITIMATE SKIP	828	82.55	828	82.55
Р	- PARTIAL INTERVIEW	1	0.10	829	82.65
0	- NO	165	16.45	994	99.10
1	- YES	8	0.80	1002	99.90
6	- DON'T KNOW	1	0.10	1003	100.00

How did you hear about the mentor - Other.

N9BX08	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	828	82.55	828	82.55
P - PARTIAL INTERVIEW	1	0.10	829	82.65
O - NO	102	10.17	931	92.82
1 - YES	71	7.08	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Other source: friend/acquaintance/church/word of mouth

N9BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	985	98.21	985	98.21
P - PARTIAL INTERVIEW	1	0.10	986	98.31
1 - YES	17	1.69	1003	100.00

Other source: clinic/hospital/other service provider

	N9BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE	SKIP	959	95.61	959	95.61
P - PARTIAL INT	ERVIEW	1	0.10	960	95.71
1 - YES		43	4.29	1003	100.00

The FREQ Procedure

Did you [or your spouse/partner] ever want [S.C.] to have a mentor?

N9C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	209	20.84	209	20.84
P - PARTIAL INTERVIEW	1	0.10	210	20.94
0 - NO	662	66.00	872	86.94
1 - YES	121	12.06	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

Why didn't [S.C.] receive a mentor - Did not have room

N9DX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	881	87.84	881	87.84
P - PARTIAL INTERVIEW	1	0.10	882	87.94
O - NO	106	10.57	988	98.50
1 - YES	11	1.10	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

Why didn't [S.C.] receive a mentor - Agency did not offer service

N9DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	881	87.84	881	87.84
P - PARTIAL INTERVIEW	1	0.10	882	87.94
0 - NO	86	8.57	968	96.51
1 - YES 6 - DON'T KNOW	31	3.09	999	99.60 100.00
6 - DON'T KNOW	4	0.40	1003	100.00

Why didn't [S.C.] receive a mentor - Did not qualify

N9DX03R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	881	87.84	881	87.84
P - PARTIAL INTERVIEW	1	0.10	882	87.94
O - NO	109	10.87	991	98.80
1 - YES	8	0.80	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

Why didn't [S.C.] receive a mentor - Didn't know where to find service.

N9DX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	881	87.84	881	87.84
P - PARTIAL INTERVIEW	1	0.10	882	87.94
O - NO	90	8.97	972	96.91
1 - YES	27	2.69	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

Why didn't [S.C.] receive a mentor - No such service close.

N9DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	881	87.84	881	87.84
P - PARTIAL INTERVIEW	1	0.10	882	87.94
O - NO	99	9.87	981	97.81
1 - YES	18	1.79	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

The FREQ Procedure

Why didn't [S.C.] receive a mentor - Other.

N9DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	881	87.84	881	87.84
P - PARTIAL INTERVIEW	1	0.10	882	87.94
O - NO	65	6.48	947	94.42
1 - YES	52	5.18	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N9DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	974	97.11	974	97.11
P - PARTIAL INTERVIEW	1	0.10	975	97.21
1 - YES	28	2.79	1003	100.00

At any time since [he/she] was adopted, has [S.C.] had an academic tutor?

N10	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	34	3.39	34	3.39
M - MISSING IN ERROR	1	0.10	35	3.49
P - PARTIAL INTERVIEW	1	0.10	36	3.59
O - NO	502	50.05	538	53.64
1 - YES	462	46.06	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

Is the payment for tutoring for [S.C.] written into your adoption agreement?

N10A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	811	80.86	811	80.86
P - PARTIAL INTERVIEW	1	0.10	812	80.96
O - NO	180	17.95	992	98.90
1 - YES	9	0.90	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]?

N10AA	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
1 - VERY HELPFUL	300	29.91	841	83.85
2 - SOMEWHAT HELPFUL	127	12.66	968	96.51
3 - NOT VERY HELPFUL	34	3.39	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Did [S.C.] think that tutoring was very helpful, somewhat helpful, or not very helpful?

N10B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
1 - VERY HELPFUL	221	22.03	762	75.97
2 - SOMEWHAT HELPFUL	165	16.45	927	92.42
3 - NOT VERY HELPFUL	66	6.58	993	99.00
6 - DON'T KNOW	10	1.00	1003	100.00

The FREQ Procedure

How did you hear about this tutoring - Child's school

N10BBX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
O - NO	155	15.45	696	69.39
1 - YES	307	30.61	1003	100.00

How did you hear about this tutoring - Adoption worker

N10BBX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
0 - NO	458	45.66	999	99.60
1 - YES	4	0.40	1003	100.00

How did you hear about this tutoring - Adoption agency.

N10BBX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
O - NO	454	45.26	995	99.20
1 - YES	8	0.80	1003	100.00

How did you hear about this tutoring - Adoption attorney.

N10BBX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
O - NO	461	45.96	1002	99.90
1 - YES	1	0.10	1003	100.00

How did you hear about this tutoring - Newspaper.

N10	OBBX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE S	SKIP	540	53.84	540	53.84
P - PARTIAL INTE	ERVIEW	1	0.10	541	53.94
0 - NO		452	45.06	993	99.00
1 - YES		10	1.00	1003	100.00

How did you hear about this tutoring - Adoption website or listserv.

N10BBX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
O - NO	457	45.56	998	99.50
1 - YES	5	0.50	1003	100.00

The FREQ Procedure

How did you hear about this tutoring - Other parents.

N10BBX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
O - NO	433	43.17	974	97.11
1 - YES	29	2.89	1003	100.00

How did you hear about this tutoring - Other.

N10BBX08	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	540	53.84	540	53.84
P - PARTIAL INTERVIEW	1	0.10	541	53.94
O - NO	336	33.50	877	87.44
1 - YES	126	12.56	1003	100.00

Other source: friend/acquaintance/church/word of mouth

N10BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	962	95.91	962	95.91
P - PARTIAL INTERVIEW	1	0.10	963	96.01
1 - YES	40	3.99	1003	100.00

Other source: clinic/hospital/other service provider

N10BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	986	98.31	986	98.31
P - PARTIAL INTERVIEW	1	0.10	987	98.40
1 - YES	16	1.60	1003	100.00

Did you [or your spouse/partner] ever want tutoring for [S.C.]?

N10C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	497	49.55	497	49.55
P - PARTIAL INTERVIEW	1	0.10	498	49.65
O - NO	407	40.58	905	90.23
1 - YES	97	9.67	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the tutoring that [he/she] needed - Did not have room

N10DX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	905	90.23	905	90.23
P - PARTIAL INTERVIEW	1	0.10	906	90.33
0 - NO	95	9.47	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Why didn't [S.C.] receive the tutoring that [he/she] needed - Agency did not offer services

N10DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	905	90.23	905	90.23
P - PARTIAL INTERVIEW	1	0.10	906	90.33
0 - NO	85	8.47	991	98.80
1 - YES	11	1.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the tutoring that [he/she] needed - Cost.

N10DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	905	90.23	905	90.23
P - PARTIAL INTERVIEW	1	0.10	906	90.33
O - NO	74	7.38	980	97.71
1 - YES	22	2.19	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the tutoring that [he/she] needed - Did not qualify

N10DX04R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	905	90.23	905	90.23
P - PARTIAL INTERVIEW	1	0.10	906	90.33
0 - NO	90	8.97	996	99.30
1 - YES	6	0.60	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the tutoring that [he/she] needed - Didn' know where to find service

N10DX05R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	905	90.23	905	90.23
P - PARTIAL INTERVIEW	1	0.10	906	90.33
O - NO	79	7.88	985	98.21
1 - YES	17	1.69	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the tutoring that [he/she] needed - No such service close

N10DX06R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	905	90.23	905	90.23
P - PARTIAL INTERVIEW	1	0.10	906	90.33
0 - NO	89	8.87	995	99.20
1 - YES	7	0.70	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Why didn't [S.C.] receive the tutoring that [he/she] needed - Other.

N10DX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	905	90.23	905	90.23
P - PARTIAL INTERVIEW	1	0.10	906	90.33
O - NO	43	4.29	949	94.62
1 - YES	53	5.28	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Other reason: not needed/a family member refused/did not follow through with it

N10DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	964	96.11	964	96.11
P - PARTIAL INTERVIEW	1	0.10	965	96.21
1 - YES	38	3.79	1003	100.00

Following [S.C.]'s adoption, did you [or your spouse/partner] receive assistance paying for child care for [S.C.]?

N11	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	545	54.34	545	54.34
M - MISSING IN ERROR	24	2.39	569	56.73
P - PARTIAL INTERVIEW	1	0.10	570	56.83
O - NO	353	35.19	923	92.02
1 - YES	78	7.78	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful?

N11A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
1 - VERY HELPFUL	62	6.18	988	98.50
2 - SOMEWHAT HELPFUL	12	1.20	1000	99.70
3 - NOT VERY HELPFUL	3	0.30	1003	100.00

How did you hear about this child care assistance - Adoption worker

N11BX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
O - NO	59	5.88	985	98.21
1 - YES	18	1.79	1003	100.00

How did you hear about this child care assistance - Adoption agency.

N11BX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
O - NO	47	4.69	973	97.01
1 - YES	30	2.99	1003	100.00

How did you hear about this child care assistance - Adoption attorney.

N11BX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
O - NO	77	7.68	1003	100.00

The FREQ Procedure

How did you hear about this child care assistance - Newspaper.

N11BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
0 - NO	77	7.68	1003	100.00

How did you hear about this child care assistance - Adoption website or listserv.

N11BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
O - NO	77	7.68	1003	100.00

How did you hear about this child care assistance - Other parents.

N11BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
O - NO	74	7.38	1000	99.70
1 - YES	3	0.30	1003	100.00

How did you hear about this child care assistance - Other.

N11BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	924	92.12	924	92.12
M - MISSING IN ERROR	1	0.10	925	92.22
P - PARTIAL INTERVIEW	1	0.10	926	92.32
O - NO	44	4.39	970	96.71
1 - YES	33	3.29	1003	100.00

Other source: clinic/hospital/other service provider

N11BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	979	97.61	979	97.61
P - PARTIAL INTERVIEW	1	0.10	980	97.71
1 - YES	23	2.29	1003	100.00

Did you ever want or need help paying for child care for [S.C.]?

N11C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	647	64.51	647	64.51
P - PARTIAL INTERVIEW	1	0.10	648	64.61
0 - NO	274	27.32	922	91.92
1 - YES	81	8.08	1003	100.00

The FREQ Procedure

Why didn't you receive the child care assistance that you needed - Did not have room.

N11DX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	77	7.68	999	99.60
1 - YES	2	0.20	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Why didn't you receive the child care assistance that you needed - Agency did not offer service

N11DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	54	5.38	976	97.31
1 - YES	25	2.49	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Why didn't you receive the child care assistance that you needed - Cost.

N11DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
0 - NO	79	7.88	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Why didn't you receive the child care assistance that you needed - Did not qualify

N11DX04R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	48	4.79	970	96.71
1 - YES	31	3.09	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Why didn't you receive the child care assistance that you needed - Didn' know where to find service

N11DX05R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
0 - NO	63	6.28	985	98.21
1 - YES	16	1.60	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Why didn't you receive the child care assistance that you needed - No such services close.

N11DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	76	7.58	998	99.50
1 - YES	3	0.30	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

The FREQ Procedure

Why didn't you receive the child care assistance that you needed - Other.

N11DX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	55	5.48	977	97.41
1 - YES	24	2.39	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N11DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	993	99.00	993	99.00
P - PARTIAL INTERVIEW	1	0.10	994	99.10
1 - YES	9	0.90	1003	100.00

Did you [or your spouse/partner] receive any respite care following your adoption of [S.C.]?

N12	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	545	54.34	545	54.34
M - MISSING IN ERROR	24	2.39	569	56.73
P - PARTIAL INTERVIEW	1	0.10	570	56.83
O - NO	361	35.99	931	92.82
1 - YES	72	7.18	1003	100.00

Did you [or your spouse/partner] find respite care to be very helpful, somewhat helpful, or not very helpful?

N12A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
1 - VERY HELPFUL	56	5.58	987	98.40
2 - SOMEWHAT HELPFUL	11	1.10	998	99.50
3 - NOT VERY HELPFUL	5	0.50	1003	100.00

How did you [or your spouse/partner] hear about respite care - Adoption worker

N12BX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
O - NO	59	5.88	990	98.70
1 - YES	13	1.30	1003	100.00

How did you [or your spouse/partner] hear about respite care - Adoption agency.

N12BX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
O - NO	49	4.89	980	97.71
1 - YES	23	2.29	1003	100.00

The FREQ Procedure

How did you [or your spouse/partner] hear about respite care - Adoption attorney.

N12BX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
0 - NO	72	7.18	1003	100.00

How did you [or your spouse/partner] hear about respite care - Newspaper.

N12BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
O - NO	72	7.18	1003	100.00

 $\label{partner} \mbox{How did you [or your spouse/partner] hear about respite care - \mbox{Adoption website or listserv.} \\$

N12BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
0 - NO	72	7.18	1003	100.00

How did you [or your spouse/partner] hear about respite care - Other parents.

N12BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
0 - NO	70	6.98	1001	99.80
1 - YES	2	0.20	1003	100.00

How did you [or your spouse/partner] hear about respite care - Other.

N12BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	930	92.72	930	92.72
P - PARTIAL INTERVIEW	1	0.10	931	92.82
O - NO	32	3.19	963	96.01
1 - YES	40	3.99	1003	100.00

Other source: friend/acquaintance/church/word of mouth

N12BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1000	99.70	1000	99.70
P - PARTIAL INTERVIEW	1	0.10	1001	99.80
1 - YES	2	0.20	1003	100.00

Other source: clinic/hospital/other service provider

N12BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	973	97.01	973	97.01
P - PARTIAL INTERVIEW	1	0.10	974	97.11
1 - YES	29	2.89	1003	100.00

The FREQ Procedure

Did you [or your spouse/partner] ever need this service since adopting [S.C.]?

N12C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	641	63.91	641	63.91
P - PARTIAL INTERVIEW	1	0.10	642	64.01
O - NO	280	27.92	922	91.92
1 - YES	81	8.08	1003	100.00

Why didn't you receive this service that you needed - Did not have room

N12DX01R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	78	7.78	1000	99.70
1 - YES	3	0.30	1003	100.00

Why didn't you receive this service that you needed - Agency did not offer services

N12DX02R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	47	4.69	969	96.61
1 - YES	34	3.39	1003	100.00

Why didn't you receive this service that you needed - Cost.

N12DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	80	7.98	1002	99.90
1 - YES	1	0.10	1003	100.00

Why didn't you receive this service that you needed - Did not qualify

N12DX04R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
0 - NO	75	7.48	997	99.40
1 - YES	6	0.60	1003	100.00

Why didn't you receive this service that you needed - Didn' know where to find service

N12DX05R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	59	5.88	981	97.81
1 - YES	22	2.19	1003	100.00

The FREQ Procedure

Why didn't you receive this service that you needed - No such services close.

N12DX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	72	7.18	994	99.10
1 - YES	9	0.90	1003	100.00

Why didn't you receive this service that you needed - Other.

N12DX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	921	91.82	921	91.82
P - PARTIAL INTERVIEW	1	0.10	922	91.92
O - NO	45	4.49	967	96.41
1 - YES	36	3.59	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N12DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	985	98.21	985	98.21
P - PARTIAL INTERVIEW	1	0.10	986	98.31
1 - YES	17	1.69	1003	100.00

Was the payment for residential treatment or psychiatric facility for [S.C.] written into your adoption agreement?

N14 <i>A</i>	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	963	96.01	963	96.01
P - PARTIAL INTERVIEW	/ 1	0.10	964	96.11
0 - NO	28	2.79	992	98.90
1 - YES	7	0.70	999	99.60
6 - DON'T KNOW	4	0.40	1003	100.00

What portion of [S.C.]'s placement(s) in a group home or residential treatment facility or psychiatric facility was paid for by Medicaid?

N14AA1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
1 - NONE	35	3.49	959	95.61
2 - SOME	12	1.20	971	96.81
3 - ALMOST ALL	5	0.50	976	97.31
4 - ALL	26	2.59	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

What portion of [S.C.]'s placement(s) in a group home or residential treatment facility or psychiatric facility was paid for by insurance other than Medicaid?

N14AA2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	949	94.62	949	94.62
P - PARTIAL INTERVIEW	1	0.10	950	94.72
1 - NONE	11	1.10	961	95.81
2 - SOME	23	2.29	984	98.11
3 - ALMOST ALL	11	1.10	995	99.20
4 - ALL	8	0.80	1003	100.00

The FREQ Procedure

What portion of [S.C.]'s placement(s) in a group home or residential treatment facility or psychiatric facility was paid for by child welfare or adoption agency?

N14AA3	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	981	97.81	981	97.81
M - MISSING IN ERROR	2	0.20	983	98.01
P - PARTIAL INTERVIEW	1	0.10	984	98.11
1 - NONE	17	1.69	1001	99.80
2 - SOME	2	0.20	1003	100.00

What portion of [S.C.]'s placement(s) in a group home or residential treatment facility or psychiatric facility was paid for by you?

N14AA4	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	957	95.41	957	95.41
P - PARTIAL INTERVIEW	1	0.10	958	95.51
1 - NONE	8	0.80	966	96.31
2 - SOME	25	2.49	991	98.80
3 - ALMOST ALL	7	0.70	998	99.50
4 - ALL	5	0.50	1003	100.00

Is there any other source helping pay for the placement?

N14AA5	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	962	95.91	962	95.91
P - PARTIAL INTERVIEW	1	0.10	963	96.01
O - NO	36	3.59	999	99.60
1 - YES	4	0.40	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful for [S.C.]?

N14B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
1 - VERY HELPFUL	48	4.79	972	96.91
2 - SOMEWHAT HELPFUL	24	2.39	996	99.30
3 - NOT VERY HELPFUL	7	0.70	1003	100.00

How did you hear about this facility - Medical professional.

N14BBX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
O - NO	34	3.39	958	95.51
1 - YES	44	4.39	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about this facility - Adoption worker.

N14BBX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
O - NO	77	7.68	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

How did you hear about this facility - Adoption agency.

N14BBX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
O - NO	74	7.38	998	99.50
1 - YES	4	0.40	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about this facility - Adoption attorney.

N14BBX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
O - NO	77	7.68	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about this facility - Newspaper.

N14BBX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
O - NO	78	7.78	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about this facility - Adoption website or listserv.

N14BBX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
0 - NO	77	7.68	1001	99.80
1 - YES	1	0.10	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about this facility - Other parents.

N14BBX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
O - NO	76	7.58	1000	99.70
1 - YES	2	0.20	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

How did you hear about this facility - Other.

N14BBX08	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	923	92.02	923	92.02
P - PARTIAL INTERVIEW	1	0.10	924	92.12
O - NO	51	5.08	975	97.21
1 - YES	27	2.69	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

The FREQ Procedure

Other source: friend/acquaintance/church/word of mouth

N14BBA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	1001	99.80	1001	99.80
P - PARTIAL INTERVIEW	1	0.10	1002	99.90
1 - YES	1	0.10	1003	100.00

Other source: clinic/hospital/other service provider

N14BBA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	986	98.31	986	98.31
P - PARTIAL INTERVIEW	1	0.10	987	98.40
1 - YES	16	1.60	1003	100.00

 $\hbox{\tt Did you ever want [S.C.] to spend time in a residential treatment or psychiatric facility? } \\$

N14C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	506	50.45	506	50.45
P - PARTIAL INTERVIEW	1	0.10	507	50.55
O - NO	468	46.66	975	97.21
1 - YES	26	2.59	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Did not have room.

N14DX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	26	2.59	1003	100.00

Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Agency did not offer service.

N14DX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
0 - NO	26	2.59	1003	100.00

Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Cost.

N14DX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	20	1.99	997	99.40
1 - YES	6	0.60	1003	100.00

Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Did not qualify

N14DX04R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	23	2.29	1000	99.70
1 - YES	3	0.30	1003	100.00

The FREQ Procedure

Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Didn' know where to find service.

N14DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	23	2.29	1000	99.70
1 - YES	3	0.30	1003	100.00

Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - No such services close.

N14D	X06 Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKI	P 976	97.31	976	97.31
P - PARTIAL INTERV	IEW 1	0.10	977	97.41
0 - NO	24	2.39	1001	99.80
1 - YES	2	0.20	1003	100.00

Why didn't [S.C.] spend time in a facility that you felt [he/she] needed - Other.

N14DX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	976	97.31	976	97.31
P - PARTIAL INTERVIEW	1	0.10	977	97.41
O - NO	8	0.80	985	98.21
1 - YES	18	1.79	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N14DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	988	98.50	988	98.50
P - PARTIAL INTERVIEW	1	0.10	989	98.60
1 - YES	14	1.40	1003	100.00

Following your adoption of [S.C.], did you [or your spouse/partner] attend any classes, conferences, lectures, or seminars about adoption?

N18	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
0 - NO	654	65.20	655	65.30
1 - YES	348	34.70	1003	100.00

Did you find this to be very helpful, somewhat helpful, or not very helpful?

N18A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
1 - VERY HELPFUL	173	17.25	828	82.55
2 - SOMEWHAT HELPFUL	156	15.55	984	98.11
3 - NOT VERY HELPFUL	19	1.89	1003	100.00

The FREQ Procedure

How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Adoption worker.

N18BX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
O - NO	322	32.10	977	97.41
1 - YES	23	2.29	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

How did you [or your spouse/partner] hear about these classes, conferences, lectures or seminars - Adoption agency.

N18BX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
O - NO	187	18.64	842	83.95
1 - YES	158	15.75	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Adoption attorney.

N18BX03	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
0 - NO	338	33.70	993	99.00
1 - YES	7	0.70	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Community or local newspaper.

N18BX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
O - NO	314	31.31	969	96.61
1 - YES	31	3.09	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Adoption website or listserv.

N18BX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
O - NO	327	32.60	982	97.91
1 - YES	18	1.79	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

How did you [or your spouse/partner] hear about these classes, conferences, lectures or seminars - Other parents.

N18BX06	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
O - NO	326	32.50	981	97.81
1 - YES	19	1.89	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

The FREQ Procedure

How did you [or your spouse/partner] hear about these classes, conferences, lectures, or seminars - Other.

N18BX07	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	654	65.20	654	65.20
P - PARTIAL INTERVIEW	1	0.10	655	65.30
O - NO	212	21.14	867	86.44
1 - YES	133	13.26	1000	99.70
6 - DON'T KNOW	3	0.30	1003	100.00

Other source: friend/acquaintance/church/word of mouth

N18BA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	982	97.91	982	97.91
P - PARTIAL INTERVIEW	1	0.10	983	98.01
1 - YES	20	1.99	1003	100.00

Other source: clinic/hospital/other service provider

N18BA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	935	93.22	935	93.22
P - PARTIAL INTERVIEW	1	0.10	936	93.32
1 - YES	67	6.68	1003	100.00

Did you [or your spouse/partner] ever wish you could attend classes, conferences, lectures, or seminars about adoption since adopting [S.C.]?

N18C	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	348	34.70	348	34.70
P - PARTIAL INTERVIEW	1	0.10	349	34.80
O - NO	540	53.84	889	88.63
1 - YES	114	11.37	1003	100.00

Why were you [or your spouse/partner] not able to attend classes, lectures, or seminars on adoption - Program/Service did not have room.

N18DX01	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	888	88.53	888	88.53
P - PARTIAL INTERVIEW	1	0.10	889	88.63
O - NO	113	11.27	1002	99.90
1 - YES	1	0.10	1003	100.00

Why were you [or your spouse/partner] not able to attend classes, lectures or seminars on adoption - Cost.

N18DX02	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	888	88.53	888	88.53
P - PARTIAL INTERVIEW	1	0.10	889	88.63
0 - NO	112	11.17	1001	99.80
1 - YES	2	0.20	1003	100.00

Why were you [or your spouse/partner] not able to attend classes, lectures or seminars on adoption - Didn't know where to find one

	N18DX03R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMA	ATE SKIP	888	88.53	888	88.53
P - PARTIAL	INTERVIEW	1	0.10	889	88.63
0 - NO		51	5.08	940	93.72
1 - YES		63	6.28	1003	100.00

The FREQ Procedure

Why were you [or your spouse/partner] not able to attend classes, lectures, or seminars on adoption - None close to us.

N18DX04	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	888	88.53	888	88.53
P - PARTIAL INTERVIEW	1	0.10	889	88.63
O - NO	91	9.07	980	97.71
1 - YES	23	2.29	1003	100.00

Why were you [or your spouse/partner] not able to attend classes, lectures or seminars on adoption - Other.

N18DX05	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	888	88.53	888	88.53
P - PARTIAL INTERVIEW	1	0.10	889	88.63
O - NO	63	6.28	952	94.92
1 - YES	51	5.08	1003	100.00

Other reason: time/scheduling difficulties

N18DA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	979	97.61	979	97.61
P - PARTIAL INTERVIEW	1	0.10	980	97.71
1 - YES	23	2.29	1003	100.00

Other reason: not needed/a family member refused/did not follow through with it

N18DA_2	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	994	99.10	994	99.10
P - PARTIAL INTERVIEW	1	0.10	995	99.20
1 - YES	8	0.80	1003	100.00

Following the adoption of [S.C.], have you [or your spouse/partner] utilized any web- or internet-based resources like websites, listservs, or chat rooms for information on adoption-related issues?

N20	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
O - NO	619	61.71	620	61.81
1 - YES	382	38.09	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Did you find web or internet-based services to be very helpful, somewhat helpful, or not very helpful?

N20A	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	620	61.81	620	61.81
P - PARTIAL INTERVIEW	1	0.10	621	61.91
1 - VERY HELPFUL	123	12.26	744	74.18
2 - SOMEWHAT HELPFUL	236	23.53	980	97.71
3 - NOT VERY HELPFUL	23	2.29	1003	100.00

Have you [or your spouse/partner] ever been asked by anyone to assist in helping other adoptive families?

N21	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
O - NO	495	49.35	496	49.45
1 - YES	507	50.55	1003	100.00

The FREQ Procedure

Who asked you to assist in helping other adoptive families?

N21AR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	495	49.35	495	49.35
P - PARTIAL INTERVIEW	1	0.10	496	49.45
1 - ADOPTION AGENCY	143	14.26	639	63.71
2 - FRIEND, RELATIVE, OR NEIGHBOR	197	19.64	836	83.35
3 - CHURCH OR COMMUNITY GROUP	31	3.09	867	86.44
4 - OTHER ADOPTIVE PARENTS	100	9.97	967	96.41
5 - OTHER	36	3.59	1003	100.00

Other source: other social services/public agency/NGO

N21AA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	982	97.91	982	97.91
P - PARTIAL INTERVIEW	1	0.10	983	98.01
1 - YES	20	1.99	1003	100.00

Following the request, did you [or your spouse/partner] assist in helping other adoptive families?

N21B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	495	49.35	495	49.35
P - PARTIAL INTERVIEW	1	0.10	496	49.45
O - NO	25	2.49	521	51.94
1 - YES	480	47.86	1001	99.80
6 - DON'T KNOW	2	0.20	1003	100.00

Has anyone ever asked you [or your spouse/partner] to recruit other adoptive families?

N22	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
O - NO	891	88.83	892	88.93
1 - YES	111	11.07	1003	100.00

Who asked you to assist in recruiting other adoptive families?

N22AR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	891	88.83	891	88.83
P - PARTIAL INTERVIEW	1	0.10	892	88.93
1 - ADOPTION AGENCY	78	7.78	970	96.71
2 - FRIEND, RELATIVE, OR NEIGHBOR	8	0.80	978	97.51
3 - CHURCH OR COMMUNITY GROUP	5	0.50	983	98.01
5 - OTHER	20	1.99	1003	100.00

Other source: other social services/public agency/NGO $\,$

N22AA_1	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	987	98.40	987	98.40
P - PARTIAL INTERVIEW	1	0.10	988	98.50
1 - YES	15	1.50	1003	100.00

The FREQ Procedure

Following the request did you [or your spouse/partner] assist in recruiting other adoptive families?

N22B	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	891	88.83	891	88.83
P - PARTIAL INTERVIEW	1	0.10	892	88.93
O - NO	26	2.59	918	91.53
1 - YES	84	8.37	1002	99.90
6 - DON'T KNOW	1	0.10	1003	100.00

Respondent year of birth

N23R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW		0.10		0.10
1 - BEFORE 1950	154	15.35	155	15.45
2 - 1950-1954	194	19.34	349	34.80
3 - 1955-1959	257	25.62	606	60.42
4 - 1960-1964	226	22.53	832	82.95
5 - 1965-1969	110	10.97	942	93.92
6 - 1970 AND LATER	56	5.58	998	99.50
9997 - REFUSED	5	0.50	1003	100.00

Respondent spouse/partner year of birth

N23AAR	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	405	40.38	405	40.38
M - MISSING IN ERROR	1	0.10	406	40.48
P - PARTIAL INTERVIEW	1	0.10	407	40.58
1 - BEFORE 1950	83	8.28	490	48.85
2 - 1950-1954	123	12.26	613	61.12
3 - 1955-1959	133	13.26	746	74.38
4 - 1960-1964	139	13.86	885	88.24
5 - 1965-1969	73	7.28	958	95.51
6 - 1970 AND LATER	41	4.09	999	99.60
9997 - REFUSED	4	0.40	1003	100.00

Last week were you working full time, working part time, temporarily not working, unemployed, retired, going to school, keeping house, or something else?

N26R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
P - PARTIAL INTERVIEW	1	0.10	1	0.10
1 - WORKING FULL TIME	517	51.55	518	51.65
2 - WORKING PART TIME	162	16.15	680	67.80
3 - TEMPORARILY NOT WORKING	18	1.79	698	69.59
4 - UNEMPLOYED	15	1.50	713	71.09
5 - RETIRED	70	6.98	783	78.07
6 - SCH00L	11	1.10	794	79.16
7 - KEEPING HOUSE	171	17.05	965	96.21
8 - OTHER	6	0.60	971	96.81
9 - DISABLED OR ON DISABILITY	31	3.09	1002	99.90
97 - REFUSED	1	0.10	1003	100.00

The FREQ Procedure

Last week was your [spouse/partner] working full time, working part time, temporarily not working, unemployed, retired, going to school, keeping house, or something else?

N27R	Frequency	Percent	Cumulative Frequency	Cumulative Percent
L - LEGITIMATE SKIP	405	40.38	405	40.38
M - MISSING IN ERROR	1	0.10	406	40.48
P - PARTIAL INTERVIEW	1	0.10	407	40.58
1 - WORKING FULL TIME	465	46.36	872	86.94
2 - WORKING PART TIME	37	3.69	909	90.63
3 - TEMPORARILY NOT WORKING	9	0.90	918	91.53
4 - UNEMPLOYED	4	0.40	922	91.92
5 - RETIRED	25	2.49	947	94.42
6 - SCHOOL	3	0.30	950	94.72
7 - KEEPING HOUSE	40	3.99	990	98.70
9 - DISABLED OR ON DISABILITY	12	1.20	1002	99.90
97 - REFUSED	1	0.10	1003	100.00

PSU Identifier

PSUID	Frequency	Percent	Cumulative Frequency	Cumulative Percent
1	109	10.87	109	10.87
2	110	10.97	219	21.83
3	90	8.97	309	30.81
4	92	9.17	401	39.98
5	90	8.97	491	48.95
6	100	9.97	591	58.92
7	82	8.18	673	67.10
8	110	10.97	783	78.07
9	102	10.17	885	88.24
10	118	11.76	1003	100.00

Derived - Year of adoption

YR_ADOPT	Frequency	Percent	Cumulative Frequency	
M - MISSING IN ERROR	7	0.70	7	0.70
1 - 1990-1992	54	5.38	61	6.08
2 - 1993-1995	150	14.96	211	21.04
3 - 1996-1997	136	13.56	347	34.60
4 - 1998-2000	233	23.23	580	57.83
5 - 2001-2002	166	16.55	746	74.38
6 - 2003-2004	125	12.46	871	86.84
7 - 2005-2006	115	11.47	986	98.31
8 - 2007-2008	17	1.69	1003	100.00